








7w

21010) $2 "4 $0$* 14 085
00h 0

) $9% ) 470

"TWT, W20 §) 470

"7 W ™o

noowo; ., 7%

= i

0
o+ %2
i 5
)72 6 0h 00 B $

2 085

)72 6 / %

)72 6, 7 % 0572 5

, 402

+i0§ 5

3§ w7/ 5

)72 6C 0 7 S
B $2 $70

B 9 0

)72 6B 047

)72 6 O

)72 6 25047 , 7 &H + $2 D 00
250470 , b b

)2 6-
)2 6) 7 D
72 5
)72 630 "$§ = O
3§ /%8 % 0
72 0B 78 B W Y7
"00 7H$ 6" S0= b ) 40
"00 7h$ 6)TH 7 = b ) 40
= / 6§ 00 0
052 0 (- "
= $0$5
9 &
B Tt
/8 §5
05 / $27B i
2 75

b §E7B KT
250674 ""00K0$ §
>§ % 5B
0 =07W% O



2)
$
}

WWWwmww
ol ol o o1 o1 ot

OO OO OO OO O
L]

X

2O OO O OO

s\ I 2
NN

2 "4
7 b
h§ 57 7

1O ©

1O ©

(e J{e]

(gp)

Hi{e J{e]

*

© 1=

#

$0$ > ¥4 0150
A 072

$2

§ $2 0 0O

$
40$
00 0

]

0§=15¢ "
05=15¢% = /
& 0"6$

Di$2
00 0

b=

f0s
00 0

8

05 S

i
!

0§=15¢ ™
05=15¢% = /
& 0"6$

Di$2
108
000

b

0

0$=15% "
0= 5%

Dis2
000

&

=/

& 06§

/s $,

108
000

b

6 39

boh

S 8,

000
0$ =
0§ =

Di$2

000

0

59

5§

=/

& 06§

$ 7 01050 6$2 0 00

5 5 408

0<t 6 00 2
"$ %7 5-74
200=9$ - 714 210

/ 06 1!

0<l 6 00 2
"$  $7 5-7W
20=$ - 714 20

0<t 6 00 2
"$ 7 5-714
200=9$ - 71 210

$
$) 470

$) 470
0<t 6§ 00 2

"$ 7 5-714
20=9$ - 71 210

$ 54

D@

07 i/%

0)$

b

$0 4
2 & :



N~N~N~N~NDDDAEAD
>

TSI WOW@=r= >

> &) $2
) 00 i $
B! § , 0
BY 0 08 :
b+ 7 ¥
= b § 8 0$=7<B 5 $ $- 7 0 6617
905=5¢% = / "$ $7 5-7% ?D@
Di$2 & 0$2 2=17 7% D D!
) V0 - 05 % FA 2 0
C t 0 - 08 % F 2 0
) /2 0 - 188 F 2 0
I 02 - 08 % G 2 0
2 0 >T7 &%

b - 40§ % / 06 &< 06 )$ $0
D2 & 0'6F 200=9% -7 210
) 0, 0
7 $ /
208 0> 7 &
D 2§+ 0

&) %0 / D25+
&) %0 - / D25+

00
1 6 00 2 D0)2 & 07 i/
B $ 9$2 H ¢ =5 00< $5) 47 =5
9 0$=5¢ 00
Bt s , 0
A :
908=5$ =/ "$ 7 5-74 DG
) ¢ - W08 $ FA 2 0
C o - W08 % F 2 0
) 72 0 - 5 &% F 2 0
Y b= b6 o/ 747 / 80+  )$ 5
102 - 08 % G 2 0
"D2 & 0% 20=$ - 714 210
)y 0, 0
7% 08 , 0



W) *4,- U=, D T,

) $2 " 4§08 * 4 085 10 7 7 8 i 0SS S 0§ 102 5 §2

)4 82 54 $0§ 2 T2 6 ¢ 0% 10 77 $ 00 74§ 0
5 7 $67$0
) $2 "4 $05 x4 085 0 Poo7 5§ 0 21084 00
7 052 / 0% 68 $2&2 00 % 60 417
)
) $2 "4 S0S*<4 085 0/ 04 $ %0 ¥4 0 7 O THO & / 4 242
8 %5 7% s Pos2 %S % 662 b
7w / 6§ 00 707 2 L0888 & $ 04 8 0
b56%2  hSs 5 78§ W 7 40
)
21087 $ )4 $2 5" 4 $087 /0
"7 W/ 600 707
+0/% 85 0 47
66 7%
7% 085
o +
-5 by 8082 W % ¢ 6 2 8582  TS$ /240 /25
6$2 ) 4 $2 5" 4 $0872 72100 £ 06 &0
$2 $ YO0SE 652 M0 02) 7 6 : &
§ 4828 6 6 82/ /0 67 bo&M2+ 2 5
2 00 200/ § 6+
2 2%G 4 0 §+0) $ 05 $20 § 02/ &$2 0J
/0 $ 02/52% +0 & 7 $ 082 2 §§ 5
D2t $2 7 $ $ 6%2082 47 05 ¢ 78 W04& 0O 00 %
$ 6 /% 05670 4 /2 & /0 2 2
2 b0 4 /8 682 /2507 $ 07418 07 + 0 0
$2 4 7 0 % 8W/ $ 4 & 00§ D&
) $2 "4 S08* M 085 8&
$ 7 /0 b7 0 $2 05 S0&$2% 023
: 7% /00 $78 7/ 0/ 7540 47

$72' 5¢ 4 / $2 27 /v T/ O 6 78 6 hHWS






W) *4,- U=, D T,

1

IOCA 2 TS 408 2% 4 /7 §$ ) $2 "4 $0$* M 0852 90
Py ob 2 00 4 6 504 0 2 072 7 & 0
5040 "7 53 A $2 & 072 $ ) $2 3 08y )72

B4 5 0§ ) 82 V)72

1A 70 6+ 7 4% 6 682 7/ O 6/ $6THH OS2

072 &0 4 § $2 2$72 6§ % + 43 $ 0o 2

? 0&0 W § 82 S 7 5 S0 & 7% $2 072

/ 0) 2 ¢ ¢ 7 8 0072 & A &2 1§ 7244

0% 7 %$0  $2 & 072 $) 2 B0 5 3 A"

$2 & 072 $) 2 6) 4 $2 5" 4 $050

3 AA $ 08 10& $ 2 7 W 52 & 072

hos20% § ) $2 M4 $0$* ¥4 05

) 2 "4 $i0§ * b4 048510 $2 7 7 /0% 08 b
4 5 " HO0 056 2% 2 $ 00 $5 682 0 b0 b
/h 0 &1§282 * ¥4 01510 7% /2% 0 /25

2
) $2 M4 $08 <M 0850 77 % 5 $2 100¢ 0 682
) $2 "0 THS 6 0 D)2 0§ & 5 7 $67$0 007
0 77 $ 0 08 10 0 § 7582 1008
0§ " ) 9 =7% | A T A 6

8 0% 0 $62 77 W& 6) $2 U4 HOS* ¥ 085
% 0 77 W 582 77 W 00 7h 8 6)4 $2 5™ 4 $0$)H72 0

0 * 4080 T K6 & b2 *u o085 5
$ 57 §7% $2 )5 63 / $ 0 * 44 O 0
=/3% $6, 7% 200 19 AA(" Tt A.
)72 0 /8 $0 652 * 44 085 0 77 ¥ 54140 E$ 00
6 &0
) 2 "4 $0sS*HM 08520 74 77 W% 6 10 0 00
0 00 $ / 082 2% 3% & "00 56 i s
oy 00, 78 (" . 2 H 00 2 6 &t / 0
77 % 582
72 6 Oh 00" % 40§ 8t
72 6 )7 7 0¥ 0h 00 ™ %408 S /$
36 % )08 0/ 8 5D 00B $9
i 10s § )/ $0)$ 40
BOS 6 O 00" 108 &
BO0S 614 7% B $
BOS 6)% 74" 4108 &
2 9 bi0s &/ 077 % 58 &
"00 Th$ 6 06, % 069 "H08 § 0



WD) * - ">, D T, A

2 )72 6 /% 10 )b /8 D71/ (7 $2
$2 /8 DN 7 s )50 07 7 $ &% 0.%0 77 ¥ 5
$2 VAR Y 4 A 4004 6", B :§ 7 )
$ B= J§ /2
2 )72 6, 7% 0572 5 ¢ 72 7% 7/ 10
77 % 5§$2 $ 7h6 V778 % b 72 ., 1% 2
* 44 05 0 // 4 5 $2 00 )$$ 6, 7% 6 $2
/ /% 60 7 5 $ 5§ 72 0
2 )72 6B 0f7%0 6 5 77 i 6 $2 B "00 7k S 6
)72 0 6B 07
2 "00 7h$ 6D 7 72 6)7 7 BO0§ 6) 7
/ 0} (0 77 % 5 §2 $h 9 6 O}
"TT S 0ot ( 72% - , )18 "5 0§ "
2 )72 6 ot 10 75 6 $2 7% 6
77 $ + 2 = 0 $2 7h 600 Th§ =
0 6%2 $ 9 6 Ok 2 )72 6 Or W0 // 4
5§$2 00 6 0
2 )M D :/ 0 77 % 5%2 h 6) ™ D oz, 7%
) 2 M4 HOS* w4 054 0 62 00 M H 6" W7 0
2 " W 7 , T &% $2 00 "00 7h % $2 " W7
"00 TH $ 6 06 72 9, 1%
m n +
) $2 "4 $0$*< 44 05 6 0 A 0% 10 / 0 &i$2 /200
77 $ K 0 b0 00 7% $ £ 0 5
7 87 5 " / / 600 $ v 7 W 44 $ 0% $0
0 b 0of  $ / 6 00k 072 0 () = 0 (T4 A.
& 4 / § §0<072 0 66 07 58 724 7 $i6i7 S
0 _
b yo%7 0 $ $ / 0 7% $h
b B )4 $2 5" 4 $0$7 b4 0857 /00 0& 0 4
7 00 0 2 b b / / 4 0% 0 8 15 6
7 8 / % 7 0%2 b7 /0% $20 08 $0&2 7 $ 8 7 000

M5 4/ 7 $ 682 05 S0 6) $2 4 $0S*< 4 0857 6 2 h 28
0$$07 0888 $2 ) $2 *4 6 7 6)4 $2 54 $050 + & 4
0% 6$2 ¥ 0% 0 “f 4 7§40 0 /08 2 & 6
$ & 0 LS L
! ) 2 "4 §0s x4 085 05 $0 &0 & % $2  h108
§ 72 i $2 0 470 682 )4 $2 5" 4 §05 2 72 $2
$2 0 ¥ 4 7 055 O 00/ 00 4 $0 47
0 72 THS O /WS 5 085§ 70 470 $2 8 T2
/ 600 0 40



$2

W) *4,- U=, D T,

6 &b bt 02 0 %2 7 k7 §2  THAISE O 652 * 4 0K$5
7:+ J>0 "§$ = Ok 0% 00 B § , 102 +i0$ 5
C 0 7 ¢ D)B IBA
= 4 0+ JI)7 D : I §5)8 %0
Py o+08 + J 0 0
+ 7: + J- b
+i7: 7 § J 5 2 10$5 /% B $2 $70 250470
+ 05D 00 $ J5 0$t70 $ 25047, 7% o+ $2
D 00
CB D + JB 047
9 6 + J 72 5
9% D + J+ 1 B 0 "4 7 " h=4 / $9 b
) 77 00) 47 0O< 0 085
BE + %+ J O
B7H 9% 5JB | / 09 5
Bi + JB 9 0
) 6 MB §2 * )$ $ $ J /$ $ / 0Bh 1084 0
=h %+ 0% § 7814485 OH-I0 7
+ J, 7% 0572 5 728 BS$ Y $0
08 $ 5 00
Dit 3 0 25087 , 7 8 $ J 5 0% &b
Db 25+ J" & 40$ S
6 744k 7 /0%2% 50 4 0% $ 0

0
/0) 4703) 7 ¥
0

2 ! § EJO2 /7% 7 § &I82 Or 00 00 4t $2 * #4 045
7 %5 3 7 0
"4o808
/ OH§72  J6 0%6
/ 0)2 /J30% $ 0% i6$ 02 /
B> 4
O47: 3§
>4 )$$0 05 667
>} B :$&$%2 75 % -5
"7 5J0 7 5 $ 5072
H 2 72

)4 $2 5" 4 $H0§ 2 72-7 % " J% w7 $0§ 7:
/ 5% 6

)y 2 >h 0 J0os §2 O
"$2 DY t $ 5)72 J $ 5072
)/ 02 7o )4 $2 5" 4 §0s 2 72
)$ $"/ $0
)$ $
+ J o ot 7 2
2 %72 + J& 0 O 7 2
2472 ) $23& 10 O 7 2
* 4 05+ $2 § J2 %20 470



"=BDN )

~ A\

$2 §

7% /
5" 4 $0§ 2 72 2 * 4 05 0 § %07°%

/AT
632 6

4

i

0 78 .
00 $2 , (% =4 / §( ,=. 808 &2 hb 07 b

$2 "4 HosS* W4 O5& 7 O /7% $ 06 0% $0&2 0 : 4 0185

5 00/h4 45 7 748 185 &2 7 $$2 0 408
Ok 77 % 0§ 2%% /%7 0 0§ 2§ 582 )4 §2
h & 0§ % ook 0  §2 0f0 6
7 7 $2 47 $ (W] (R 2 4w/
. 3

400% 06 02 ( 00 §2 7 7 #0. 0$0 $065
& §2 7 i 0 $82 & 6 $

T2 )2 TSSO

720 78 4 b 4 ( $§ 08 07

/1 %0. 24 7 /08 07 6 " 2 " b b 6 "

(7

66474

6647

bo$2 & 078 . $2 ) L, T2 ,= //T S 0824
§ 07W$ 6200 2 0 7 %00 $$ 8 §) 470
6 $2 212072 05 7 $5

N

"4 $0&2 24 7 /8 $24% 242072 78 2 072

0 9%
6"
$2 6

0824 " 4% 7 /08 $0507 6 " Y 07
(7 % 82 &® 07% . 0 % / % &2 0847
& 7 50

% §2 0% $/7 %/ 8 b 7 /% 7 0 605 5%2 2
70/ 7 072 $2 0% $ 050 b f6t7% § 07 W86
$2 § 072 % $2 0% $& 08 287 & 7/ § 5 &2 $2
2 $2 15 &b 700 58 7 $§ § 07W$ 67 00& : 682

$ 24 2072 /%7 37 7 0 07w/% &2 $2 7 0
& 0§ : 0& 0 7284 1 /" 31

Q e 2 2 072 § 07W$ 0802 &$2 $%, $

Oh $ 5 652 / %0
"&HS 08§ $ 6 7% $2 4 $2 08 § 71 6 240
2 2 072 /b7



"=BDN )

% 82 $2 242072 m_M QU7 /0807 0 &2 b
8 $0 0 08$ 4 205 $ 08 // 0§ $2 " W00 0
15
W 5 77/5 05 SO 05 % C /) S 64 & :0
0006 $2$ 410C5 A 2100 00 & 47 6 2 2
7 00 §5S 0& 0 O T W & 0" .7 00 2
b & T 4 & 0 %/ 7 7 % 08 % 05 $06 $2 6
0 08
2028 74 6S 05 20% $2%2 82 2
) S $7 00 $2 " 7 00& & i $2 6
0 05 0 05 8¢ 7 W08 b
20§28 74 & 2 20% W2 2 82
2 ) S S700 2 " 7008 24 $2% $0$$ 06
$2 6 0 05 4& 58 "7  W-MH& 6
B 008 0 7i0%
20 $2% 7Mo% 2 82 2 ) $)S $7 00 §2
7 008& 7 W 5140 3500 /% $§2 6 0 08
25" 46

"% 08 6 02 05 b 0824 §$2 2 6 & 0 k7804
2407 5/

2 10 6, 02 7 % 0 7 7 8
& 0 6 $2 $70 6 &2472 0% ¥ 20 §
$: B"+ ° 05 $: § /6 §$290 67 75
& go 607y 7 "7 7 0% % 572 14085 /250670 0%
$ - b g8 7% oM 7 84 $0 16 $250 7 % %0

§ $

& 0 60 7% 08 %0 3% 682 0 $& gow $D +i0§ 5 +3)

08§ 0/ § 6%2
, 1% 84 $0

5 6 6 % $82 7 4 &b 8 4
/8§ 7 /% 751008 5 7

a e "
06 0% $0 0§ 0 $ 0§ 07486 657y 5 77 W7
t4 05 &i$2 4% 7 6 "6 b kK 0 K70 0& 0 hb
7708 " (W7 05. 6 * )" Q72 087 /% 0. 6"
VAR 0§ & ) $0&2 24 § 06 "B 4 4 2 06
£ 0 K70 072 0 7% 7 00 66 $) $2 b
7% o =, "7 b7 W7h 0 , 1% 5



"=BDN )

/56 $2 " Q" 814 $ 00 8% S5ho b /7§ §
072

¥ %2 $2 7 " Q" 7T /08 07 M0 & $2 b
8 4 0 0 0§ $ 4 §2 0% $ 06 /7 § 82 ™ 4008 O
188
6 5 77 /8 0§ 0 59§ : $2 0 0 2 0
b $2 610S0 0%
i 5 77 /5 0§ $0 84 $ §: "7 7 & 0J
7 00 Ok 6 08 $0&2 & §§ $ 077 006 & 7 "
i 6 6 $207 00%0 8% $2 $4%0 §t 7 b 72 0

06 7 10 5 /74§ & $2 8 i $0 6 &2 $2 0% $
200 %06 75 ¥57 [/ § boh 6 0 05 2 O0f% o 7 i 5
B 0§ $ 2 7 0 & 77 /5% 7 %t 5 ) §$2 "4 $i0$
* ¥4 05 0% 00O 24 085 i 5, bo%oey $2 7 W7 §7% 0
0 7% 6 $2 / A" % 6 0 05 2 0 5 77 /3%
6 7 &2 $2 242 0% 66 0 $2 00 7% § 7
67 THO0 4 5% 074/%0 $ 7 bSO &b WMoooh
% %
2 7% % 6 4 % $§ 06 & :6 77 % 072 0 O Y% 0
Moo o b 2", 7 $ b 40
0 6 4 % $ 07WS06 $2 48 0 682 6 70 18 5
7 Ok 6 7 009§ : $4 O%is $h 0 &2472 $ § 5 77 5 6%
$2 0% $207 [/ § $ 08 0 05 2 0§ $2 " 4§05 *< 4 085
&i52 $ 4 06 7 00828$ 7 $) $2 "4 $08
* 4 0857 00 5 7 &2 6?2 2 " 7 $ 06 & :
6 00 &t 7 $ $ $2 8 4 0 6%2 + , 072 02v/
0 7 6 h$ $ 6 % 072 0 08 4 $ 5 7 S
6 % 4 $ "0 77 % L 086 & 7 40400 &2 / 00<6 %

)
/
2

" 0% $&2 20 0 %00 6 $2 & O S 7.0 6/ 072 02/
Ti$E 021/ &2 40 / $ 6 $2 5h 086 & 0§ 5 bk 6
H00% $0<2 7 8 56 00k § $2 h O%i$ & 6 &24172 0<2 2 0
50 %00

I My 0&2 $ $82 4 * 14 OK5 1004 8 b $0 &2 $
&102 $ 7 7 % $0 §&2 5 0 b 7 6 § 06 8
$2 hHO%$ & 62b 2 b 5 & § 0§ 0 0% $0

0$ $ 5 b b 664 O 08 2 0/ §



"=BDN )

3 i$ ¢ $ 2 6 02 $ 06 T7T/S T TH 4 Bs %
0 § 0%0 667y 7 /40 6 7 40 0w 0 $2 7 $ 0
&2 4 % & 5072 $ 667 0 20 02 bo$2 W
77/ % 5 % 0% (S v$ / $% ., W02 7 86t 5
%7, 005 6674 1/ OO
2 U T I T 08 $ //W7 % 03 7¥ 58 , $
) 470 667 40 C 6 $2 6 §0$ St 78 6 52 &S
10s 8
) 06 7 $%0 &2A72 b w0$  $2 . ( $67 8 6, 78
% 0 0524 B4 (. 20 4 7 70 K78/ 000
( 5§ Ol &$2 0 $2 2 "2 2=.) (70 0§k 7
17 $ o7 7 $2 $2 00 75 6 07
$2  §70 o7 7 07 05 Y0 67 75% , 102 $2 &%
0 / 4 6 005 200 5 5k $2 05 6, 02 0
' b9 ( ,19.38 $ 0 0@ . $2 19 / 0 08 (
) $0&2 0  ,19(3 .07 W0 A( .2 $$2 66Tk 4004
4
" 0§ 0 O 3 08 $$2 6 & T ¥

7 W7 5 77 /%

Yy 8 & 7/5 6700/ $
) ¥=7 & 61 706 § 7 S 4% 6§ 4 06K $$
/75 7/ 00%§)
Y 8§ 08§ 082840 4 7 60// $5 %2 6 T 740
2 =7 &% 61 70
5$2 R 3§ & ) $=/08 8% 6 *) THE 0
7 /86 TSE O 6 2 2 0
1 40 058005  $0 8¢ 57 §y & &  &0$ b6
7 008 5( 4% 6 2 0.6 720 08 % $ 7 = -
"7 W& 0 57 $0/ $6%2%4$ & 05 90
"7T7TO% $ 7 s b & &0ES S 08 S0&M208  $400 5& :
7 /07 % 2% /5 §$10 4% /& 82882 05§10
5 6 7 0 605 5( 44 6 2 0.6 720 05 4 % 7
0 %/ 00$ 827 /&% 6 7 /0 /5 $0% %
/$ 2 0/ & :18&2 %2 7002 )72 /5 § 5
6 & (/5 2 0/ & . % 072 47T$% /4 0/ & 2§82
05 $%$ 0$ 108 6 $20 08 $7 WO 05 2 + -0 70
66:7 $ 02 0& - $6 082 05 § $27 /0 /5 &2
0 $& 04 7006 2 0/ & :% 05 $0& : 7 0O 2 0/
& : 82 05 $& 7 $ 60580 &S2 > )0 WE 02

3% % ) M470(*)3).) 00 5& : 582524 05 $40 ( 2
Bho40 . 682 &

3¢ & 08 %0 iooh oS40 0 8% 5 &$ 07 / 400
6 77/% 567 /0 /5 $



"=BDN )

38 $ 0% $0 02 $ 4 2% 2 $ $25 24 4 $2%
/ 00 003

00y 0 $§ 6 77 /% 7 6 ) 2 "4 $H0$* W4 0I5
o3 (6 ) $2 "4 $08* M 085
"4 % 700/
4L 40 S S 4 S 82 %W DS 0

3 g8 * 44 085 / 00 $2 $2 / 006 Bs %
0 $( 0 6 $S2 MW T o; , TH 07%H 6§
* 1] _ &** _t
DS %0828 $%2 lor 7 G 6 %¥$ &% 05 § 7 /86 $2 19
84 $07 77/ 0 , 020 )7 9 (,,)9.08  $1$2 5
24 ,193 07 $& - A ,,)908 S0 03 0
0/ T 40 0 6$2 , W2=/8$ §&A72 b 10$ 0 $2 7 000
)8 $0&2 0 L1907 0 & . $ %6 4004
$ %2 *u 085 ) / b2 , 02=7/78% $07% 682 6
9 ,5)9% 6 %
) 0 k& % 0/ g7 )72 02 6 $ 28078 682 6
84 0/ $hh 0§ 82 f0r 4§ §2 $)72 26 & )72 0
0 00 B $
/S
, 74 0572 5
C i0 §7 %
B 07
O
25007, 7% o+ $2 D 00
)7 D
>0 "$ = 0
*:
,$ 0F 7 000 4 0857 00 0 66 $2 7 /00 6) $2 *i
7 50 0 // % 56 0 4% 08 MoO857 %% 0:%0 0$2 § &
66 / $ 682 , 79 84 0 $) $2 M4 HO$ * 4 05
308 78 0 7 5$ 72 0 &2 8 Wt &2 // /%S T $ 0
/47
§ $ O 70008 $O 08 0 682 0 4 7 00 &92
any § 4 % $25 0682407 5 78
2 $ 00 7000 05 /47§ 2% W 0857 $ / 0% 7 $ $ 6
10617 85 § OSi b2 0 66 "4 7 7 $C*.7 00 5

0 &2 072 44



"=BDN )

"7 h0$2 §& h: § /7 §7/ 0§ % S210 /7 087 § 7582 >i7 0§
67 i7" % H0s & 0§ VAT
L] + mn
0/ 754 08 $0 02 8 0§ /747 % 6 06 2 , $
) 47 0 667 7 //5 82 1% $ $&&&0 $2 < //5
/5§ /77§ 002 $ $ 2, $) 47 0 667
&i52 //%7T % 6 6R
%40 $2 08 §0 0/ Ofk¥5$ 8 08 56 072 0 (2h 2072
7 .$6 & § 074/%08% $2 , $) 47 0 6667 4 0 //7 § 682

VAT 20 & 7 $2 / / % 682 * 14 05
$ 40 §2 08 0 0/ OhHi¥5$ 6 & §2 ¢ )" $§0507 0§ $2

\ §) 47 0 67
*/ 7 48 4 b 682 //%7 % § 07W%0 67 0 $ 08
07 0 %2 , $§) 470 667 &b 65 $2  //%7 5 682 TS
$:
" ,*9 " " / 2 / 2 /
" 1
9
& $ 06 O0$ 0&2 2 4 7 ¥4 7 K7 77 /8 7 & %
i $=17/ 0 210 7 s 7 [/ § $ § 82 , $
) M7 0 667 &I$2 R 1 §=/08 = 0 C 6 $2 6
0 0% 4 6 $2 & '$ 0 0$ 2 R 0 S % 6 1
&4 0 0$2 2 0% / 0i$ 00 $2 0% $ &Y $ 4 4 015 2 Of
1§20 §h 4 052 0OF $2 R &4 /7% § $2 08 $I0 77 $ 2
i $=/ 0840 6 $ $2 b0 "% $2% $ $2 08 $ &t
6 6192 / 08 2 i $§=7/ 0810 8% 6 5 & § 06 0% $
0 :h $ 00 62 0f 0% $O0( O 7 2 7 §$5.
” +
[ $ $ / 0 7/5 632 1 / 07 §$78
$2 =% 78 6 $ B @ % , $) 470 $ "
2 0 66
" #
77 %
2 72 / 689 024/
05 i
+ $27 " hws % O $2 7 /0 %
B $O $2 7 /0 % .
B P B $
$ S % & H( )



"=BDN )

b7 B § +
)72 04

$2

&
37 0¥ ,
308 78
9 75,

25 4.
024/

©

781%h

7818
755

788
756

&
" (
0

7918
798t

7981

2
- %% 0)$ 4O
2 729  02v
2 72B} 1085

4 10

+
D



<

i5" 4775
)74 D

2 /5 )8 s

$,

W72 $

, 7%-0/ 0

&# &

*

"'=B3))3

/010

)



) *=, Q1," =),-51,) A

i 0540 § 57 00 i 08 78 $ 0 6 00 74 8 2
86 784 00 6%2 * 4 05 / 0 2 7 %0$ 0 4 /$82%%$ 080
$ 824 0 §2 2/ &/ % % 82 7 7 T84 0 / 4
)8 $0 7 $ 8 : 4 3 682 6 748K O /7§ o/ b
247% 07 074 4 &$2

2 /70)6% /7§ $06 07 /0 0 SO/ /7 % 6 744 O 30
high O % 7 B / 4 & $ 7% 0§ 667 7 $ 7 /0 07§
0 447 00i08 7 &i24 247 (K /08 $0 71 %0 4 247 s & 7 $5
%0 6 7% 66 2 0% 0o/ $& 2 h$ 7 67 /0
6 $5 /70)6%4% 0 0o O 6 82 / W 00 050$
700 6/ 0 7 00 / 0 $% 0 0/ 8 0§ /0) 69810
78 0§ I 0% =%

4 / $W0 v$  / $6 05 $022 76 0 470
6 7HS S % 7 4 / $82 206 & 007 /8% 7
7404 g 24/ S8 67 7270 600 7 0 0
4%  $ 2 /705 $07 W54$ 004 0 003572 0 70 K
700 0 / /S § 7 08 4 70308k 0 b
-7 %06 /600 072 0 E$ 0 54108 $2 % W4 0i5 $
P 4 &0 H 0B $82 M 052 + §2 1y 2 B <Bi 1%
/& 05 0882 // § W O0S & :&S2 /50 h40% $ 7 W
7 /7% W0 ) 47010 7/ § 652 0t 0% ) 470
67 78 182 )8 $) 7700 $  $2 82 6 695 D+

O mn
"5 08 $ 6) $2 "4 $0$ < 085 2082 /7 5 KB5S 472 210<2
/ 0 $ 021/ &2 C 0 0 $2 2 /0 BYi0§h O 7o 0 2 2 $2
/ 07 b 6 $2 2/ %10 6657 0% $07 b & 4 %% 6
67 / 00/414 7848 0 )$ $ 0& 4 &¥2%2 7 7072/ %
ho7$ TH4AISE 00 72 0)$ $Bi00 0 D 0(0 /0. 9*) 7 ( %
94 *15J3) $2 5, /7 % 7. Q 2% $ 72 Bhi0sh 0
D 00 = 0% 5 = / 5 66 0 %% 07/ 0@4o0/ 0
& 06/ 5 %$ %O 7 $0& : O
) $2 "4 H0$ * ¥4 05 (50 / $ % 6 2 4% 0% 7 i$ $3
400k 0 447 2 // $ o6 02 $$ 4004 / £70 0 & 0
$ W )  $BOOt 5/08 0 4 $ 0:1 7 /708 0 2 )8 8
B00% 5 00% $0 6 2 & w4508 0 / 402 5$2 6 7
"4 $0$ > $ $ 24 & 08 ) 08§ 05 b 5 100k 0:
1.7 / 08 5& :9§2 2% 2/ 410 667 6 %6 S /7 $ %
foor  / Ok O
27 /0727 % 040 0 /05 6 $2 *4¥ 087 /0 2 72/ 4% 10
4% 6 0/%4$ 7 (U / 0 % 020/7 7 O 508 & &



) *=, %1, =),-51,)

&2472 0§ 0 o /0 / 6 00 7 0% 3082 O 6 $2
27 %10 6667 § / & 06 7 6 & 0% 6 08 0§ 07007 0
00 0

N 5 1 08505 072 0 % / § &% 2 $$2 *u 085 $2
274010 67 / 4 04 % 0/ % +4 $%50 7 0% / 0§ ¢

P $2 08 102 0§62 $25 2108 $ 02i/0

,725 7 7§ 75 0 K06 $ 4 O W67 $ 8080 7% 010/ 4 6

05 %0 5% 7 T8 &$2$2 & 57 478 7 2 708 6
008 6 08 $0%0% 7 Bo§2 § i
47 % 700 2 o 7 2 6 $2 % 05 $ 50 4
78 o/ / /00 25 0 / 4 § 6 158217210 6

$2 08 O 6% 06/¥$ 7% 072 0106 $) $2 "4 s08

* 44 085 2 0/%1 /2008& 0 $2 & : 72 720 470 0008} $2

S &2 §$2 08 S0 )5 %0 84 § % $20 0 470 5

1§ 0§ 0 & K / E $208 $07  $0$$0 008 /W0

, 7208 §10 00 7 W 40 &2 & 00108t / /

M4 b7 7 w8 0% 02 2 $$2 072 5 )5 %0
500 :7 0% Vo7 w7 7T 06 5 6$2 67 $5

) S0 &2 &02$ 0 : 0008 7 6 /6006 7 0 02 7 $78
0% ) 4704 $2 ) $)770 $§ 78 $2 824 6 6 95

D+ " U"& 4 %% 6 0 70$ 000505 S0 KOS
4085 16 44 0 7 7 0% 7 088 §O8
4 86 4S & 05 %0 6 0470 /& % T & &

7% & $

) $2 "4 $0S* 4 0850 05 102 Y$ 5 & % $ 6 $2
hi0s $% 6§ 7 % 06 08 S0 //5% 0§ $

/ 6006 072 0O $75 0% ) A470% $2 ) $) 7700 $ 6 $08

/7% 0§05 $h6 &

9

12 /% 60 $2 $2 (5 $ ) $2 "4 $05 * 4 085

/&0 7 /S84 S 768 %0 47 E $ 040 § 0 2

O/ 7 0 %% 2 40 4% 7§ 60T 78 % $%2 * W 085

0 47 5$2 768 4 0564 4% 6 §2 506 0§ 67 $507 6 7% 0
b5 b 0 44 6 $ 0 644 005 § 67 %

E®H 0 2 1 ) 47 =/% $ 0 / $0%2 4 $ %4 60%6

02/0 $2 7 /OH-10 7307 4 % $5 7§ % 8§ ) § §
/ OH$72 10 $82 51 % E $2 H5:10% 82 + 05D 00
§ 2 H5:6 0 680 $20 2 $2572470 60 &72 0

0 7:0



) *=, Q1," =),-51,)

9 2 4 2 NN E
" ? @ " / " 8
Y S0&S$2 10 KIS 0S287 b /7582 ¢ by /8 70 8) 82 0%
7 $78=10 Y85) // $) 470(=)). 5/2 8 i /0 8
072 //VS  $&2$2 =0 4$5) 47 0 b $ %$25& $§ 8 08
77 $ 0 =)0 73 $2 20 6 695 D+ + $2 ) $
) 7700 $ B0 /75 $2805 S0&S2 10 Y 0&  : $207 $ 78
$2 6108$2 & 0 652 0O 08 $2 &0 $2 / 700 67 $5t 44 Hig5
o6 0 77 $ o0& / 5 8 7 /8§ &% $ $
2 0 6 s ) S0& 7 $78=)) 65 $2 605  $2 682
0 05 02 $ /788 T T $ 06 $280 05
Y 2 0 7 /% T &R2) TH 682 -2 K% "TS(A .
750§ 82 Wb S 6 T2 TS /T b 0&272/7 4§ 5
8 % / 0 6 $ 4 ) $2 20 0 02 =)D /4T W7
0 450 470 77 4 $ $2 / 40 0 6 //W7 0 185 &
2 *W 0% 0 $ 00 0/ 0i4§5 6% S5 0§ S0 & 8 465 6
77 $ 0 O/7¢ 0 470 2 08 $ 05 .4 $45( 7 6 § B
bO$65% $2 =0 485 ) 47 0 024 8 W5 0 45
/& /WS T $S% 8 T se s 7w 77 $ 0
=§40 $0 470 0& 0§ 8¢ O /700044 4 & 8 5
6 77 $ 08) 2 7 6 §288/ << 000 §2

£

9 mn

=07/ 6 0% 5 TH $:  5) $2 "4 $0$ <M 085 4 $

05 SI0074 05 % " 08 § WMWY 5/ 7 0 2 4T 6

$2 7 O $6 )8 $) 470 & & :0&¥282 O 7 2 0

2 L 05 S WOW/t 5700 2 47 / 0 $6 ) $) 470 50/ §
08 $6 $2 072 00/ % $§ 5 4004 /7 08 $

THE 02// % 1 6 $2  $407 0 $%2 & 2 i

0 +

) $2 "4 §0S*M 08520 /0 kS 084 $2 07700 6%2 05
0i Mo085 78 2 0 72$2$82 05 0§ 08 0§ § 78 4§

&8282 7 WO By 0 6S2 * M 085 5/ OF $20

$2 ) 2 "4 $0s* M 085 & 2 . 308 T8 7 0 n

&A72 & 2 /82 05 0§ % 08 $2 * 085 / &2 $ 10
/75 620 <2 0 TIE 682 * 4 0857 5

o $&% 6 & 08 002 /% § $2 6

$ ¥yv7 0 % 0
ho$ TH 2 /6 7 0/ b 2 08 $10% § $

2 670/ /00

7
6 78 O 6%2 * 44 05 ) W 77 0f O 0 /7 & &2 0% 0 5
$67 % 0 6 & 0% 0 &6 02 $ 06 % 08 $0

8% $§ & 2 & s 7/



) *=, %1, =),-51,)

+ 4

5 B§) $2 "4 $0S* M 08508 S0 $2 E $2 0 /T8

582 * 4 085 5 2 5% *W 08 6 5% 08$: &
$82 * 14 085 &2 §2 4 /2% 6 hiS &2 $2  H0sE $ 5

§ 4 4 TO00$ ==>=5§ §$ 40 5 §2 b

$2 & 0% 0 08 $5 4 / " 072y 02&4 05 02

0968 ) $2 "4 $0S*4 085/ / $50 5 7 / $5) S0& §

% $7 / 08 6 $2 0 6824 0

4 "1 -

[SlZU MoO0%5 0F 7 2 &$210 H5?7 H4 $:0/ /7 08$2 0% $$
$ &2 8 4 58 720 0/ 786 $2 1§ 280 /iy 06 %2 0 6 0

/'
&2
7

6t 08 2 /b Tk KOo$h § 07 /! Oh 7 2 08280 4 $2
0 6 08 $0 + 2§72 + 282 ) §$2 ) $2
>h
00 0% $0 $240 6474 /%7 $2 < 05 8% 0820 08 $0 &2
$ $2 2 0 0$ 2 067 00& : &2 ¥
5 0 6 $ Wy &w282 4 / $0 2 // 4 $4 0% $2 4K7h 185 $
0 % 62 O 7 2 0 20 4 $2 5 0: § 6 $ $
2 00 12 %) $1  k5+ 04 67 /0
n " O A
2 =% 78 6)$ $ 9l TSN 0O/ 00 7H  THASE 0% 7 O §H &2 82
)$ $ T84 0 s g on 7/ 0 0o/ 0 h $2 5 5
7 0 E SO0
3 5 82 ) $ 00 Th S $2 7 /0 IEE S 0/ 4
// 5 106 72 $ 021/ $ 44 £5 $§ 2547 72 72
$ E$ 0J / 0BY 10$4% 05)$ $BhHS b 00 Tk % S7 O $ $
7 7 %$ 0% 0/ O 5 $2 / 3 $0S 07 7 0J)Y 2 24
(& /0 =8 2K . 7: 208  * b 2408% > 0 "'00 74 $k
2 9% " W o/ 7 %% 08 2 57 0
3 2 5 &i$2 $2 K784 0 6 %2 * 14 085 24 2 0% 0 6 24
R $ 7 $2 4 / $ 6 b 2% 72 7% B$
2408 08 $0 60 0/4 18 07 %% 5 // TH§ 0% 0%2§ 4

$
foof $ ) $2 "4 HOS* w4 OM5 N0 /%4 2§ 814 092

75T 6 7T/ 7 &§2 /7 102 7 % 0 5$2 0
&2 0 /4 T/ 0 §§ 030 b2 5&I8282 & 0 682 * 14 05 &2
7

&h 50 07% §$ 82 07 / 0 & 82 6 6 &0
$2 $08 7 0% 0 §) $2 "4 HOS* 4 05 7 7% 0 O 5
$2 )4 82 5" 4 S 2 72 20 &2 b TR 0O 5 $
$6 § $82 72 72 67 /0& § : & 5 77 /8 $ 4
" 0% $& 10 § 62 5 &2 82 07 / W0 682 * 4 05 &2 10
7T/ 4 &2 0 9§ 0 4 7 6 0/ O $ 5

40 § &K2 & &2 $0/ 7T 72



) *=, Q1," =),-51,)

, 7208 $0 /780§ 7 78 1§ &2$2 08 067 78/ 102
F$2 ) $2 "4 $0S* M O85)S  $+ T2 2 47 0 406
07 HO7/Y $2 1/ §$ "7/ 5 $h 6 $2 67 682 W7
0 $6 )5 §) 470 38 ¢ 780 6/ 0 /5 582
§ 108 8 68 6 7 &$2$20 408 t 67 / 7 & O
45 $ 05 $8) $2 "4 S0S* 4 085&2 10§ b § 28
0 05 2 0 67 00& :10 62 )8  $ 00 THS &2 4§
/Wi 0% 2 T8 6 667 0 2 007T4S 6 O // $ i 06 024/
4 /8 6 7 / $% v T4 $2 (7840 6) $2 "4 $0$
* 44 085 2 00 76§ 00I0SO $2 < M4 05 % 10§ & 67 54 $2
Vo7 $$% 6/ O 00 0 0/ 04854 W 4 7% $ 7 /0
THA$ 0 $ 05 $ ¥ 2 00 TH$ 10 TSSO 7 7 W78
2 282 ) ) § 7 8% 2104 7 K 0 2 79O
0/ 0\ 0 652 667 0  §2  $¢ S 682 )5 $U00 T4 §
$§ % $2 )8 $700 74 0818 § 5 &0
*
) 2 4 S0 085 7 0450 §3 7 & 1 05 5%
05 $& $08 & : 10 /25087 5 $§ 5 § & - 20
210<2 7 00072 s 77 $ 0 & 072 22 5
$ $Y /5 §$ 7 /0) 00 /5 $02 7 $T78¢%2
+ -0 70 647 6 46 $ $2&4 05 90 0o/ 0 6 07 %

241 & /5 ¢

3K 530 7 3L 540 7 1047 b 5 072 6 0 0§ §7 5

M § 08 $0$:h 002 0 2500 7 4 06 0% $0 &2
8 5K 7 /70 072 0/ 0 $% ; & TH# 5

h 0 77 § %2 h B &7 6 7hik 0 02 b §210 4 0 7 05 /% 5
h 0 7 ¥& /5" L /$R 682 7 050% 4 4 % 72 /6 &

bk 5

+ $230 7 2 *W 0% 8% 0 08 08 24 8 § T §

2 $82%0 7 744 2% /7 &% $/ % $0 470 2 0 74 i0
7 6§ 0/ 00 / $0 " 0% 0 080 152 )$ $30 7
36 $ 6 $$2 ho% 6 72072 5 )$ $08 =% O 2 0

($2 2 0 b 50 0 00% . LU 14 015 2 O
$ &7 5 b $2 4 015 2 $2 w8/ $ 82 & 6
s & DS & 7 % $ 720 77 0044 6 O 0% 00
&4 W07 /8§ &$2 /7 6 6 $2 40 7 )8 $0 &2 2 4 0
& 6 5§ 8 0§ $§ 5% "oh 62 / 4% 0 &
5/ $54% $2 H 50 47 0 5/ &% 4 7 69%2 40 7 /%
§ "/ W5 72 074 % 60 § 0 b 050 4% $2

-i0: B $& 0 &&& 0 $2 < i0:




) *=, %1, =),-51,)

+ 2 n + LA
"0 4% /5 607 856 b ) S22 "4 H0S* 4 0850/ 0 082
/ 7% 6 445% 6 % 58008 %0 D2 704 52 0/ 6 208
6 &2/ 0/ O 6 6/ 00 § 6100 0 2 7082
W o085 7 5,80 / 70 7 $ /0082 0406 5
&S24 82/ $ 0 682 /2t 0/25 05 0 000 05§ § 682
* 4 085
) 0§ f 2 4706 $208 S0 678 /0 8% $2 40
7 %4 S0 2% /% /886 %0 2 0 0§ % / 4 0
D8/ 7 6% 0% U085 4 §) 0§ 504 0§ 58
708 0 S0 6% 7 /0 $ 0 7 $82 7% 208 5 682
4 056 8
"4 0§/ T V7 /0 2% & (% t5
B & 3. (S H 4T85 T 0 $/2 4785 & #
©° s &7/ . & 6 . & :5
700080.) 2 "4 $05 >4 08510 2 / 02 6 682
/74 08 8/ 1 b
1
2 %4 085+ $2 5 051408 / 4 2528 ®52 $27 6§ $2 05 %0 6
) 2 M4 S0SFM OS5 ) 470 /4 5 % 4 / 188 52
0/ 40 6 /250 2 + 2§ 0/ W08 & b
2 0 VIE 2 27 6 08 $0%$1082 /7 6 05 $0$
0§82 + 2§ - 0 00 7 6 $ 082 82
+ 2 s 0 8/
2+ 2 $ 0 4% 5 08 0 05§ / 50828 072
vo o 7
0606 + b 000 K t0& 7 / 00 72 7:0 8y §
0 6 >l0S0 8%y / 07TWS O / w7 /2507 0
§004  ES 0 7% 0 0//108& 24 72 + 2 8

2
& b $2 072 40 7 $$62 0% $0 02 /s 6 24 & /WS
b0 7 2 06 2 + $2 $ 5 /1 $2 0% jlo 77§ 1
6 $2 $407 0 $82 & 2 .



=B}, 3+B, ),->,)

n " e n n
*7 7 - "

2, 0 97 ) to0ti0 6 $ 6 $2 Of 007 7 2
0 h0t%0 / 003 5 §2 o5 6, " " 0 6" $ b6 §2
/ /0 6 W% $2 08 $ 0§ & 682 0f 00& 2/ 7%
hag § % $2 78 06 672 §2&4 6 6 7 S§ b 78
7 10 4% 97 0 / 0§ $ 7 B 5 4 % 0 b2
07 0 05 %8¢ ,m" 0 o 00) 4% - T+ -

* 7 0 L]

2, " 0 79%) \‘O&O s b A

/4 & 7 00
6

"3
7 7% $2 7 /0¢6) §2 4§08 * w4 085 2 0% 1080
b

6 2 2 $82 & /0 §820 7 780) 75/ 70 7 05
b $ ] 5 2 " Y7 7 - % 24 = 00 2 0 %040
/ 00% $2 2 $2 05 6 , e 0 6" $ b6 $2
78 (5§ 652 05 0 82 /W
2 "§ +} B § 0$ / - o § 7: &0 K78 b
) Y4 $2 574 §05 2 724 /% A 0 $2 08 60 )
§ 2 " 7 "07 b 0% $ - 00 7 $ &i$2 $&
0 0f /0502 0 % $2 Of7 % % 10"7: "o $2 &
4§ 5C 2 2 0750 6,
2 n
"7 "4 tCB D + 082 0% 6 2 2 B 07) 40
, 120 0§ $& $2 $40%0 < 0 0/ & 4 %¥9%5 6 40§ ¥
/4 706 08 0678 27 95 "S00 720 4 072 602
$2$4 6 5 /4% 0 $7 7 78 4§ &820 0
0%7 6 5065 /% 0BOS 7 000 6§ 072 b7 Kk 7% &is2
7 7%
*107 , - "
2, 0$9 7$ ) t0%0K4$50/ 0 582 ) $2 "4 $0$* 4 0i%5
2 $ H 20682 0§ 0§ 0§ & T A (R
) :/ $ § 14 % 0 /0 $ 720 05 5 05
o/ : 0 2 /N7 4%
2 70 i 4% 8& 7S 40 2 728 -0 72) ¢ 0
(0]} $ / $ 0% $0 67 %5 $2 7 185 7 $ Y7 0 72
0& 0$ % 0% § % 0% 02 & oo & 0 78 % $2 2 0 72
2 $ +i0$ 597 0 00§ 72 ¥7 / 4 05 4 6
Y0 47 7 Y7 § 5 1§52 5 07 4W/% 632 / %0 b 0%

784 b 7 % 682 2.4 2 %0 7 567 $% 0/ 7O



"=,B} , -3 +B, ),->,)

, 11 - " ;2" "

2 2 ' +0 978 02/ h§7 )72 02/ 0 40% / § %W
072 02/ / %7 5 51 418 7 I )4 $2 5" 4 H0$072 0
7% $2 7 /70 6) $2 "4 H0§ * M4 05 T2 &S O 0% 2
7% 021/ 0 0 408 LR $ 52 /6 v$ 72 $& "4 08
"4 %0$ v o7 072 0 $ /0 0§ $0 67 $58 4 4 0 72
4% &0 % $§ 72 6 965 0 06 hk7 612 2 78 021/ %0
0/ 0 582 , D2 B hoo208h - %

2 308 6"72 5 $2 0/47 0 682 )72 6- %% 7 % $0

72 o/ 0% 2 27 0 6% 0% 9% + D "72 7
B0 $ 40 $2 Dk =4 -0 72 % 5 74% 0
/ %0

* <

2 - $+ 0 30888 6,4 0 D Bi00% 0 $2 0/%7 0 6

$2 )72 6- %% / &4 07 % & 6 4 6 0% $0 67 $$
hooh 78 4 40%H7 ook 5 // % B0 0& 0 0 72
0 7082 2% .4 W07 - 0 7 $

9 4 )T700) 470(9)). 7§ $2 $24 6 695 D + / 4 0
08 66 8W $% 07/ $4 2108 4 $$ 00408 7
05 S04 $2%/ 0 6 ] $$ % 5 //%S 810 4% 4
087 %7 0) S0&$2 / $0O 4 7 7 0 7 $0 :
/5 $0$$09) 6 00 % 07000 $$ 4 L 05 50140
$ iE $ B2 =0 i85) M7 0 67 0 0 $9))
) S0&S$2 7§ 10 4002 $2 0 7 $=H10 48 0%
/

-2
/4 $0$ b 00i08 7 6 $2 0 % fos 7 7 8% 0% $0
B7TH 9% 5/ 4 0 &b 6 0 70 0 47 0%2 210& /
01$
2 288/<<i 50 §2 / /
b 0 0/ 4 &
2 4 5& 0% § 6 00 i$

4 0 77 00§ 566 §3$ § 00
h 0 b HHHE $ 40 § 0 $iE
b5 8 0%0 072 708% 0
&i$2h F 0 0 4 08 5 0 04 &$$ %0 6 / 0 7700
0 4% 0 : 0 682 "0x 9% % 6§ § $§ 0 T2 47

D2 40t $2 7 $5 h 56 7H5 08 $07 61 6 6 6685
7T /8% & 088 O & 68& $5 & 00 /5 /0 2 4 /
0§ 50 008 % 6$2 05 5 0 % h 6 $ % 750 004 $2 /
$82 D $ 2 & 4 b 2 WD 7 7% 2 0 $2

$2t 6 b2 2 0B b % 0§ 5 &0/ / 0 k5 $
10/ 5



D2} 7 /0 007 0 44015 $2 728 B$§ b0 $ J 7 $
7 W 7 O7% %) + J¢ / $§ 5 07 57 W7
$ %0 § 724 0 : 0 6,10 50 b $ 0 $2
0 703 i 0 07 401 $2 Dht =4 -0 729% 5) $2
"4 $05 * ¥4 04510 & 72 54 588§ 2 0 / b7 T 6
72 47 0 70 $2 o7 7 7% 7 ho$2 )72 6 B 047
6 00% b Y0 0$ 66 4% § 2 /&S24 ik / 6 7
h 05 78
- 11 < " "
2 9% + D "72 7 BO Yo+ 7 + / 4 082 040 6
05 & 440 0/ 5 6 2 & 2 K 730 6 , 5/% 5 4 Ok
)5k 0% 7 5 0 oSy 3 05§ $2 22 0 6
/2 $ /20 & 0 [R] $ $2 25 1% O $ ks 7 $6 790 b
$2 4 TS U 0 88t + 24 250 4 7 ™S 5 b i7: 08 / &i52
72 EE 10 7 / $ 040 6 /0 6 $2 2 7 $247 § $2
7/ % 0 )54 75 6 72 ¥$7 / $§ &W2&2 0 2 &
7 ¥ $ $0 6 T o$*y BO/ZS b 0 %0 6)5% § /b 06
$2 B# E ' 2 28 72 24 4% 7 0 4% $2

B 0 97 ) %0 $2 0 / 4 0 78 /7§ 1§06 4 0i$5
0% $0 2 7 5 §

2 M4 H05* M 08510 S &S2D D * 4 08510 - 0 4 72
boh W )SS S w2 0// $0 7 /07 0
0B 4 4 7 )8H 0 78 1 00h 82 $) i $2 088
D 02 § / 4 005 S0&$2 // 5 W O0S 05 5 4 2 8804
$ / $ 7¢ $ 22008% 0 6 0206706 O 7 008& :
0 72%7 0/ % %$ + 0 + 6 0 $ $ "/ 3 / % 0
7 8 // § 856 %05 7% Y408 $

42 17+ - "

2 - $+ %0 97 02/%00/ 0 4 4 6 4
6 4 $2  0/70 652 - $+ 4+ 0 308 6
BIOOt 2 75 0 $$ 6 THISS $2 5 hh 6 4408

FOY §8 )8 Y0 2 5 085 "4 $05 )8 +0
9 02/ % 82 06/ /

< .19 4 "-2

2 Db =4 -0 72 % 5 75 $ 2 9% + D

" 72 7 BO % +7:  + 7 840 7 7% 08287 /%0
5 4 0 w6 §K $ 04 82 06 72 5 447

08 +0 7§ . 08 0 .5/ 5 27

PS8 &8282 W 085% 50508 6§ 0 72 0 72

)

B
2
6

55 582 )72
4 W0 D
0 2
+ L &0 2 72



" "r=By , -1 4B, ),->,)

< (T
00k7 A D)B 10 & % 7 Th b 08 $ 7 0 $
) $2 "4 $0s* 44 015
D)B /7 4 0§ &% 6 0% 04 $2 6 6 7 0% 2 0% % 5
2h 0 $& 08 0 0 b 70/ 7% 4 / $
000§ $0 2 0% $ 40 7 $& 56 $2 0% $$ 7% 2 0 / b7
b $2 6 6 7 08t / 7 h< 4 / $
D)B / 0 $082 >4 0#5$ $2 § 2% 7 185 &2 7 4
Y7 04 A 4 b0 6 2% 1 ¥ A i %0 $2 08
7 Th 6k 008 % % O $2 03 00 D)B & 0$2 60$ ¥
5% % 04 0583 h § 7% 0% 8 7/ %85 2 05 % 0 0%0 0
§ 72 6%2 * 4 015308 #4h § 2 7 %2 8 5 6% % $2 7 185
2 058 7/ 702428 U85 6k 0 46 ] 7 % b 0/% S
/ 0 D)B 7 050 / 06 7 - % 3§ $ S Y7
- 4 " W7 7B % 0& 0 &06 $2

D)B 10 70808 %0 78 4 7:+ 2 67h¥58 7 0 05 % 8 5
/ 78 &0 Oi7h 5 05 40



=B} 93, A

n n + n

2 / b 82%7 0 & : 08 $0 02 78 1§82 0 40&%28214 720
605 5 $ 8 0§t i $240 )$ 50 &2
4 § T 247 0 605 5 6 $h §2 >t 05 59§ :
/ 4 04 B 0 200 // 72 $ 0 §% 00 67 18014
6 57
02 0% 0 57 0 §82 40 2 67 % 0 % $20
$20 6 $2 hoh 62 6 § "2 /6§ 082 # #
1 &2472 5 4 & $ &&&0 §2 <7 0)f 07/ & 8 $
/ / 6 00 / 002 7 0§82 410 /8 § 072 $28& 2 /
$2 / / 6 7 $i6i7 S % 82 $5 81 $0 682 0/ 754
/ 6 00 /
= 7 % $0 0/ 0% 6 O $i065k 8 4 0 25 5
72 0§ $ §2 8 4 $0 6 5 b6 78 b $2 /% 6
Oh 75 %08 $0 H07 & 2% 78 6 /% 6%& 4 $20
25 088 5 77 & § $2 6 7 $82 & 662 4 §

] 9 46 e

2 0/ Ti6h7 8 b $0 6 0 10 074 b
0/ §$1 4% 5& § 82 0/ 784 $ 072 $
$2 $ = 10 667 B 0§ 10 0 4% h $2 6 0 6 O 00

oy , 7% O - &% )7 D :

, 9 46 > 9
2 8 806 7 $ 06 &0
) S0678 5 - /6 K00 O 67 THO
by 6 0 08 2 0&$2 2 00 § 7 $i4
' (
b

- NNNND +

4P) 0 b 2 72 6
0 0 2 0

6 // w0 7 8§ 47T s 08 //
6 " $ 08 " // WO 2 0
7

b & £ 0.6 " [BVAR:
b K 6 82 0 &2 7 $i4 b f$2 kP
78 8 $0 754 0% 0 $065 $2

$8 7 ¥ 814 $0 6 $ 007 /7§ &2 0 &
$2 ?7 08& § /7% § & K b
B 82 K 5 / 4 7 00 8% 6 72

0 7T /8 712 A 084 7 b 6
$ k

i
1

b



9 4 6 ; (A1 $ "
B $2 i 5 / 4 7 00 8% b 72
b 7 /% , 12 h 0$ 47 b b b 0 0$
2 0823 $ 4 /&2 5 §2 K b
72 6 %0 0 /%6 7T/ % b 682 08 $40
) 2 )72 & h $& 0% T2 7 $B7 &
/ % 6 1$ b8 0 84 52 /8§ § 072
)8 $0 &102%  § $% 07 &b $ 7 /% 5 $2
b 2 0 8% b 6 2 0h7 & 2 0 //
BA440k &
9 46 " 9
"ohh b 0 08 2 0&2 Oh § 7 $i4 "6
. 4 ) £ 0 84 19 2 0 22 7 4
)8 $0 02 7 0882 0/ 784 078 § $2 b
8 b $06 $2 4% O K
/ $ 6 K82 , 18 84 $0 %4 08
0 %0582 $§8 7 1 84 $0 6 $ 007 /7§ &2
0 & $2 ? (& $ /7% £oo) F 0 8%
2h 2 b 00/ Tgt b 82 / & 0§ 0 7%
)$ $0& 24 7 [/ 00 74§ &2 &102 § $ &
$2 00 74§ 5 o /7 17 /% 682 7 W7
/ 074 6 $2 07 2 & 7 /% 6 82 07
osh 7 $ 0 2 o% o 7 4 4 §2 62 0
6 $2 6108 %$2 07 00 74§ 0 0 08 §
$ $2 6105 00 74§ $2 81 06 $2 07 &
4 58 / 40t 0 692 foo66 78 $82 s 82 08 $
$ 082 * 4 OM56 & :-$& $2 07
)$ $0 &2 &102 $ $ 4 00 74§ $62 & 825 7H
77 $ 5 0 1 82 0 b e $6 0 %
8 b $0 6 00 74§ 7 $ h$2 0 b
7T /% §820 $ 582 242 & 7 6
" 46 0O # "
"oohh b 0 05 2 0 &2i72 $$2 8 b $0 6 0/ TiBK7
5 /
"ok $ 7 $id /h$ 4 b (. 4 0%
$2 § 72 47 &7 0& § 77 /%
46
b b 6 4 2% 0 0 2 0 6&2i72 0 0% /7 40



"=,B} 9% 3,)

) " =i )
1 02 0 05 2 0
) /2 0 0 0 2 0
C ¥ o0 A0 05 2 0
) L0 A0 05 2 0
,hhhu56 7 00 667 841 0 /4$ 4 6 THE 024/
7
, 4 6
9 "ot 08 $ 7 0 7 b $ &2 0<2 $ 0%2 072
$ b &2172 1§ &k /008 $7 /5§ 8 4 $0 6 $ "0 ¢
7 § T7$6 $h 0$ 4 $ 82 -7 0 440 $ 6617 592 6
7$ 62 0 % 5
9 , 2 $ 6 % & (.9%2 $ 67 7 $6
$2 0 % % =7 B 5 (.6 $2 0 $2 05 5 6%2 $2 4
&2472 $i 8 i $0 $ 6oh7h § 078/ 74 $ $2
-7 0 440 § 6647 $5 $2 $& 7 7 $0 470
5 $ $2 632 61050 0% $2 $ 32 62 07
0 0
" 6 05 $& & § $ $ 07WS0 6 $ 06 7 %0
/% $7 0o/ 7 0% 78882 -7 0 " 40 § 6617
+ " . *on ) %0 & § / S/ S %
7 7 $ 70 0 5#%2524 7 /5§ $2 7 00 8t 6
$h
9 . )$ $0 b k5 $ $2 8t %0 682
652 5 b &2%72 $2 5 § 2 * W 05 )S $0 &2 0% 5t 6
77 $ 64$ $ &i$24h OF 7 5 0¢( 5 06
00 74 $ . 08/ $7 6 $ %27 $
4 " 406
;" 9 & 6 / 7 $ 6352 $$ 0 05 2 0 8% 6 $2
77 $ 0 $: % O 7T W7 % $ 0% 6$2 0$
2 07 /% [/ 7T 4% $2 7 6 $ 682 2 $$ 2 0%: b
Ok 7 054 7 $ 0% Yy /7 WMo A 6 &2172 05 4 $2 £ (/
- P82 0% (/% L% P00 $:
" 9 & 564 / 7 § 6382 $$ 0 05 2 0 8t 6 $2
00 7% $ 0$ $ 1k Ok wy7 4 $ 0$ 6 $2 0$ 2 0
7 /7% [/ 7T % $2 7 6 $ 682 2 $$ 2 0% : 4 (0}} 7
0$4 7 $

0§ 4 §2 £ K. b2 v (/ b



"=,B} 9 3,)

+ 426 0 05 2 067 % 05 7 /$ % o 7
b NS5/ 7 % $2 7 6 § 6 5 7 $67§
) 0 08 &$2$2 -7 0 "4 §
67 $ $: 7 006 $ 06 7 ¥ § 2 7 W 0% b 5
000 $2 05 $100t $ 05 §) $2 "4 $08* 14 085 §
50 B b §) /8§ 072 07% 0 682 6
70008272 08 $: % O 7
+ 6 9
% S0 087 /§ 6850 05 2 0 6 4 7 00( &
Wor .6 4 7 0 (/w0 . *
6 § o " "
s, * o 2 2
7
* mn

TH 0O %/ 8 §/7 8 682 08 flo /% 7 §) 82 "4 $08
7 8

* W 05 2 $ 08 78 40 O $ /7 4 $2 08 $ /7 § %5
$ 4 /$20 4 0 7 /% 780828 : 7% /0 / /
24 2 6 02i/% § 5107 / O 7% D2t 7 HEE $2 4 H 5 6 5
66 $ 7% / 08 67 $ 6) 2 24 0 $2 6 &b
08 7 2%/ & 0 4 /7 § 6 7 7 0% 0 /7§ ®06 06
6 6 $ 7 45 074 0 6 $29$2 )4 $2 54 $0§s 2 72
& 05 THAMYE & DS 0 5 7o 7 O S & 0 7% 7 00
$ 7 /5&82 , 1% 81t $0
6 $ " 2
A
1
< " 2 Digt ™7 00$2 b7 / $) $2
"4 $0$* ¥4 0185 40 6 $2 0% o/ 0 610 :% 4 $2 $ 2
682 7/ 10§  00:0$ 08 $0 4 4 /r &YW 0:400 18 $ 440
07/% 0 ) 720:%0& 0 : 08 $0 7/ %4 % $2 | :$ 20
7 % $06 $2 72 10 07 /8 82 & /2 0007 000 0
$h io$2 , 1% 8t 0 20 7 000 7 6 584 $
/2 0E / O &2 h &%t 0:h 0 §2 2 $20/ 5§ 0 /
& 18 710 0 )$ $0 02 0 7/ T78& 814 0 7 00 $2 ¢§2
20 08 § 0&1HH /2 007 00
' % 64 § 5 0 6020 47 $ oo %2 $2 §
0 $2 2 / 0 605 5 §) $2 "4 H0§ <4 085 > § 40
2&4 7 $ $ %7 5 7 )8 0 $) 82
7 $ 4 6 7 5 0 47 $2 2 4 $ /28 82 /v
78 / W 72 72 b7 78 4 $ $2 fE 8 O
7o $2 2% i / L7 0 h % 06 72 7 i7
/8 072 5 ) 47 "& 0 / 0§ 725 $ 82
"& 0 47%H $ 08 0&2 24 7 /% 7 8% & 6

6 $% 0 4 $2 0



=B 9%3,)

[ "$ " $ & )
: $ 6) $2 M4 H0S <M 057 0 $2 030 6 P&
$2  §70 7 W7 8 077 /% 00
* o5 , T8 8t 0 $2 07 7 W00 6, 102
2§70 B0 /S $6 ) $ 107 2 10
iE $ %0 0// %0 $ &% 72 $5 6 $5
%7 5
$0 7 05 W7 /§$$ 0:40$ 6 78 077006 5¢
07 $67 $72 W 0T $5
, 02 /o $2 %70 8% o " 08 7 /$
6 //  W0i & 10 S *// W0 $ 06 05 S0 5% : "
"8 07 7 $5&$2 // WM0L 7 000
7 *
, 9 84 6§28 007THS$ 72 10 o"
) 2 )12 05 $& $: , 9 v /7 6, 9 0
/ 8W$O06 , 9 ."O0§ $&S2 ", 10207 & * )"
07 & ,19 07 & (3 L1907 6 A
5 $$: , 9 2, 02=/% $ 7 07 /% , 9
,,)97 00 6 $zhos2 v )T JJ9 + &4 077006 5
7 /% , 9 ,,)97 0060 $ O 0§88 6 7/ 00h 07 $2
s
. "
) S0&$2 B2 $70" 07 & 05§ : $2 §70
7 0 ( 4 4.B"+ "0 8% 6 05 $0&2 )
6$2 6 & 7 Y .U BS§2  $7007 6 4 . /% 6
212072 " B &I52 b % %¥B"+ " 0 8% i 03
7 /% &2 b $ 6 2 05 § 08 06 5 §2
$2  $707 0
% 2" " /
" 7
207000 4 $ 5 2ADE6 & $2 7 0 T H0$ 5 6$2
) 2MDUY 2 /7§ 0§ W% 0 0727 00 05 & $2 05  $0
o6 0% S04 2k & 2 $2 5 720 6
5 2 &% 0 /7 $6%2 / 40 07 /$ 505 80
CF H 38 &% )8 10)/ 102 1 728 A AR

0/ 5 0 $§ ?DE7 0 % $2 K

@ ; '
) 2 "4 H05 < W OS5 6 07 /% 7 /% O 07 b $2
7 7/4 0 7 /$ TO oz 0 7 /$ THO
03 $0 0$ 08 $ $2 7 7/ 0 7 [/$ T [/$ THO 5
o 72 b ) &2172 40 6 b $2 7 00
by 04
00t $2 775 0 /S /% 75, h 08 $ 5

$2 )2 6§ /% 04

W = - ,=* A



0$ $0 03 0$ § 0% O 7 /3 7 /$ ™0 5
b 72 b $& 2 0 b7 /§ 0:% by 7 00
$2 §7 4 166 § /747 S 004
00k $& 466 § )b 0 /$ /% 175, 0
hts $ 5$2 )72 6 / % 04
"7 b 6$2 4
2 7 /§ 0 Y% 7 00 , S
- (74 0 O0:% 0 0.5"- *= (74 0
0:4 0 0. *"= §,=* ASB*,= § =) § , +
?1T O "
$0/ :h o$ % 7 /% THO 0$ $0 8 | $ 5 : BB
33 %8 7Y/ b
= / 0&%2 § § 81 0 // 4 5§2 W7 %
183 $ $2 7 H 6 8 5 7 7 Sk / %t 70
7 /% 700§ 582 * 4 0856 Yo 7 $ 77 4% S
0$ 0 YD) 7 D : D! ¥5)8 10
BI "
6HOss 6 02 h $2 61080 05 6 O 7 84 § §: =
; (
, 402 A A
B $2 $70
047 /5§
W7 S
) 2 7% 0
14 & 4'
" $§ 6) $2 "4 HOS* M 0520 : & 6$2 & 0 0 6
208 7 5 0 $2 § 724 0 b 60 2108 5 6%2 )4 $2 5
"4 %05 2 72
"7 78 0§ % 6$2 2 7 0 %06 & 652 4 0
0 & 7 i $$2 $0/% 06 2 §$ $2 050% 64 0 W
6 072: & b 0h 2%
72 10 08 $0 0$$ : b b 6 2 0 6-%% 7 00 §
05 2 0 6&2t72 08 // 0%
1 9
6$2 6 &t 7 000%2%6700 $2 4 / $ 67 0 0/%4 45
-,9 -,9
1

6$2 6 & 7 0005286700 )4 $2 5" 4 oSk 995
-9 " -9 -9



"=,B} 9% 3,)

W oo;2"
7 005286700 $2 08 5 6)7W/$
"5-,9 700 7/56 $2 6 &b -,9 (%0$ 4 % $-,9
A
@ 4 *
-,9 700
-,9 7 000
26 & -,9 7000
_'g < -
; (
4
00 Th$ 0$ $0 84 §$§: 7 %0 6&2472 0§87 6
- 4 2 $2 7 10 6&2172 087 6 g2 - " -
4
06 0% 0 0$9§ : 2 0% 7% H)="7 4 045 6 72
5 / $3%2 6% 9% 7 S )="17 4 015 &i$2 by 6
2 0 06 08 $0 &2 84 § §: 5A7 10 6& 4% - b $
) 2 5% - $2 4 by - %% 7 006 g2 - - - $
5 §§: $2 7 006 5 0% 0
1 $+ g * " & '
" $ 6) $2 "4 H0$* W4 085 20: & 6 2108 5 $2 0:% §
BE / W7 7 f7 050 O 3% 4% 00 % %2 24 2408 {7
/ 0/ 7% % 0 7% $53%2 $ &0 1%0 0 4% % 02/% %0/ W7 O T4
7 W75 088 &% 0 9, 7 16 2108 5 & 5 77 /5 6 %2 6 $2
0h 2 0 8% 6 72 10 4 )$ $0 &#$2 00 $2 07 5
072 7 %6 D +i0$ 5 0$4 7 682 6 & +d)
71
+B +) 7 00 7/% A A A
T+ " * "
9 7 005+B < 5,
NS $00$ 5% 6 & 0 & $ 5 7% 5% : , 6
7 WU
H (
+0§ 5
9 <,
)7 - $ - $. & 9’
$ 6) §2 "4 %05 * ¥4 0I5 7 7 ¥ $2 v /7 6 %0
i 0 i6 h$ $072: & s /7 0 /47
9 8 $2 6 0 7 45% 0 4 0 % 0
78 1§ 7 &i28$2 0 0 67 K7 % 2 708%2 h$58 /00 06
605 0 /7 TS 62 7§ 218 b & THAYYE $h $2
7 / $0 62 s 7



"=,B} 9 3,)

72 10 08 $0 0$4 7 $ 0$ 2 0% $& 0 0 )$ $0
$h ) $2 "4 $0s5* i 085&2 24 0082 $& 07 5072 7 180 6
6 b &2 / 0 72 6" %0 087 / § $2
$ 5 4 6 6 4 )$ 00 :% 72 6" %0 0$
72 7: 84282 4 )72 <=/ § $/7% § 8% ™9 -
1. -
"9 S1—, S -B "§3 "9
"S B=9 §-,99 = -~ A AS-*) sy ™"
7 -
B S 7 00 66 1$2 52 , 2=/ 5§ $ B 9 0
=/ $ BB
%7 "
-+ "¢ T AS +B SB* + § B*+9 "
;0" (
9
)78 (1] (1] & *r
) $§ 6) $2 "4 $0$*44 057 / 2 082 077 7 /%0 607% 7
7 //5%2 0% k7 2 § / 0 4
"0 5 6% 0 70 4 /0 b8 K $31$ $ & 0 4 $ 3
/ 4 0% Wk 0 &2  /n47 $ $2 0 6% 815 & 00 6
$2%2 / § 2 F B 06/ /7% OF 7 % 0 4y / 0
72 10 08 $0 0$$: § 08 2 06 72 6 0 0
7T /$ Om 708 77 0 5 62 6 & 7 00 5 //5 319
+3)
)$ $0&2 24 0082 $& 07 5072 oK O7% 7 08§ : 2 06
oy 7 4 82 0 8t $0S 00 7% $ 08 0 08§ : 2 0
72 10 08 0 058 - A2 O
) $2 )72 0 0$$ : 08 7 6%& 7 0006 $2 0 / 3 $)
$2 7+ 0) #0)8 700 7% / " 682 6 7 H6h7 St
[
39
1
+,B
%+ "
+3) -
@ * '
’_)
; (



"=,B} 9% 3,)

) 7 ; $ . $1 " " & -I
" § 6) $2 "4 H0$* M 05 &L 2 4 & 6 $ //5
$2 5 70 6/ 0 $ 020/0 O 7% % §$ 7% 2 826 M4 §&
66 784 0 447
2 0470 74 iS00% 67 $502 / / / 0% 0 & 62 4 & b 0
0 700 5% 03 040 2 0
72 10 08 $0  08% 7 $ 08 2 04 6$2 6 & 0 0
1 "< .
); - A A $) D
A A A A AS,=* 5 -) A ) 37 00
7/
7 woom
*= "5) 3 §$) D 5 );
% 1 oo
+9,= §+9 § -
; (
) 7 " & ,u
" $ 6) §2 "4 $0$* ¥4 055 & 08 2 &5% W 7 % 5
6 & $2 /W7 0 6 & 00 Ok 0 ] &0 5 2 )4 $2 5
"4 $0$/2% 0 /2508 00 0%2 7 4 / $6%2 & [/ 0 & $240
78 % $2 0 6 140 $ oY/ $ s/ ST 514 7 &
7 %4 / %7 00 2 2 0 8 6 $2 $2 00 74 $
72 10 0 & 6%20 2 0 , 0 T8457 0 2
2 2 5 6 7 %4 7/ TH7 7 % 0:% 0
1
"B* 17 0 05"- A s, 9
§C *- S +
NS 005 50 6 ¥ O § $ 5 7 & 5 & "- 6
7 iU
7o+
" §"— § *= S BB § - , —  ASC *-
, +9=7 00 7/% , + ~ "
% 4
0 8% 6 $2 $2 00 7%$ $2 72 I0 0
W L7 0 0 8 6 $2 72 10 /% / 00<6 §
b0 4% 6 O 7T 00 7/8

; ¢



"=,B} 9 3,)

mn 1 +

2 2 0/ 0 O 6 0% $0&2 & § 2% 77 $ 05 40
24 2 6 4 B h$ 78 7 hOM5 ) Th / K780 % WOTWh 5
0§ %0 ok § 2 07 00/ & 72 b h$ 78 5
08t $h 7 S /h 7 = 06 /%2 $2 $$ b $240
/47 5 $0 5 8% b 77 $ 05 %0

2 / 10 b 408 5 + 0 15 &2472 10 03 0§ $2
/ 07 % 02 005$0 6520 &2 614$ hsh b /
03 0 30 00 404 W ) 2 M2 0 7% 5 1
24/ 00

oy § $2 / 07/ $i%i4 b $ / 5 by 6 02

052 4 " 6 24 2 )6 242 2% 2072 "6
2h 2 7 /% /AT 5C 5 )$ 0&2 24 7 [/ § §

03 $ 0% 0 0 2 O0(7/% 0 5 $ 0/ T
7 i 0.8&82 7 %4 "6 24 2 5 0 //5-6 §$ 82 ) $2
)72 0 + 0 - 81 06 6 %2 7 67 S 6 4004

by big5 746 b

7% 0 ) 2 )72 b 0$ % 0% 0 08
7 /% bob b 7 ®0 720 08 7 W0 727 5
25 0 0 bW/ /S 2 008 7 7 00 7144 "6

4 262 % 82 2 008 7 7 00 b $ b by 7 4

"B ) 2 )72 0 7 7 & b & 7 $ / ST/ S b
) 2 Y2 0™ 4 0§ $ 4% 6 & T B0 1 6 92
f6 & fo$2 ) $2 D)2 0+ 0 40 $2 & O $
288/ <<0 §2 <0 $2 072 0 "™ 2 0 0% $0 /7% $ $
&i$2} 6 5 /% 00%4 4 % 05 5 0$ $ H00F 0 47
h§ 021/

k5 7 00 6%2 2 008 7 0% $: ¥ oh 7 9% s

7/% 0 5 5$2 2 07 8 )$ $0 5 $) $2

"4 $0s* ¥4 05 &2 &H02% § - 2 008 7 7000 8% 2 hoOHs 0%
07 /% /7 4 6 $§2 2 07 199

1 6 "
, 1%
+ 0 0% $0 0$ $ , T8 8 4 $0 &i$2 $2
6 & 0%/ & O
"HT7 % 602 ) $2 )72 0 03§ : = ) 2
% 0) $2 )72 0
", 9 0 0 7% v/ 7 6, 9
" B" 4+ " B" + 05 0 7%
" - 632 6 & 7 00 0$ 0 73 +;)<-,9
3 9<-,9 -,9 -
" = [ 7 /% 75 08 $$ $ $2
b $ hs 4



"=,B} 9% 3,) A

= +B % 0 78
, 662 6 & O 7 08 70 05 0O 7% 39
S +,B § +2) &2 +3)
+ 0)
+B 08 7 6 4250 % 000 0 72 8
) /8 2 2"/4$: b2 K h 0t 5

(78( 2 0= 78 ) 5.

"0b W7 $072 5/ K TS 4 4 0 72 &1 o/ / 6 7
// /74§ § $2 K % 8 0% O % %7 /$ 82 0 % 5

3 5 8210 /7 K75 & 05 $ 05 b 6 $2 % 021/
$& $2 08 $io Ko 0 $2 1074/ 2 / K780
/7% 8 60 6617 $52028 M58 & $ 6" $ K O8i65
/ W/ 0 §% 2 7 /% /K780 48 % VAT 0%
0 i 7% W5 § 286/<<§ W 7 K750 08 /7 4 5
$2 + 0 B % 7 0 §&H &§282 08 oo / 40v 7/ 600
6 & :0/% § $ 2 2 067 6 $210/ K 7840 0
h 78 08 5 b 0 727 00
, / n " 1
)8 $0 B &2 7 $id "ob 4 & 24 $2
76 06 &0 7 § “A 7 §$ A
0 7 2 /7 /%8 O & o0& // $2 W/
1 4 D9 - -
"$§2 7 7 O 6 720 08 682 072 5 0% $0&2 24 7
hb 6 0 08 2 O &2 24 $h $2 6 & /hs 4 0

&b h 7 b $2 2 0 VARRTAE:

+ -
A | = 10908
A =f0$t 102 = 109408
D . n

)8 $0 5 $& 4 2 0 6 7% T &% / S % % 82 ) $
Bi0O: < 0 !' 7 / 0 =§10 4h f§2 667 682 * ¥4 05
2/ % ) $0&2 &Hi02% 0 4 008 $ 400y HO $0:6 7 & - 0O 08
/2% / 05 % 4 7¢66 7005/ 8IiKO0

5 46
, 72 k7 00%0 6 2 0 i §2 720 6 60/ 7% E 8 b &2472
b % 6 6 72 6" $0 "6 $2 72 10 0 08

// 500 7 % 2 §§ O 06 2 0 8t b 72 K6 $2

72 680 72 67 7 72 6 Or 00" hH0$ S 72 6



=Bl 913,

BO7 72 6)7 D : 2 §n "0 04 L0&¥282 6 6
O/ THES 720
§ 07 008 68 05428 0 08 2 0)2 06 s //
o 7%
2 0/ THT 8% $0 6 ) b0 W 2 0/ 784
074 00 78
4
)» %0 /78 8 W08 b §2 072 s % /4 0 O 0§
$2 072 7 &05  $0 B 0§/ ST/ S HS2 b §& T8O
- 4 7 ook $ s s 0% Y6 82 = 78 6
-7 0 "4 $ 27 0 5§ 08 § 5 777
$ 82 $ 67 00& : %00 "O0$ § W08 4 6 $2 608& : 67 000
08 $4% / 008 6 82 408 T8 2% 40 6 S %7 00
0 § 5 105 6 $& & 0620 0 24 /0
4 7 4% 72 0% W08 % 05 002 7 65
700 82/ 67 00 700 5% §$24 K70 4% 0 08 $
(0s %0 7 02 By & 82 7 0 & :/
§ 7 N7 T84 0
D720 0% W08 % 05 S0 05 S% $2 4/ /u$ T2 6
05 % 4 72 $82 -7 0 40§ 67§t $2 700 5
O $ 0% WS /7 4 682 72 $ 26 $82 -7 0
40§ 667 072 0 7 /% &2 & 06 $2 072 7
6 784  $2 0§ $2 4 72 06 $$2 -7 0O A0 S 667 "6 &
000 6 7272 &/ 6 $2 6105& : 610§ 78
"0 0§ 5 §72 6 07% § $2 682 0 7 0 &2 $%2

// 4 682 / 600
D2 0% $ /0 7 00 % $2 6H0$S& : 682 O 08 $2 7 001%0 $

b $2 0% $lo 7 " 6 ?D@ %0 #00 &2 08 $ /0%2 7 00 $2
07 & 1 682 0 05 08 $ 5&i2 &6 70 /$ %& & 0 6§
h$ 7 4 6°D0@ $ 87 5 0% $ &2 & 6 7 00
6 $2 8§ § /$ 8& & 0 6 $2 05 5 67 00 0& 00%
6?D@ °?D1@ 582 / 600 2 b 58182 & b2 6 & & :0

662 0 05 & § ®7 5 ?1¢@
1D$2%2 /7 4 682 / § 072 0§ 0 5 108

i 00t 7 006 &272%2 5 8 W " ¥ o0 $ i S
7000 6% 1 $ 51492 / 70 6 0% $0 &2 &102 $
6 7 124 77 $ 00 % 7% /78 $ h 8 0
/ 0 5 i D¥2s§2 s/ 4 682 / 600 0$ $ 572
7 0 s & 6 s 7 ¥ 6 7 88 B 5 /
"1 7 WM 67 00 ¥ ) 08 b b 2 0
b $ 7 1 5 $ 5 9 700006 6 JO 0 $2
/ 600 // 40¢%2 %82 4 0% $ $% 7 0 20 $
< §2 100 6667k $ f 82 7 00 )$ 08 % ¥ 28 002 06 7 1§

&b 72 2 6 6%2 $ g 72



"=,B} 9% 3,)

" 72 Sh7 O § 6 "7 i7" hH0s $
/ $ $<072 57 7 7 006 &21726 & $2 O0h S /5 0% $0
200/ %75 //% 05§ k57 000 §$ $$ % 78 05 57 00 /%S
00 0 2 0/ 7" 7 000072 00/ 7 $2 0 607 5§ 72
)$ $0 77 7 00 0 02 7 6 &2 $2 4 4 03 § b
$ 8 0$ 7 / § 24072 0
< / + " 9 1) $2 "4 %0%
* i4 057 5 7 HE 02 O 7187 082 $32 0 ¢ $2 6 70 &2
0 4 7 §$5D / 6$2 0 b 44y 0 24 §2 6 /8 $2
6 & / W5$ &2 7 $5 ) 2 "4 $0$* 44 0185 0% $0 &2
7 § T84 b¥ 5§
* /0 §$% 6 667Y  h$ 5 0 $2 08 $ &Y $  ®7 5
&12 & 6 6210<2 7 006 $2 ¥ 0 08 6?2D0
&2 H7 6 0 6 &2 & & 7 210<2 7 7
7
3 i $2 08 $%0 %% 6 6§ i 6 7 72 0% 24
$2 h02 77 $$ 0o § 3 $
3 2 70 6 Or $ 0% $ 72 0 & / $
0 2 /4% 4820 05 &2 $2 0% $10 84 § 49
$2 by 72 0 & 6 2 7 § 0 $2
0$ I0 8 0%
%%2 4§ 20 6% /7 6 Bi$ 50 447 $2 4§ 50 $ 15

&i$2 $2 0 7 70§80 2 02 2 &2 054 8 7 %
) $2 3 08700 $2 $2 682 0 7 6 ) 2 7 $
7 685 0

* 44 0857 00 / 00 %0 08 2 0"0 05 2 $/47 57 0i0$0 6
igss + $§ 7 00/ % / & :6 0 0 20%& 0 0 2 7000
$%& 2 0 & : $2 0 0§ 2 7 000 $ $2 2 0 & :

25007, 7 % H4857 00 $9& 6165 4 § / % 06 7 %2
$ 5/ 1 68& 2 65%2 2 o0 8 § 707 % ' 45
0 0 2 67 1§ b4 6 6463 7 §72 002 072 ]
/% 0 57 §0 7 8782 )$ $0 02 /788 08 5 /% &

2 0 o 6 7 00 6 72 665 % 8 /b $2 7 00 $0 3 5

oh$ 0 08 2 7 00 02 8h /% 2 0608 5 72& : 582

0% $ ,7/% 5 /7 100} 6 $2 667 6 $2 >I7 oh $6 "7 7

"ooh Y0 % 0% $ 5 § 0§ 6 - 0 08 2 0
8 656 7 $ b6 5 0 0% $ 08 4 $&

616 Ok $ 2 0/ 0 0% 20 $ 5 0 4 5

0% $0&i024 § 7 / § 84 0% 0082 6 5 O 508 $0

241§ § 7/ 0 605 %0 b $2 7 75 2 /7

7 00 b 82 0 10 $2 2 7 00/ 0O 0O

0] [ b7 0 b0 0 &$2¢ $2 0 % 6 0

$ i 7 00 b 50 0% 0 0 00 % &2i72$2 h 7 040

072



"=,B} 9 3,)

[ $ 08 $ 0 7 $5 b ho§ 6

0 0 2 03 7 0O 6 8 $8 0SS0 K §h &2

0% $ 10 b 0 05 2 0 0§ $0% %4 § $2 08 $
b 6& 2 0
< + 18404 / § $82 882 0§ $ K08$2 7 0 $§ 720 4

0 7408 5 & =% 10§ § $2 0% $02 7 6 &2
210<2 40 v /7 v 82 /7 / 7 608 5 & :
308 b 7 /% 08 5& :/ $2 6 & & 0 4 0 b

o || |o |o

) 2 "4 $0$ < ¥4 085 0 7 i § 00105 4 5 08 $ 4 §2 b
7 W7 40 $ 1 & 08 $0 00% 7 b7 40 6 $2 4
k6 7 $ 7 0 §$&W2824 40 0 6 s & 6

7 000
2 0/ Ori%5 6 $ $ 84 $0 08 $2 4 b 0% $
$ /b 82% 072 0 0% $0 02 7 6 56 &¢§$2 HO05 7% 04 $2
7 % 0 682% 40 O /48 i 6 2 & 3§82
4 $6 W07 / 75 $& 450 10 & $2 N VAR b
$ 8 0 0%0&$2%2 -7 0 " 440 $ 667 66 TH4 $
$ 0 % s 4 0 82 "7 W7ot 440 b &2472 7 b $
288/ <<0  $2 <7 0 2 b/ 4 0 08 7 67 00$% §: 72
0 05 682 / <
) # 0 0s6h 0t 7 % 7% 82 -7 0 " 40 $ 667 $ $
7% 6$2% 0 % 5 4 0% $2% 0 % 5 0% $0 02 72 7:
/4N 588282 -7 0 " 410 $ 6617 § $§ b &2 82 $§25
$ 7 W 84 $00 $06 78 45
3 82 / 700 67 47 /b 08 $0&2 24 720 7 i§ 724
02 7 0§82 72 647 S 6647 b $2 814 06 § 724
7 $ 0 " 4H00h 6 2 , 7% 02 (VAR h 82 072

0 0 / 00h  6%2 0% 0 08 5 632 K 7% 06 /7 $i7
7 0 0 K764 0 % § 670 7 04 5 1074/ 4 $ 768
0 : & 7 /% Ti0&2i72%2 0% $0 /78 § 7204 0 0§
6/ S/ &% v 82 / §7 7. 0 20 0/ $ 7 &2472
b6 0 $2 HoOH & O 6212 T8 /% % /50 $2 0 682
0% $lo6  75% $2 0 K75 8§



"=,B} 9% 3,)

2 08 $l0 5 77 § 7 4 0 /7% 6 05 5
682 7 0 k7840 O 7 0 % 682 $& 3 570 02
7 5% W78 %2 4 6 7204 $ &2472 §2 0% $20 72 # $ 7 0
784 0 0 0 5 0 $2 6 4 ( B8HYEO 2 & : /
& : 0 $4 (b 0 f / K780. 78460 $2 2/ / & 0&i 4 5
9 8 0 5 6 06 &0
Es2 08 $ 0s $0 7 /% 7/ h 2 % 7 0
$ 4
; 2 E§2 08 $0 08§ 7/ %%y 2 % 7 0
$ b 7 082 /7% 682 / 600
Es2 08 $ 05 $0 O %0678 5 o/ 67 0 $ %
&2572%2 / 600 %$ 00% %08 t $2 7 00
9 ; 7/ E§2 08 $i0 05 $ £185 § &i§2 82 7 0
$ b %0 0082 $2 / 600 ¥$ 0O0$ $0$
E§2 08 $ 0 $ 05 $ Ot §7 /7 hio&W2%2 7 0
$ 0§ % / 00
< < / " BH0 s$7T 7T 0§ b $2
<. < /. E7 7 8§ 0 ?10% $2

B0 $7 7 8 b $2
+ o+ E$ / 5/ 00 6 %S /S 7 0 & 0% &
/ 00510 $7 7 § %2
+ o+ B0 $7 7 5 4 %2
84 8 4 E$2 / 600 % $%00 S0 $7 7 0§ b $2
2 00<lY /% W0 4% 5% 25007 , 7% 78457 000 ( ,"

+ D. " 2 2 1
/ 2 18 + """ $84 , (§ + D. " 1

0§ $ 5 7 ME7T /S$. 7 0 6% 00 $2 4y 5

) 50 &2 b6 Y7 /¢ 0807 6 0§ -7 0

M0 S 6B7 $2 / / 6 B $2 //WT $ &2$2 / 600 $ 7

Y7 0/ § 547 /§ &AT210 § 4 582 652 6 & $ (1

Di§ .& § §7 5 7 M9 M08 0§ 5/8% 6 47 /$

$ s /3 5 "% 5 0 100 /600 5 OO

$ / 57WOE / 00 & 44 / /4 02 00 7 6

72 06 7 0 7/ /8 5 6 5 $2

05 $02 207 & / $2 7 0

"7 0 5 / $§ 6 $205 $$:0 47 7 0480

6 562 05 & 7§ / $ 7 00

By 0 05 0 08 / %0 44 io6 $2 05 8% 7700
50 05 0 7 $2 05 %0/ § 7 2 6 &

0508 6 ¢ /5$4 0100



"=,B} 9 3,)

/4807

/4807
Q /4807
ARY
/4807
Q /4807
7450/
7450/
=Q / 480/
= /%07
= /%07
! /4807
D! /4807

NN NN INININININININININ

/4h$ 4 077 § 5 WMy $2 88§ b /4 $0
$2 7 #2 0 % /%

3 b % /88 % /7 4 %0 78 8 i §2 * 14 015 f 408 0
7 / 2 04 0000 $§7/ 2044 407 % 7 0 $ 608 $
2t 4 $ 08 $ 0 $i06 78k /0 / 6 00k 7
4 / § U2 2/ &/ % h 20 0000 § THMEE OO /78 b
0% 0 § 4 508 $ &b 0 7% 6 450000 & § % 27 0

6 $05 S0 4 5% k44 % 08 00 00 § 7$u45
4 mn
"0s %0 7 40 07 6 & 0 6%2 7 v 6 &
7 8% 2 L0 4 5 $ 0 6%2 6 & M 45, T
) M 750 5 % 75 5%6 $ 072 0 05 80 /2% /2
00 ) 00 $ /2 W% s/ 7 $ ( % 0 605 5
/ ST/ % v 67Tt 5 7 Y TS0 0/ S0 $0 6 S 7 0
& 0 7% 2 0 7 8/ H 0 1% 75§ 088§
$ 5 0 5$2 1088 % &$2 $7 0 § 6%2 05 $  00$2
05 $20 0: ) $2 § &$22 07246 &
Di2$2 / W00t 6$2 05 $/ S0 605 %0 2/ 96 47
$ / /700 $ § 77008 $2 05 SO 7 & 7 02 & 0
/ & 06 2 0 646 & $ 4 085/ 0 &2 05 $
s 7% i 05 $2 hO8S S O b0 72 (4 4
K6 &0 4 $ 5 82 / $0. 7 8% 6 0§ $



" 0% $ 540/ 78 4 & 7 0 o % § 72 2 7 %8 § 6
70 )8 $0 5 7700 b 2108 5 6%824% 7 0& : 0
i
$2 2/ % 6 7 0 5 $ b 6 $2 -7 0
" 40 $ 66i7 N,-"§8 4 8 U 4% $288/<<0 §2 <7 0
2 = 7 6 -7 0 " 40 $ & 6 $2 /4 7 582 1 §5
, 1% - 280 4 75 "7$ § 08 0 7/ $0 hs 08 / %0 7/
8 08
n LA 1
B 5 0/t 5) $2 "4 $0§* W4 08540 7§ § 072 O%7h$ 15
08 §5 $208 $0 67 % 8h § he% 202 827 2108
4 062 085
S 4 2
600 0 0 /47 582 84h $06 OO $0 b &% 0
/ L70072 0?7/ 0% - 2 e 2 7 % 0
600 0 5 00 ? 7 $ @Y0%2 0082 508 $ $2 &0
4 2
)8 $0 00 0/ Ohii5$ 4% / 10 5 Vo2 / /

/7 06 7: & b & & b b6 $ 0 $2 &0
0$ 0 §28h 7 $5 0 / 0 $ 82 O $ % 0824 &

)$ 0 6 % &2/ 7 06 7% 0 7002 7 6 &H29$24

7 600 0
X 0§ 00 2% 7 0 & :0? 7 $ 0 00058
$2 &0 582 / 600

" D9 + o

) / § %0<072 0 7 0 6$2 $ 6524 7/ 024 i
2 0%/ i7h 0&2(722 4 $2 0 6 7 0820 / 102 2 ) 727 0 &
/ 0§ § 0§ 0 6 b/ $ 8§

+

" 1 " "9

D2 / 600 00/ 750828 7 f7 %02 08%52 0 77 $2 / 600
02 6105 /7% $ 5 107 0082 % 7h § &iS2 §2 0§ $ "6 $2 %
$2 / 600 07 47 $2 08 $&0 402 0§ 2 02 & 6

b7 $ 7/ § &2 %2 00 THS 7 Oh § 67 f7 " 108 8

0744 8§82 %6 7% $2 / § 08 2 / 600 02 0
4 7 /5 682 / §$ §2 08 $
3 4 M HO05 70 6 7 7 402 085 $2 7 5 /7% / &0
b7 $ $4 48 8§ 82 6 &b
-7 6 4 $2 00% $ /7 (78

004 6 % b $2 7 00



"=,B} 9 3,)

&$2 0% $$ 0 %2 00 $ &1$2 7 4 6 $2
003 $
"00h  $2 08 $ 7/ [/ (T8 78418582 $4 / 4 082 08 $10
0§ % 6%2 4 $ b7 7% $ 185

2 *W 05 : /0 7 § ¥ 6 6 %02 05 / 04 2 "7 7
§ 108 8 G6i7 65 $& / § KT S0 6 7 7 %02 085 $2
$

"00 TS S O $& S5 82 725 682 08 %0 K &
BT S0 0z 08 hh 6 1000 6 §2 *i4 OK5
" 5/%$$2 0 S 5 // 568 4 7% 082 2%
6 w02 /7T 00 $4 82 M7 W b4 7
70078 6520
9
506 $&0 " 0 5§82 TH b 6 § 0 7 W
08 § 26 & 5 7% 50605 $0&2 7% 08 %
) 0&0 ) 2 T4 HSFM NS 7 % "6 0 &
25 $ %% S 2 7T 508 5 ES
L84 602 &0 24202 "0 & w5247 /08 "
07 0 002 "
06 05 $0&2 0 i 0052
)» 077 s / 07 / % 24072 5 &2
Ps2% K 6 0082 $2 4 8% 6 $ v 0 0
$2 % 088 § $§ 8% s10 s$0 7/ 0 5
0§ 22 ¢
¥ %0 7 W 0 4 5 § 4 5 2 0
8t § =" W& 0P 2 0 9
708 6R 5 $2658 56
© 806 77 $ 05 7204 b} " b B
0 0 2 024 % /5 i $06 0 7S 7 %78 /
0s 2 4 " b 6 b4 0 05 >80 b
77 $ 0 007 s 0 7 $67S / 0 05 48}
7w /48 4 6 $25& $ 7§ 6 45 0 680
>$ 0 5 7T 8 6 / $678 0 6 (525 8% 0 0/ 77
iy 52 74 &0 & 2 0/ TH
4 $ $§ 0 8% B 7 b T/ S08 48 0806755
7 W/ 008& 0 0 0 28 $%4 5 8 9§84 5
$ T & T4 20 8% 0§ //40% 2 8 §

) 2 "4 $0$ <44 08534 /b O b &2472 0% $ 0 § 74
B 7 b 1 $ 7 /58&1829$210 84 $ 5 0 §$% 0% $ 7 4
hohy 6 6 T
200/ %5 6 0%2 b 0% 06 o856 08 $ < 6 B 7h
b
"
)$ $0 0 K788 7 7 %0 %00 6 5682 6 & 7% KO0
6 $2 5 7 08 % 6 $& 7 07% O 0§ 0 &2 $
05 & % /7 4 $



"=,B} 9% 3,)

% $2 5 7 %% 08 % 6 0 0$ 0 24§
74 672 8 & ¢ =" W & 0

B$24) 2 "
bos b2 /

$0s > 14 O5 7 $i4 " 0 § 7282 40

4
7 4 7/ /2 $2 4 0% $2 6 & §

4
& 1/ 4 # 5
"$ §2 6 720 0s $2 "7 W - 4 & 155 4y &0 $2 7 0 6
0% %0 &2 0 K783 140 %00 $2 >i7 of $6 "7 k7" §h0$ Sk
&k $65 08 0F &I &2 $2 $$2 5 57 % " 0% $ 7 7 5
{0 400 5 183 5 6§ 0§ % $ 1$5 %4 S 6
b4 0185 7 2 40 %0 0% $ 5 8 | $ 7 /§ 077006 5 §
0$ $ 67 4 7 00 § 2 hOMsH /h o 00k $

) 2 T4 $0$* M 05
) S0 T & T v 08 0 $ 7 i/ 00/ ¥750% 582
6

4 $ 1§ 8 /% 0 7/ W 00
-84 500
4 +
) 0& 1482 0 4% 0 6 8 0% 4% 76 7/%
7 W/ 5088 4 $2 5 0 /% $82 =78 6-7 0
40 $6 7 OF & 682470 6 SEy 82 47 o 56
2 /s $724% 072 624 K 2 /o 057 $4% 08%
62 8 05 0// & 0 0+#25 0 8 050& 6§ 82 >
O $6 "7 7T Hi08 $ )8 S0 & $6 4 &I 582 =) TS
6-7 0 40 0§ 682 7% /% 0§ 6 0 4y 6
$2 -7 0 "4 $ 667 i $88&0 §2 <7 0
n n . n + mn
) 082 W4 28824 7T 47 4202 4 b6 / 2§82 5
24 $ §  (0$5&82 0/ 7$% $2% 7 W7/ $ 5 6t
/0% 7T OF % 6%2% 700 2502 $2 6 & $ 675
0 %
0 $$2 7088 /600 /600 07 7
% 700 5 %07 0082 / &$2%2 / § $72% 072
% $50 § 72§20 4 0 82 8% § §2 >7T o
I 7 A
o5 056 4 & 6% 70 58 "7 W 4 7 i85
724 582 S 0 $6 "7 W 408§ 20 0
Y7o §2 $2 67 % 0 $& 08 00 78 582

" h7 "'66 + 0 %6 $2 §2 08 $ $2 / 600 %4 4 4 $2



- =Bl 913,

70 # s /7 6 2 7 99 $ /0§ &
0% § $ 62 70 2 740h 682 7 i 02 / 0 §
&t 0§ §2 b WMk 0% 4 4 &2 $2 50 6%2 7 %6 $
00 § & 10 /5 §2/7 %0 2 7oy 6%2 7 16
0 & 4 &t b/ $ 582 /7 600 hH4 4 $2 >h7 o $
6 "7 7 b NS S
2 mn

788 7 §7 00 $ 5 //4%$ 00 /7§ 60 0/ 7/
0 7 /7 {756 727 00 &2472% 7 0 /W 6/ %O 56
0 70 $2 /7 7 6 N /& %0 7210 &  ¥10$2 0/ O Hi5
6/ 600 0§ / 10282 % / 7406 727 00 §$$2 hoh 6 720 0%
$ 1850 $2 08 $OI O/ Oh4i5$ 6 b fE $2 0 40&82%2 / 7H7T O 6 72
/ 600 6 &2 §25 $:% 7 000 50/ M / 600 O & $
70 0 706 0 0% $2 % 00 $2 i 072 $¥/0 70
5 $2 0§ o7 §

)$ $0 $/ FE ¥%$25%7 0 70&2¢ /7 &7/ & & 072 $2
64 0§82 5 2 0/ 0h 6 & :9$25 00 %0824 0/ O0hKi5$

h 4 50§ >/ 82% 00 $0 26 070
b6 1004 b $ 7 00 $& 6 00k h § 7 00 §7

)$ $0 &2 7% 05 $ bk S/ S/ S Y8 T W

$1/01682 $4/ & 84 $2 § 100 $2 567 000/ 0 08

*: T 7 0 6/ 07 7 % % / 0 6% 00 6

ho$h 0& $: 0072 b $2  6667H h % 0072 382 70

6% 004 ih 5* 4 05 + $2 $ /25017 2% §2 4 h$

6 45 §2 b % 0 072 7 07 %4 5% 5 b

b $ 0072 b 5 6 5 072 / // 4 5
$2 7/ 600 $2 >i7 Oh $6 ™7 i7" hH0s 2 072
b &b Mooo§ % 7 4 % $§$ 82 / 600

D2 h $ 0 072 7 0 682 072 7 07 %4 5% 5
6 b 582 0§ bt 6%2 5&h 5 §2 072

, ho$ 0 072 b 5 0 $2 $2 $20 108 4 5 8% b
6R 7/ bosooto 072 b 8 080 &k b 4% $$2
o6k7 682 7 oy $6 "7 7' b H0s S

1 478% 0 2 722 0 5% =% & 06/ 5

7478 0 2 B 5$2 21h 5 0& 77 0% 57 47% &

2 b $2 4% 5 % 2 0 5" 0% $0 8h §
$ 7T 47% 0 720 s th $$2107 47 § 84 $ 5
0$% 00/ O b 0§ S , 7T /% 0§ 82 7 478 $ 7
84 $ 582 667 6)$ $) 470 56 o5

7 64780 &i$2 072 7 47% 0"5 7006 0 706 7 47

// 4 582 >i7 0h  §6 DS $) 470 "0/ 7% 0O}

7 478 0%0072 b2 ) 98 $0 0 004

§ 08
06 & §$8



"=,B} 9% 3,) A

000 §) $2 "4 $0$ * k4 015 / 8 108 0$ 0 5 2
b / % 70 7 00 407 00f O $2 %6 $ 0 % § % 82
7 00 $2 7/ 70 6 b 0 47 0&2172§2 * 14 05/ 4% 08 10

0% 0 2 $ 021/ 6$ 052 $%0 8% 6 2 08% 8 k5 / vs T
$& 0% $0 67 $0/ §75 5 0% 408 0 $$ 8§ VAR T/
7000 00§25 h4§ 592 / 600 6 0O/ 77/ /O

600 O $2 % O%i$ $h 0 4 %2 4288 4 0% $0 401 06 7 000
%2 4 0/ 72 24 82 $ 0%82 / /00 6%2 7 00 5 7 4 $2 0 6
7 Y7 6
600 07 7% $ Of 7 0006 2 L0 % 0 2 ) §2 "4 $0$
* 44 0857 / 002 $2 4 2800/ $ 5%2t0 / k75
< *-
*/ 2 // 4 6 $2 / 3 §724 072 $2  >h7 0 $6
"7 7 " 4 h0$ S 0$ $0 5 §4 & 4 67 4 8 0 5
077000 57 / % 7 / 2 04 b J& %% W 4
$2 &0 0 $ L 5 §2 / S $<072 b4 4 "6 6 R /
bos 4072
* " -
) §$2 "4 $H0$ <44 05 6 0 / b, %02 0 )7 9 6
38 b $ 47 4 0% $0&2 0 , 102 0:%0 & $2
66474 400k 4 6 $2 ,19 07 6 ! $%0 0 $2 " oK O
, 02=73% $0 7% 0 632
8
3 s 7 8 ho$2 U 7 00 0 $8 ) $2 4 $0$
* ¥ 05 77 /%0 7 4 5 $& $2 0J72 b8 0
7 0/ 77 00
2 0 K784 0 6%2 * 44 085 /2 O $ 56 7% 7 7/ § 0
4 0 815 0 &272 $§ 0458 0O i85 $2 27 0/ 77 00
0 5 b % 0 20 4 0 s 07 0$ 4 / 5§2
0% ok s TH 4 VAR 6% &2/ 0 / 600 07 s
7 7 THT O $2h b 2 / 0 6% %2 1§20 0 0$ 4 0185
7 18002 $2 27 00/ &7/ & + &4 $2 * 44 05 &k / i$
b 6 6 $2 6%2 7 ¥ 8% 6 4 $ 5820
$ Uk 0
) §$2 7 02 3§ $ 7 $ 0 $ % 7% &
7 /3 2 067 ¥67 00S$: 2 +H 2085 4 (+9.
2 *: 172 *4 085 7 M 0%2 %/ 0 6 P& 0
6 7 i 72 b % 0/ / 5 / 3 $<072 &2472 0$
/ 00 $72 0 4 4 /1 4 94 , b8 (9, .0 kK78
bo$ 0 &2472 08 / 00 $$2 07 6 24 2 2 "4 7
7 5, % 0 &2472 0$ / 00 &2 07 6 $ 7 /5%

b
210§ 5&2 07 6 %0 8%



"=,B} 9 3,)

$§ 7 000405 4 $2 / 72 b 0 )$ $0 0$
$% 7 76 $8 /§ §$72% 072 6 $2 7 008257 /0§
72 6/ % & 8 7 %5 bos ) $0 08 0 6 102
4 7 6 8 § /7 /7 % § 72 70 6 §2 /8 $72%
072 oot 0 / 600 $ / / 72 b " 0% $ 5
72 M 7 0 5 b % 5 7 9, 72 5
$ /8 68 $2 08 $2 0 b $2$7 0 5 207 & : 6
0 0§ 9, 7 186 2105 5 & 5 7/ 6 $2 62 0 2 O
84 6 72 10 4 ) s0% :h s2 9, 5 ) 3 0
/ 00 &2 07 6 A 242 2 6 & 0 £ 7% $ 77 /% 5 9,
39 +,B +,B 9, 7 W § 77 /% 5$2
B 9 0=/7% §$8 " 2"
1 0 7 6 /$ $ 72 % 0
07 07 0 7 6 $ 56 b8 0 005§ 0§ :
72 oSt &2 0 7 03 $ 4 6 $2 $2 /$ $
72 % 072 §2 >i7 or  $6 "7 7t b8 &% 72 $ 0%
5 § $: %2 0 $20 ¥ $2 7 00
)$ 0 5 b 6 2 067 ¥ 5 ho$ v 7 00828
$ /7 % §2 * 14 015 62 4 & $ 080 // 4 5§82 "7 7
"'66 4 0 188
6 72 < 4 h W b 0 &b $ /7 08 $i0
/ $ 7 0 $2 6 $$ 06 $ $2 $08 $2 00 77 006 5
7 /S 0 0$ 2 0% O 7 §) $2 "4 $0$* ¥4 0%5
1 072 6 72 b8 7% 108 N/ T 10
2 opk $2 6 7h O 7H 6 $240
8 6 7 7 % 72 ho% 0 5 $ 4 6 $2
-7 0 ™40 $ 667 $2 04 084 $
T b 6 0 0 2 067 0 7 $ O
7 1 5 //5% & 7 $ / h282 0% &
00 7% $
h 0> 4 085 /8 § 6+ )$ 538 $ Y4 Y/t B= 10$2
gok7y 5 7 7 0/ 7 072 ) 2 "4 $0$* W 05 7 0
+ )$ 538 W 6 $20 08 $0 b7 0o 77 1 77 /%0
0727 1¥0&2 $2 05 5/ 0 // 4 582 *W 085/% $
2 * W 05 77 /307 180 6 7 0/ 7 072 0 &2472 7 8 5
I G * 14 OK85 $ v, 7% OO TMMH . $2 002 §7 10

775 6 $2 b 577§ 7 0 4 Ok 0
" 0% $ &b /% s 7 57 0/ 7 & &% % O 7 5 16 §2

8% 7 010 $ 4 $$2 * 14 0185 0/ 77 00&2$%2 §:
&2y § 0F 7 i 82 0 08 /7 4 % 4 7 582 * i 015
0/ 7 & 1 5 §$ //5 82 /7 140 84 $0 6$2 £
b "ok 620 0$ $ //5 $2 & B440%
84 $0 6 £o"7 0% &21i72%2 0% $ 67=0 ?10 &2%
oo 7 5 § / $ 57 0o/ 7 7 0/ 77 W&
$ $2 0% o0 7 $ 02 20 hh b 2 04

Oh 7 &Ii§2 4 6§ 05? @ 67k § O7WS0 08 % 82 -7 O



"=,B} 9% 3,)

440 § 667 6 174 &Y 2 $h $ & $2 0%
5 69%2 $2 65 $2 66i7H $ O7TWSHO 7 WM
+ " D) 0$ / 3 § <072 bh 06 / T7%7
h§  020/0
FRRNTRRY
b 6 7 7:2 0/ 7 82
2/ 700 6 § K VARY 040
2 & : 5 $4 % 0k 0% 0
boh 6 7 7:2 0/ 7 82
2 //5T % b b $2 0:40 6 K 6 % (0][0]
2 & : 05 07/ 40 KO

") 82 "4 H0s* 4 05 08 $ 784 08 O $08 $08$0&2 0<2 10
$

$ / w01 2 2%2 ) $2 "4 OG0s* M 085 -7 0 " 40 $
6657 § 6§ %7 5% 06 7 %% $2 77 % hossH 2
7 $%2$0 S0 5% 06 08 $) $2 T4 SOS* W 05T 46
$ 06 7 I 0 7 8% 50
74 % 0 $0550 05 $ 08
24 7 /1§ by 6§ 2 0% O 7 $) $2 "4 $0$
* 14 015
0§ 05 $) $2 "4 $05* 4 0856 by 6
$2 2 067 007 (207 W 0 § //5% 0 7 000.
) 0 5 $ 7§ O $0§$06 $2 0 0% b &2i72 $2
$ 6% 06 706 7 02 $ 60 § 07 1§ $
) $2 "4 $0$* W 05
*-
,$ OF 7 000 W4 0857 000 66 2 7 /00 6) §2  *
7 50 0 // % 156 0 4 0% MoOo57 1 040 0$2 § &
66 / $ 662 , T 84 0 §) $2 M4 §i0s x4 05
308 75 0 7 5% 72 0 &2 8 Wt &W2 // /%S T %0
/47
§ $ O 7 0005 %0 08 0 682 K ¥ 0 % 7 00
2 /4% 4 74 %S f ¢ O 7 000406 O % 7 000$ 4 J
4 F % 7000 % J 4 b $2 5 0 6%2%

07 5 78

2 § Ot 7000 05 /%$ O 5 0700t $2% 44 08657 § / 04
7 $ 6 16617 $5 § Ofh b

) 2 M4 Hos*h4 o5& ¥ 72 7 56 %0 § 0b 7 000 $$2 § 6
R /7 %2



"=,B} 9 3,)

* n
) $2 "4 $0S*M 085 07 $ 4 TH 7 % 4% 2 2%
-7 0 40§ 67 )/ 0 0 6 S 0&02 § 6 ) $2
"4 S0$* M 0857 $ 78 7 SH7TS0 087 / $ 826 & 0$/0
YT /4 682 7 5

/75 $2 -7 0 " 40 $ 667 § 0$%& & 0 6
7 % $2 & 02 /<0 % <7 6 7

0 0% &$282 4% /77 % 82 $ /7 682 / 0 $ W $h 6
$2 /7 0 § 8§ $2 682 / 0 § (0. &2 4 7
7 % 0

Ih 4 % 6 $2 & 02 /<0 % <7 6 7 6 & $2

/ 0 §8§ 2 * W 05& 6 102 4 & 6 O
$7/ 0% 7 & b 78 4 SO 08/ 5% 0% $ / 7000 6 0
$ TH 247 7SO0

)$ 0 5 §h 67t § 0780 6824 7 7 7 §2 282 $

)8 $ h 2 0 & O §&&&0$ 7 % 2 0 5 747:4 ?7B5
"77 000 $ &&&0 §2 g7y $ 07480 0 $ % 785§ 0% $ &
70 % 0 4 / &182$2 0§ 1008 § 7 00$§2 I 07 /%0
0 6 $20 0§ $0&2 0 77 %0 7 $ /bbb &2
7 $4 /5 §$ 608 $ 0
2 $ )$ $ h 2 0 72 0$2 08 $7 %8 7 R 6
72%  07W/§ 0%t S
" 08 $ 5 7#4 izt $ O07W$S6 4 $4 / /00 5 //5% %
/0 5 6 % $2 6 $ "AA 2 6 0 4% $
&&& 0 §$2 < 7 0<§ 07490
6 LA

" 08 $ 5 § 7HM 7 86 7 0 &2i72%0 / 810K § 7 0 6 &2i72
0<2 20 5 7M 7 B

8 2
, 727 0 7 0080 6$2 6 0 06 &0
1 %20 - SRS %
2 6 0$ § 7807 005 0580 06 &0
J=4 /7 $ (1 &
Jb 02 4 (& W0 .
J0 /2 4 (& W0

v 4 (/] WO
JO 4 4 (/7 0k

D2t 4 08 78 0 O W7 7% 70 P2t 2
82 $2 1 hy08 7 0 § 700 45 $2$2 7 00 22
4 $2



=B 9%3,)

0 00/ $ 5 25/2 & 0 05 7 004 &A727 6 $2
6057 00 / 8WS S 207 T, 9 /08 U
+ &4 7 B0OWM 6 $2 6050 05 & § :

0 052 $08 /0 $7 006 0 08 &2 7 /§

0 0 00/ $ 5 7 T +) "N H0$ 5
3088 % O /0 $7 /8 10 2 6&AT2107 § 6 $
&2 § § 7308 7
=0 % v 7:%06 & 7 0 S OT B+ ") 45 6BS2 $703
(U wsos2 , 1% 0 $28$$2 7 006 60 000

O $ &2 ADH &' 7 0006 I A

D" F7171 %?B 0 %?B
-8% 7 00 $ § $2 | &A72 $ 7/ $ 682 X 7
7 $7 00T 05 SO k& % O 84 §$$: B7 4+ 50
787 0V



i 1] # * 1]

* n
30/t 6 2108k 00 , $) 470 -0 45 6 $$ 7 $78 i$
B 74 5 & : &2 7 i 58 W 05 %0 & 7 ©$

) 2 10 & 7 15
R n + "
) $2 "4 $0$*< 085/ 4% 06 TH % 6 05  $0% $2 6 6 %0
072 020 0 /5 $ 20 7 68206 00) $2 "4 $0s
* 44 085 /44 S /0 07/ % 08 ) 2 *¢ 6 7 6
)4 $2 5™ 4 $080 $2 05  $I0 0§ $ $ 3>6 06 $2 *®¥ )$S$0

4 S WT b /I 0& S b 0008 7 $2 00 60

7 7 $ Y 247185 2, $) 470 667 6 &0
% 02 /7 0 / T$7 0 &2i72 & 00 8 1§ 7 010$ $
$ § $6 /77 $0
» %0 $ 7 $T882 $) 470 667

/2 ) K4, $ & 0% &&&0 §2 6
Voo 8 $ /T8 06 B T % U//WT S 0 T 582 /% 5
Po6B T2 & Mo /6 7 $ $240 iS22 1Mt

7278 TR .02 0 s $ 2 B 72
/TS0 T 68 B 72 & /700 0 0 6 0/ 1
) $2 "4 $0S* 4 08510 B >7 10 -
. " 2

) 2 "4 H0§ * ¥4 05 6 0 08 0 4 4% 6 // % OS$ 7 %4
072  02i/0 & 0

2 102 T W)2 02/ 0 74 % 682 05 S0
07 P 7 s4 262072 "2 072 02/ 10 4% 5§ 69
) 2 602 & 24 (0 § 6 2620712 &M% 2 /08
20 82 24 § : $2 $ 0 05 2 067 7 $"6 &
( 2 0. 08 §: § 4% 6 $2 072 02/ 20072 02/
& § W 5 & 78 07450 $0807 O 74
&# # 1600&78 2 +*
8 * * #
&
)$ / c2t2072 ¢ /5 5 WWWY ES0( /%0
/& " PS0SO7 §/5 5  VWWW i 50

/2 /1806 DS/ & WWWWW § ¥ $0



e )

1-)+B" ) + 9"-)+ "B * ) + 9"-)H

R +  0)72 02 -

R = 10)72 02/

R 0 % )72 021/

1 v )72 02 M 24 2
¥ 0& 24 04 % 26 & 02/ / 0% 0

58 5 6 R 6 02 021/ 072 02/
0§ )8 $ MO0 TH S 0% ) 0 0
0F §) & 00 08 ) 4 00) TH TS 0=h 78

) ) D, " a "

)8 $0 6 P h &2 $/f7 58 56 05§ 072 021/ 00i08 7

$ $ 7 &b & R 6 $2 6 02 5 0 088§ 072 02/
7 $ 2 2 00 $2 $ /7 % & 0

/
$ F s2 088 6 O 7 ) 0828 7w /5 § 00108 7
§ %% 6 $200072  02W/

. _ 2 "

)8 0&2 24 $ 6 / W71 2h 2072 2 072 /S 22
072 $ 5 "4 §0s iE S & 24 $ 6 $& 5 0
58 1656 R 6 02 b 2% 072 02/ / & $ 7 b

"4 %08 7 & $5
D4 "
2 06 h <-§ % )72 02/ & $ $2 0 0% $0&2 2 4
$2 § 2 067 7% &b $ b 6 8
$ 2 0.82 282 $ 682 072 020/ 2 072 021/%0 0

2 7 $i4 "ob $ O07W/%0 &2 § 06 b ! $ 8 ) %2
0% $0 §2 7 $id " 40 6 b $2 0% jlo 7 72C 5) §2
0§ / 06 $2t0072 02/




> 3,"-) + 9") | -, D" 9,1 - +-,,;,")PP

1h 408§ 1 ] L i &is2 b $ 7 6 ¢
) B 500 /7 $0 &t 7% 072 024/0 0
8 4 0 6 $2 1 02 "7 W7o )72 021/ $2 )$ $
06 4 <-=§% & )72 024/0
— - 2 + -
# & # #
9 5 & # 1 #
%2 D)™ $05h $2 kK b5 624 2072 0 $2 610508 /6 § 4 $2
$ B i %$2 0% $8 Wt 0 0 $ B ) 1t 108 )
)72 2 <02 0 $ieh 5 §2 $ B ¥)2 o02v [/ %
2 40$ 68 5% 08 040/ 402 0 $§ *) 7 0 4 O 0 2
0O 6t %0$ 5 4 7 § 6f H0$0$$0 58 :h 2 )" b 82 0 % 5 5
% %2 84 $0  § 5§2 % B )72 02/ [/ %
20 072 024/0 4% $ 5 0% $&2 & :0 b2 0 $
)4 $2 5™ 4 $H0$7 6 70 0 0 7/ v 8 8 4 H0
$2 % 0) $2 boo$2 $ 7 Y75 2, $) 47 0 6617
& 4 165 &i$2 $2 0% $10 / 5 EH 287 § 78 P % 024
$ 4 $2 7 0 6%2 0 " 0% $&2 / 7/ $ 0% %/ 0
b 40857 K 73040 bk $ 74 5 652 072 024/0 &) $2 &4
72 0 $2 632 $& 072 024/0
: & ) h 0/ 7 $2 0% $I0
7 0§ §72 L &2 7/ 6R
& & R / 6 & & : &$2 7/ 6R * //5
6 $2 7 /072 02/ $2 7 [/ % T$ 0$0 i$ $2 6& :05 &t
& - 0 5 7 /7 § 788 82 $) 470 67 5B 72 210
b6 $ %0 56 $ & 4
9 "
)) / § $0<072 0 66 072 0241/0 6 0% $0 &2 $ /7§ 8
7 4 20 072 024/0 5 & $ 0/2 0K %0 0 % 0
&2 24 [/ 6 /$ 7 8% 4 0% $2 / $ § )72 021/0 0 5
& $"& 0 47 % I AL B ] 72 7 Y7 5 2 7 &i$2 $2
/ 3 $§ 65 K6 b6 $
# 2 <
D :% 10 $2 $& 5% 7 %2 70 6 7 7% 4

0% 07 7 §$% § $R $& $24%5 57080 5& :b $ 2 0



e )

# 2 + # "
) 2 60 L W07 $%/5 $6 $2 6 5 108 10 57 02
72 7: L 07 $%/5 $10 57 %7 B $&2 $52 $
& B 6 T W0 /% Tt ) K4
D R
) $B0OI  5< 0: 1 7 )72 02/0 4% § 8 % 05 S0 &2
$ ) $2 25 6 & $24$ 60 47 2 072 O02/W0R !
B6 8 7 $2 2/ %10 667 T 20072 02/ $
4% § 6 02 20 &$2 0082 425  $20 60 47
$: 4 s B1-,, S8 6 70(8 4 7 %2 0§
6 02 0SS § 06 05 S0 7 $ //56 $2 0/ Th 0
) $)$ $0 00
N -
,725 /6 7 072 021/0 & 5% )2  6BO7 (6 $2
7208 $2 DI )5 /2 5  §2 7240.82 5 BOS 0  $2 =08 5=
/ 5) 620 / 6 7072 02/0 5 i 5 2 072 0240
5 & 6 725 $2.08 $10 $) 2 0 0/ ST/ & 4 $2
/6 % /7 % 01 b6 % 7 2 )72 6 BOT $
" 2 5 BO0S O 475 $ $2 =085 =
/ 57 % § § -
" 1 N "
2) 2 Y2 0+ 0 0 0§ 282 08 1067 W7 5
$4$ 08 SO "G 077006 57 / % 5 1) 82 )72 0%
b & 072 02/08& @ &
R 6 $2 5 6) $2 )72 0
R 6 $2 5 6) $2 )72 0
R 6 $2 25 6) $2 )2 0
"y 6 &05  S0& 77T /8 v$ 2 ) §2 )2 0/ 72
5 1 b6 % 7 = B : 72§ P28 s
/ 7210 $2
O + 11 11
) S0 58 56 072 021/06 $ 7 i$5 S04 $2
B " -$ 5 6 / 0 /50 4 % 7 72 12
Y2 02/ B 7 % ve6 & 7 77 00 $2 318 8 3
&8& B 2 04 0 72 $ 006 $06/1S$ 072 02i/0
6 &02i/0 %0 0 § & 080 072 0 &8&H 03& 7
&8& 072 024/07 § /
+ 8
"//5T %0 6 4004 BT b & & 072 02i/0 B 0
7 6050 4 00 $ ) $2 072 02/6 0 /8

2 0 $$2 //%7 % 0 0 5 0/ 00



LIS

C 072 02/0 W 08y $ 8 54 $2 6 & §$ 0 050
Y2 02i/0 §$ //57 6 0 0 00: 0

105 $0&2 //56 8 %56 6 BT b S k& 682
$ $ 6072 02/0 ¥ 5) $2 0 & 56 540
)y 2 100§ & $2724 & 0 05 $& 20 //% 6 6 ¥
30 70005 $0& 8 1656 §/ 072 02/0 5 5 4%
$ 7T /% 2t & 0 0 2 6 6 06 & ¢

Y2 02i/0 & 047 4 /5 $@ 00108 7 $ B
Y2 02/07 0§ 7 70806 S (6 s 2 0. 50

$ 71/ $ 00 6 " S0 $0

b
0 0% 0& /7% 6 ) $2 072 021/0 & 0
2 §8 072 02i/< $7088 ) $2 02 $ 7 $2 72 6§ it
6 0

)72 02i/0 0§ 2 4% 56 6 & 08 $0§ :h
$2 0 720 0%
Y072 02/ 66 O 7 % § 82 0% $ b b $2

072 5 $§ 06 $ 6% 5 0 0%
) $2 0 4082 1288 72 5 6§82 072 02/ 7/ %70 § 5
$h
) $2 "4 §0§ * ¥ 05 0 % O%i$ & $0 & 6
b O8i$ S & $6 0% 0% $0&2 24 6 T 72% 4
7 b7 5 2 $ 6820 & 0444 / 5 /b /%2
0% $i0 4% 415 66 O
2 $ 6 0% $i0 0 % O%$ % $ & 0& 02i0<2 6
$§ & &b $ b 6 $2 700 56 f 0% 8
/7% 8% 0 (VAR / 700 %%2 08 $0 7 7/ 006 O &
2 8% 4 $2 ' O%$ St $ 5 T 7 "5 8 0%06 7/% 0
02 00 $82 uw W /S 0 199
. & $03) $2 "4 H0$ * 44 O05%0 00 &#$2 & §6
7 % 5 ors$ 08 h 2 /b 08 $0 724 4 $2 4 7% 0 ,%h% 415
6 $20 6 $ ho4w § b 566 b $82 1"1)y" 210 //47 & 00
7 $ & 6 $ $ b 6 4510 458 /56 7 ) 82
0 052406 0 bk b % OF §2 ) §2 , & §1 6 6
B T b b §$&&&6 60 4"& 0 6 0 4% 010
$i6i7 & 0§ b h 80 &b 108 2 "y & 9%
! $0J1 $0 & $2 2 6 / &2472
/ 4 0 $ 0008 7 4 785§ b o 72 10 $
0% $0 ' 0% $0 6456 $i0 0 7 00% 5 // 4
6 &2i727 Of 06 4560 7 77 05 70 $0 44 $ 6
/ $8 08 0&27 4 & T 0&2 h 0 806 78 57/ 00
$& 0%2%608 72 10
! ) // $ . 7H // § %5 $3"& $ 0% 50 &i$2

7 /8% &2 6 0 4% b $2 6 4 $



TR A

* 2 )

,hhH856 ) $2 "4 $0$* W4 015 0 6 0 O / (R ] 6

07 $2 0( 7/5& $2 &0 0§ . 4 §: $2 ) 2 "4 %08

* k4 01510 7 /0 / $ O $ % 78 0 5 4§ 7 %

"4 508 0" %08 7 /07 000 § 4y 6 ) 82

6 0 $7 $% & $2 07 %2 0 % 08 $2 0 & 6 0
0 6% § $s2 05§82 06 0082 2 0
fos  s& (/352 8% 006826 0 & . 07 0 $&s2

5 )$ $ 1 7 0 % 5 / $ b 00 $2 2 0% 5

0 0

! o ) $9 0 4% $ 0% 0% $0 5 &is2 0% $

B T4 -/5 $ o4 / 7 $4%$ 0% 00 00 $ Yoo $20 6%
0% 8 §0 40072 /0 &2 6% $ /06 2
o/

! 409 JB b 5 0 4 05§07 & /%
R b2 6 4 §2  2) $2 "4 S08* M 085 - /5
G4 / 7 S8 05 & 20 6 05 $0 40072

/0 &2 6% $
! =% 78 9%0 0 4% S/ 06 / 3 § 05 0
& 24 00675 57 1208 0 2 08 § 08 5§ 052 6%
2 5 5 b 4 08 $10 7 03 6 7 % i 0 5 0% § ok 74 §
$2 $0<2 0 % 0§ 7 4
2 9%) 4§ 05 $ 1044 $ $262 2 4 /7 $> % s 08
§0 0§ 72C5
27248 $ 6 06 /56 /7 8682 /YT T8 /7% $5
6 72 0 O $ 2 57 7% 0 7 7/ b 6 /$
/ 7 § 6 §2 VAN &2472 40 7$ / /% $ 56 72
00 0 $
2 /7 7 6 //5% 10%2 0 06 ! =h 7% )$ 66 9 ) §$2
"4 $0$ < 44 08§57 60 § 7 865 VAT 7 7 S5 6
$ 00$2 0% $10 / %0 & by 6 2/ $0 & L
&1 &82 6§/ 0§ %072 T 05 7 02 )
! & 81082 *)=/§ $6, 78 $0 § /7 0§ 82
072 bo$ 0$5$& / 5 $0 5 $0 &K 0 § %2 5 75 WS 06 5
72 7: 775 §§ 072 $ 82 /7 %0
B $257/% 7/ kS 08/ 5 $0 b 50 65 $2 o6 0 0 $
2 0 ?2 7/ % @6 $20 0
3% 6 $3 /7 0%/ $6 /5 $3 /7007 b 6 $6 7
$. 32 / 01 /5 $ 632 /4% W $ & & $ § $
2 6 % 0 2 4s 05 $2 0 s 6 o2 o8 682
508 2 2% ES 252 082 5 &2 3 058

77 $ $ $2 b $ 03072 70 2&4 §2 1§ O08&
$ 82 /v w7 Oh $2 $ 670 7 $2 $& $ /4



LIS

! =k 78)$66 9 0 &%$ 0% 0 $ 08 0 88 & 7 $
05 2 6% 20 0 Y0 5 $ 75 Y0 5$2
6 4 $ & 05 / 532%0
)8 $0 $ 052 6% 58 56 20 OHiE @! =h 7$)$ 66
9 &2§724%0 0 6 7 =/ $ 08 $0&2 0 / $0& b
9*) LI 4 $ 08 $0 &2 $ 052 68 5 0 [//56
? 0 Okt @1 =k 7$)$66 9 00 6 §$2 §4%0 00 6%2 ¢4
$2 %6 451060 74 0$$0
=/ $ $ 0% $0 5 & /%
R 625 61085 0% $0 v/ 608 5$2 $40 6
7 75
R 6$2524 7 /8§ § 0 7 %2 0 $2 b 6
$2 4% / 0 6 7 4§75
R 5 %2524 7 /§ § 0 7 82 0 $2 b
652 / 0§ 0 7 75
2 8% )56 9 $$2 § / $ $ 08 $ 5 77 $ 40
R
3/ $ $ 0% 0 5 & /%
RA 625 61085 0% $0 v/ 608 5$2 $40 6
7 75 (" 0% R 6 $240 $ 08 b 0 0%
)$6 9 0.
R 6$2524 7 /§ § 05 7 ¥2 0 $2 b 6
$2 / 0 6 7 75 (" O0$R 6 $210 $ 0§ b
0O Ot D$6 9 O.
R 5 %2524 7 [/ § $ 0$ 7 %2 0 $2
b 682 % / 0§ 0% 7 i7 5 ("$ O$R 6
$240 § 05 0 Ot DH$66 9 0.
2 §% H$e6 9 $$2$ v/ $ $ / $
$ 0% $& 0 / %0 $8 156 9*) 0. 5 77 $ 10
R &i$2 $2 R 0 O 0
1 4§ $ $2 4% 05 $ 0% $0 02 7 §$7882 ES$ $2%$2 0
$2 4
2 2 k% &% 6 @6 /86 / 7 $ 682 VAR (AN % /7 /% $5
6 72 0 0 $ 2 57 7% v0 7 / % 6 /$
/ 7§ 6 %2 /8T &2172 W0 %/ /7 % §$56 72
0 0 $
2 50 W $2 b $0$2 $7 & $2 &4 0% $0
7 $ & $2 $2 705 6 7 8 $) $2 "4 H0S <44 085 4 O
5% 6 7 b 25 74
" 9 &H 7 Ok 02 4 00 $2 7 %2 06
/ /00
- . " " # 5 &
§ &2472 5 00%2 $2 $0 %0$ 4 36 b $2 & 72

5 & 7 $4% 6 2, $) 47 0 667



e )

<
! D :) 5 I D :)$ 56 0 4% 0§ $
05 $0 &2 0% $ & T * 201 D :)$ 5/ $2
/5 /5 0 /% 6% 05 $0& O 2 4 § /50 $2
} BO0S& 05 5708 0 7 /70) %0 o/ O 6
7848 2% &k 0
¥ 07 & i/ §$% & §25 257 & :6 Po$2
0 2 47% /40 2 07/5 $ 0 0% 2 7 3§
Py & 2 $44%0 / §2 0:4 /v 7 6 $2 &
¥ o0& Tu 1 D :) 5 o0& 7w L 6%2¢ 50
00825 W & / 100t 6§ $2¢ io0$ /7% 0§ 24 08§
77 % 21 D :) 5 0 § 8082 2 6/5  $6
08 S0 K% K v $2 %6 % W0 4% 6 ¥ $m 77 0
) ¢
) 2 "4 §0S*4 08540 // 4 6 $2 $ i 648 00 77 %
§ hh o ho0ss s > BSO 5§ 44 6 05 80 5 7 000
) 6 $2 7 /0 20 & 8 56 78 6S0 02
7 87882 B=/§ $6>8 01"640
> 0 § i /00 84 § $ 7 0004 $ by 6
7 8 BSO ) $2 M4 S0S* 4 08550 8% 0§/ §/ /85§ $2
>822 08 5 6 % 7 &2 By 08 $&S2 & 05 /0 $ b
7 00 0 5
S 5§ Tu 606 57 0 $2% 0 $6 6 8% $0 6
210<2 0§ § ("8 7 00 7 87 00( 7/56
8 4 v 7 0. 7 0o/ 7& 7 0§ T 9
. < LT <
200 $/ 4 $ 04 0) S$BOOG 40 0:1 7D : 0
by = T 2W08 ) 47 3 B & T 6 § 6
R <0 05 $ 74 AL 6S2 S 6 $20 7 000R " )
b R " .
) %0 i +B < w0 $ L,/ 47 BB A<A
3 78 7§ ™ & MoS $ 6R <0 0§
2
6 6 §2 IE 8 5 §4 0 S0 % 0)S $BIOF 40
0:1' 7D :0 05 7 562, §) 47 0 67
" 4 - 2 1 "
b K L0 0 50 58: /S O07 ¥2 08) 2 0§ 8 6X 6
27 $$ $/ 2 )5 SO b 6 FH 0 iS58 7
2 0 05 0 2 7% s 72 M 07 00 O 37
) 2 s s
A +
00 5 06 4 5 $7 06 672 /
0 0§ $:6 7 1§ 2682 72 $7 0



LIS

2 0$ o/ 7 4% b $2 7 00% he 6 $210/ = 0 § //5%
50 $2 72 0828 5 4 % 3@

. mn mn + mn

2 1 %6 ! )$ $ " (1MDH™. - & 1 /AT I

! )M §™H (=16 $ ¢ 05 0 05 0 i 58 /75
6 $2 6 0$ $ b O%is S b/ 0 260 //74%7 % 02 7 /9

b $&&& 6 60 46 6 0% 05/ 7 OO%
7AT VA 5%2 /% W5 L 6B 72 &4 WM/ 6 7

$ $210 b §2 1"1)" 02 0 18$ $ 2 B 72 "//¥T % O

744 6 B 72 &4 / 700 0 0 % 6 0/ ) $2
"4 HOo$S* 44 0510 39,37 0 -
) "

2 6 &b 7 $0 0$ 0 1$$ 55 24 0 7% 5 §2
4 $6 4 U7 S 2, $) 470 667 & 65 5 6 $2 0
700

2 ! > W7 ¢ D 02 $§ 200& :02 §$02 7 /8 $2

h§ %2 , $§) 47 0 6617

/0 6/ $01 Ok b7 $ $ 20 774002 b &2
$2 1 > 7 % D :02 §

/b 0 60% $10 0% Y7 $ $ 20 7 /4002 b &i§2
$2 1 > 7 %8 D :02 §

L T4 b6 0% 0 06 % 6 $2  h Of$ St 0 &Y $ ¥ 582 4
7 708 % &2472 &b 77§ 2 0) %2 20 7775 S $0

&2 " & / W15 &k B T4 Y/ % 6 0 0$ % $2

7 % " 7 /7§ $0 &2 8% 40 §%2 6 $2

/ S 5/ % 0% $0 &k Bk S 7 %4 6 ™o = % 6$ 06

2 06 ) 82 " 4§05 * ¥ 05 7 i 7 0 5 6 78 08 $i0

IO B N /b $2 62 0 $ "5 72 b

7 W7/ 072 072 % 6 7 $ / $

00 74§ / b 00 7% $ / $ 5 7 $i6i7 $
/ 5 66 7% 08 $I0 %% his56 6F  Th b

o7t v 6§ O $05 S0 4% &2 % $ 7O § O $
05 $/ W00+ S 6 $2 -7 0 4O 0§ 667

EERT N ! § 1 = 75 )6 9 0 () Oii
*0 OhE . 1 = 78 9%)9  0& 0 $$ 2 0

108 S 0 050 § $2% 088 $ 0& 675 % 0§ bh hEiws

$2



e )

o7t "& 9% & 0 §% 72 77 /% /751§ 6 82, $

) M7 0 66i7 7¥40%2 "MD" 0% ( 7% ¥ 5 7 6 $2 6

/ 700 . 7 6 0 482 6 0 6 0% $0 02 $  $2 O

7/8 7 6%2 66 &i52% 6 7 /8 % & 00 $2 § 08 $0

7% 82 6 & 02 & $ 10 § &i$2h  $2 $

$

o7 % & 0 b 00 0 06 0 44 &1§2 §2

0% 5 0% 0 7w /% ¥ 2 6 b & /7 5
(] 6 .1 D :)$ 5 .6 0% $ 0 .6 058 /7%4$

i 0%i$ 8 0 072 02170

0 0 $08$0 720 0% 2
1$ 0% $lo 77 $9 6 0 7% 6 $2
& b 08700 $ &7 57 B § $2 08 $10
7 %8 7 8 T hHS 4& 8 $0 $3 82 700&2 $2 6 0
7H b 82 6 6 72 7: 82 72 7: &) 4 6 O b % 82 "7TT
o6t7 3 6 $ 7 %S H &0 8% 6 6HOsH & 0/% %
7 82 % 6 0" BHs 4 &0 81 &2 0% $ $0
$§ t $0210<2 05 kO $) $2 %40 §2 08 $I0 0/ Of 415 $ $i65 $2
$) 470 667 %925 $/7 8§ 8 " 08 S0 W/ <
7 7§ 07W50& 0 B%$ 4 &0 $7 /§

.o o s/ + "
D2 & 7% b TWh 0 7 6 0 70 $%7 ho82 6 7 b
& $§ 110 $2 0% 0 o/ oiigss / $$20 6 0§ $2 $
) 47 0 667 ! $ 0/ 214?24 & 0682 6 &2 82 §§ 6
0 70 7 0%2 & 08 $ $6 7T % & 0 0% K 08
D2 6 7 % 6 024 5 78§ 82 08 $0 08 $ $ 5
6 0 4 & 06& 72 $ §2 0% §0 77§

" * 2 46

, 46
o 7n % & 0 b 7 75 § 0 50 &2 7756

1004 05 § 6 7 6 § 050k 7 ¥2 O
$2 7 /0 -7/ %0 6 4 $ 0 71" A

1)$ 0  Onh b //5 725 24 ,=

2h 2072 W 6 4 $2 -7 0 " 440 $ 66t7 7 % $ s
0§06 78 5 7 7 / 00% & § TwMo6 Thoh
< 488, % 0§ $/ /05 14060 0% §6 $ $2 6 b
/74§ 0<2 5 b R 52 *)=/% $ 6, 7% 0 §$
/10 $2



" " + 4 6
#
4 $ % 0 8% o 7h b /4 %0 $ h$h O %0678 5
7 V7 / 00% & 0 0 28 i %4 5 8 §i$ %4 54
$ 744 6 T4 L 200 84 $ //%08 $2 b $ 3

) 2 "4 H0$ <M 08I 4 /%O b &2472 0% $ 0 § 7144
I £ T A $ 7 /5&1$2%210 84 $ 5 0 $h% 08 $ 7 4
by 6 6 T 4

210/ %75 6 0%2 b 0$ 06 hh k56 0§ $ < 6 B 7h
b

" "+
9 &

*B*9" >, -,=3 + *-)" B ,= *B*9" >, -"=,

4

9 &

)$ $0 057 /$ / 00 by 6 /7 $ 68 /5 7 ¥2 0
$ & $ 0 %06 78 5/ 0037 /7 $0&K2 & O 6 %

7 007 $$& $2 8% & /54 7 w2 o™ / § 7 07 $ 0
$ /8 7 82 0 T72% i$%0$ :

‘ B"# B, -, ,>, 13" "9"=

"$ 77 $ A $ /8 2 0
B 047 77 $ A" 8 /85 2 0
Ok 00 7% $ 8 /5 2 0

) 7 77 $ $ /8 2 0

)7 "00 7% § 8% /5 2 0

2 4 b % 6 $ 74 6 o 0 % 0%2

67 2 0% §4 + 06 $2 6t 08 &4 7 $ 0
% /85 2 0% & 07 "ok 07 K 0 $7 §$0
07

h 6 6 § 06 08 $0 &b 4 8§ 77 % §%82 2 077/ 6
/ 4 0% O%s & O 2 8% /5 2 08& ) $2 107 $ /



e )

+ 5
"6 b e %10/ 00 $) $2 "4 $0$* ¥4 0185 &b 4y & $$2
6 720 08 &b 0 $2 6 8% /8 2 0 0% $

7 / $0 b 72 0 08 6 7 Y7 5 $2 7 a4 /h$
4 ( "™
)$ $0 &2 $ $$2 4 O %675 " 7T /% 8 $0 &k
/7 / $ %52 7 4 " 27 /% $ 40 & $2 8 4

4 $ $2 62 / $ 57 1% $2 0% $ &t ook $ 74
B VA 564 // &K§2%2 7 7
X 0 5 6 $2 0 000k 0O 0 08 $$ 0 $) $2 &2 §
6 7% % 00W0§ 7 % $2 77 K L0 % S 66 $2 / 00

8t $0 "7 ¥r / 006 $2 0 0% $0 &4 4 & /hH § §2 0

66 7 b6 $2 6 & § b &2i72 §2 08 $ 72 0 §2 700 5
7 7 08

)$ 0 77 /8 § ) $2 "4 Hos* ¥ O5 7 0§ b &t b

6 6 7 % 6 $2 66050 05 h 8 7N T % $2 6 10 0

$2 % 4 008% 4

# + * #
) 0& 6§ %t 4% 6 6 T % 0/ 00& 564
Poawob 82, $) 470 &7 ¥ 0O T 0 70 77 $28
7 $ S48 8 /0 6 455 004K 5 25 82 6 45
0 S0 5 // L &$ $ 82 W T /0 67 % % 6
BT b )8 S0& TM & SHTH 08 827 S 10 TN
. mn 4 + L]
2 ) 2 "4 $05* M 05 6 /756 05 0&S2 & 6 7 00010
4 /
YT 6 T 407 O 5 0 G086 475 7% 7O00EW 6 0
0. &2 05 $&82 &6 7 000 26
/W5 T#O 6 652072 0 57 ®& 0 § & 0 & 7
§ 7 0.6t 05 5 kb 7 & 6§80 0§
TS $ 0 6 0 51 s >/ 0 & 78
7% s & /4K
*0 OE ! = 7$)$ 6 0
) OiE ! = 7$)$ 6 0
! 00
! = 75 9% 0
! 8/
! )IVZZNE T B /AR BBV
2 % >4/ 0
*
77§82 6% >4 2 /78 6% > (0
B 52 &$2 & 5.0 S/t 582 1 2820 0 0 0& 0

$2 4 82§87 24 0 0



LIS

) 4
77§ %2 $ 6% > ES 5§ § 61 > 4 (0
B 4,500 $ 75 $6%2 1528800 0 0& 032 ¢ §27
24 0 0
V62 /% / 07§78 ) sumo 7 0
. 4 Lo
2 0/ 77 /5 $ /7 %7506 0% 0 &2 &2 & 7 [/ $§ 56
) §$2 24 74 6 Th oy 700 6%24%47 7 % 7 080 "
/ & 2 05 $&2 T = 78)56 9 v
0 %2 6 § 6 7% 7080 " § & § 5% 5 6
% s % 7/ & 74 5) $2 2 72 § 82 05 80
77 $
9 . " 4
D . mn <
" 50% $ Oth $0 4 0 )§ $ B400k 5 & 0:1 7 7/ 0% 0$
//5%2 2%2 2/ 410 6647 6 7 /7 %5 84 082 7 [/ O 6
$2 7 0 ) $BO0 0 b $% 00 = M /Y § /T $
4 0§ /0% 2 v 8% 7 000% 26852 05 ¢ & :0 6%2 07
0 05 DS $0 &2 s 6 = AA & § 74 5 7 77 1
2 0 27 0 = AAD O $§ 28 % $ 6 THISS $2 0 0% $0 b $
07 0 0$
7 44 2 06 7 77 ¥ $2 0% $ 057 [/ § 6 7 §7 5
50 47 )5 50 § = 024§ = AA O
/ 8 oK % 6 2 0% 4% i $2 5 60 47 )/ 77
$ 40 L 7 ¥7 00k $0 5 $ 4 6 $2 2/ %10 667
6 B $2 E S 5 $ 0$ 0 0)$ $ BY00Y $0
0:1'" 7 D : 0 0$24 3214 0% § 77 $/7% % 6 7 5 $2
, $) 47 0 6617
-2
-2 4

D : // § #0 44 b / § $0<072 0 b 05%0 / 0§ 5$2
* 14 015 $ 7 /S Ot 00 0 )$ 00 :h /5 §$02 7878

$2  + -0 70 667 4501 &&& 0 $2 <2 6 H0%h 6 4%

/0% 0 $7 /3§ / 5 $ /%7 %

"2 2) $2 "4 $0$ < W4 05 7 $ $ 08 $ / 5 $ $2

* §4 05 & 4§ 6 & : // § W5 182 §82 * ¥4 085 $ 7
Ot 00 )$ $0 $ 7 00 072 0$2 % & 7:0 6% 6

& :

o2k 6 it 0 7 /% %82 + -0 70 67 )S 0 08

24)7 )7 87 0 b e S 7 $072 0 700/ $ 4 10

7 0 b h h$2 7 Si6i7 § b $ 7 /% 82 20y / 700 5

)8 0 &2 $ " W TIE O 0$ / 7 /b /5 ¢



e )

$2 G S 7 $072 0 4 %3 $2 7 $ 6 / 5 $
7
)$ $0 /7§ F$4 0676 5k 7/ 6 7 $ & :
V/AR 0047 % $20 ¥ b % & D 0/ +$ 0 0 4
$2 %288 40 %00 0% 501682 & 0 447 & : 7 0 0 $06 78 5 )2
0% $66 ¥ 700 5% 0 §$6 & : 0<2 08 : $0 &i$2 $2
& 0/ 40 iy &ig2%2 * 4 05+ §2 $
" 0% $ 77 /% /5 $%0 /7% § $h 6 $2 &% 0 0% 7 /8%
700 &2 72 0 7 5$2 072 0 $2 + -0 70
66t7 )2 0% $ 7 // $ W06 6 4 / 5 $$ $2
/ $ $ 7 /0 ho$2 0 05 $2 § 06 0$ $2 2 %2
+ -0 70 667 $2 $& / 5 /S $0 " 0% § 0% /
2102 & :072 &2 § Gk 2 + -0 70 o667
)$ 07 & /7 % &24 $2 5 b 072 257 & :6 § hoo$2
0 2 47% /% 0 2 o7 /5 §$ 10 009%2 2 7 $
by & 2 $4 %0 / % $2 0:4 / 47 6 $2
)$ $0&2 & : $2 2 0/ % W & : &2 6 00
§2 7 $2 0 524 )7 )7 ¥5% 0(13 ".&822 6 2% k0
-2 4
3§ % 08 %0 Kok $400 8% 5 &$ 07 / 00
6 77 /% 5 67 /0 / 5 § 1 & 0% $0 &i$2 0% $410 0
& § & : 7 /0 /5§ 2 0 & ) 00 5& : 56%2 52 4
0% $410 0 6524 & 24 % % $450 0
+ + R
)$ $0 &k 744 L 6%2¢4 $ b 06 9152 / 0 B 0 & 735
/0% §$ $2 77§ 682 0% $1072 47
)$ $0 &2 7% 1 D :)$§ 5 b0& 7 W4 L 682 % $ ¥ 0
00$25 M4 & 7/ oor 6 $2 % b 0§ /7% 82 % 0% $
77 $§ $254 $ &5 § $2 4 b 0% /7% § $2 4% 08 § 77 $
2 /5 /% 574 0 $& & : % /i 0% $0 /4 45
$2 14 5
¥ 7 2% 7 /00 b0 b $2 0% $01 77 $0§$
001#0$ &i$2 6 $ 7 % / 00 %) $2
< C 11
"0/ 4 5 §2 & 682 )5S 6 00 $2 *W 057 t0& : Ol
7 / 0% 40 7%/ $78 /5 0470 6& : $ 77 %0
. "4 2
4 2 *:
2, $§) 47 0 667 &b 00403 0% $0% $2 4 6 ™/ § 1 b

0 4% $ 8 W $0h $2 6 6 072  02i/0 $0 0 & -
/7§ ®O0+ &4 0/ Ovi¥56 /5 § 6*%4 05 / 00 050 &2 $2
0% $ 00 6 5 0008 7 &2i72 5 /78 7T 6 b



LIS

b/ 0 ) $2 "4 $0$ * ¥ 015 LI /50 5
$2 0 7

6 f0§ 4 720 8 050 % 5 § §$ 788 82 , $
) 47 0 667 0 5$2 0% $4 W7 W 7 & $§ 68210 0/ Of §ig5 ™
Oh /5 §7 § 78 0§ B b s &+ 6 82 &$ 0 0§ 5
68 0 05 $2 6
36 $ 0$ $ 7 0%0 0 6/5 $20 7000 4 $2 2 §8210
My Th 75 000 78 6$2 $  00t0$ 0% 04 6 T /b ) $
B 7 0/ O 44§54 7 0 & 00 682404 6 $ $2 &t 00$ 0
oo 7 6  $2 0% $10 )$ $ho 7 0 & 2 /10
)8 $0 7 $ 0§24 2 0 7 6 247 0
B 7 0 470) $2 "4 $0s*H 05 0 $702/ 0 72 7:0
r$2 7’ 4 % 7 608 $0 < 2% 6 ™ 0/ 00 b o0
4'h $ $2 >4 78 8 U E $2 * 14 015
7 /70) 47 0/ & 04 50 72& : D®¥2 R 04 0 77 §$0§ $0
7 / 6 72 7% 77 §&182 bk 7 )4 7 7 :0
708%82 7 /07 5 0 /7 4 O h /7§ O

+ * " _ 2
D2 $ bt &85 % $ 7 /008 $0 02 $2 $52 * 4 015
6 508 $ 4 $2 2072 670 5

0§ o/ O 6 82 /7 0 66
84 52 * 44 01856 09 $ 84 582 * 44 01858 0% b
o $ 7% *i4 0857 % %O 7 0 $t0 $2 /7 0 66 750 6
5 h o b 2 * W 0% 7 0$2 3 0% 07 O 7 5% 40 7
% 08/ 00% 00 0

7$0
0

26 & 6 0 72 0 //5 5% $ 0% $0 $2
7 /036 ® 7 7 4 $ 08 $72 0% 4% b $2 1
B 7/ 0 08 2 ( 2 0 R
i 6 0 05 2 0@ $6 . -
st 6 720 05 2 4
i 6 720 05 2 60 072
P ' / 0 0§ (72 $ 7209% $ 6 2 0. -

26 & 0/ 7 6 0 72 0 0000 0O/ $54%4 0 720825 5 §
//5% 0$ $0 $2 5 77 5
"7 7 & 0
<= /6
W 7ATE I 008 ( 6



!3 "

30 6667% $6

s / 0 05 2

%S b A $ 2
%$ bt 00 $ 2

Y / % 6 (/ 0 08

-0 7 2 0% $0

>h 0% $0

B$ 757 / 4 6

i 0§/ Ois<+ O / 01§
$ %, 7% * 0

% 0
2 & W
9,
55 4% (/2 .1
,19
- 072 Yoo
% 6

072 7:6 /%

PP30 7 (,0% $ 5.

» S
Y 0
2

o

O (O O O O O O W O WO O WO WO W W W W WIWWWWWWWWOW"'
-l em mm e em mm i mm imm mm imm e mm imm mm imm mm mm imm mm e em imm e

06
06

7
7

19
19



9% $ 6 iE %
(26 7 08&

90§82 Of :5 /7
<282 + 0
9 0% 0% $3= /7

B i 9 $ 57
BO7 00 6 /7 O

Oh 7 0 & 8%
0% / 0%

b M 56 / 0
- */ 3

74 4y 6

PPP-0v 7 +  $/

) $2 > $/
AR BN
07 /86 0
$ D8 0§

1,0 47 (%)

s ( 20<0 0%

-0 7 + - $PP

0 Bi07 ) //% 0

$ 0% § 0soP

6
68 7/ 5
$

$( 08 702/5
7 4 6 (045

05 2
/ 2

05 2

0 0§

09
2y 2072 0% $0

2 0 7 000 !

ost & 0
&
- 0% 7 + DS
) 0% ;
" A
AA AT
& <

"572 0% 08 %0 77 $ SO+ 682
/4 582 §) 470 67,
/7 4 0% §7 0
N "
) 2 10 / & O 7 2 0%
448 6 4%y /8% 0) S0 5 § §82
7 2 H5: -0 72 05 $0&
720 0%
2 R 6 & 76 $2 6 0 0
=7 2 6 & 76
0 B 2 0 6

$0$2 7/ 4
/ 0 Hi§72
R

0%

- 0

0%

78

/ 0 672

0%
0

76

/

672 04
=h

$ 82

$2 0

)$

00

0 &2472 &

6

03
$



e )

(0% $0$ % 7000 & $20 7 0 2% /0 & b
$256 $2 4 72 0.
7 0% $20 0 $24 R / 0 08 6 / 72006 ! ) 470

6 72 $ $2 /0 4 $28 $ &b $ %7 5 % $ 2

0% $10 08 $ $ $25 00( /$ b 6R il 0/

$2.

-6 0& 5 400 6$2 08 $ 07 & 0824 $ §) $2 2
b &b 0 $2 % 00% $ $ 0 § b 582 + O
667 ** 08 $ &b $ b $2 82 R b 0&2§$2524

50
165 08 0 572 b $ $2 / OH$72 =% + H-10 7
$2 H5: 0 0$2 4 072 7 %0 /% $25 582 $
$2 0 7 2 08 $0 7 165 0% 0 572 /$§ R < §2%
k07 0/ 7200( 0 $v7 10. $82 >h B :§ < /0
)2/ 0& 0 % /287 /0 < /B 7 [/ VAR / 00
7 0% $2072 R 6 507 0/ 7200 % $2 $2
0% $ 50702 7 W7 §$ /7 9 6 0 § 824 /0 $
$ : i / 7200

0 5 72 $ $2 08 $lo 77§ §82 /0)27 )8 0 5 §

72 % 06 S22 "4 %08 ;0§ 82 208 0% 2% 08

77 %0
9

3 0§ $2 *4 05 700 Y$ % 08 S0 05/ 4

3 &% ) $=/08 6R *)= 20 //Y0$ S % 08 0
7/ 7 8/ § O S0 682 *) 0t S0 6 $2
2 0 2 /08 08 74 582, $) 47 0 667
6 *)3 b % 1 3 100 $$ 82 / O/ 7% 05 $6  $58 52 *)
70 40 47 6 56 % 7 $H08: 0% S0 / 0§02 0§
$ 0$0F & :0/% § $ 20 /08 7 /% 0§ T2 &

$2 05 8 $0 &2 &6 ) $2 10 $ /520 2 05 $
7708 S&2A72% 82 48 & /O08&  //% §$52 05 0 77 $%

$2 08 %0 77 $20 /Y6 82 /088 6 6 $2 6

05$  $10%00

1 "

*44 085/ 175 84 0 05 $0% 24 8§ T § 2 240 7

744 R4/ %S /% $0 470 20 74 07 6

0/ 00 / 0" 05 $0&2 § b O 2 02

2 0 50 000t . &2 Wi h K085 2 OF &
$ %7 5 bO$2 <4 0852 $2 8/ $82 % 6
05§ & 7 $ 72077004 0 05 % &M 6

i0 06 / 6650 7 W0 7% 2 &4 6 B $

$ h 6 4 5 7 75 §2§% 0% $ 0 $& §$3§

72 6 $2 * i 0852 $2 o8/ )8 $0&2 2 4 O & 4



LIS

6 5 § 8 0§ $ § 58 2 0% $§ 50 & ¥ 6
hoW7 8 0<2 0 $& §$2 * 14 085450 7 70
2 0% $20 8 § *H0o 7 74 8 § $ $2 82
* 44 0154 0 7/
2 0§ $107 4 $2 H)=" b8 2 27 /
2 0% $ 0 $¥M & >4 085 & 2 0% 50 b
: h 82 6 < &§$ 0 0% 00 $2 $2
2 0 %t $20
/ "
2 L1 "
" 7
4 "1 D 1
+ 2
- 72 0 0 $& 08 $0 77 /5 -0 7 2
77 $ 07 0%06 72h 4y R A /S $2 R
(&1$2 744§ $2 .6 $2 072 5 2 0 0 0$ oo "
0% $ 5 7 /7% % 0§ 82 oF 7 2 & § $
708 6R -0 7 2 0% S0 w4 82 ) §2 > /8 $0
72 R 6 $2 072 5
6 0 6 47% /% O 0 706 $2 7 /0D2 0% $
&2 &0 /7 0§ /% 6$2 0 0§ 72 hoh &i§2 §2 $ 6
7/ 75 682 &b 6
+ 2 % $ +
! /08 6R 0 84 6 72 O § $ bo$2
o 72 /5 $ 68250 / O 0% 5C "6 C 0
2 6 0% $&2 0 /0820 § /4% 210 /002 0 § % 785
$ ) $2 "4 $0s* 44 045 02 % 0 4 $ $2 08 $ $0 <
/ §5 40 §$ 692 o 7 2 2 / 01§ %0 4 g8 5 §2
/5 $ 0 6 v 8 05 % &M § $2 "O0O TH$ = 6+ O
6 C
8 #
* 085 & /8 0 5 $ 5 0% $0§ :h b 60k 2 0
720 05 (/ 6 7 0 M4 $ b 0% 0. 2 7/ § $0 b O
b $ $2 0 $ 6 %02 (6 % § 4% .- %0
b R $ RA &b 72 50 08 - $&b 72 $25
82 0 2 0 0 $2 $ 640 $ 6:- 50 / /
7 7 &1$2$2 667 682 >h7 OF  §6 M 7 " hES %
8 # $ $ +
B § 08 %0 0f 09 50 4 5 06 $ /% s6 %2
* 44 05 05/5 2 O /08 6R $ 0 4 / $ $ 2102 0O
/ 040 6 7/ 75 00 $§ % 7858 ) $2 4 $0s* 4 05 2

/ 018404 i § 5% /5
% 08 $ M0 &7 6 C $2 $0<2 &% § $ v $2 2 O / 0
& b = 7 72 0 5 0 72 $ $2 0§ $i0



)
77 $%69$2 / Oi$%0% 0 667y $8 74 $20 7080 2 2 0: /v O/ 40 §
2 ) 47 =/ 8§ $& § v &2%2 2 / $ §$20 6 7
VAN 4 6 5 72 0 700 5
2 .
)$ $0 &i024 $ //56 0§ 5 $2 " 4 0% o
/ 056 &$2 / 7 0 0% &
$h VAR 6 ) $2 "4 $0$ * ¥4 0510 $
) 470 667 B 9 0 =7/1% $ b &&& 2%/ << T
0
/$ $ 2 "t /% $ 2 B 9 0=7 3%
B : /5 $0 57 02 72 7: 5 7 87 * 44 01856
072  02¥/0 $ 4 6 " 0% $0oD2 / % 2% 706
$2 "/ 0% 0 0%
+4 241) $2 "4 HO$* W4 085 77§/ % % 6
+4 7 /5 70 57/ & :6 6 o T ooos 7
7 %4 o 7 P& % 6 " 08 W 5%
o T b
) § 78S I 00t0s 7 < 6 6 T b6 $2 §§
72 0
5) $2 6 72 0 6 $2 * 14 015 :0/5 $$ "%
/5 %0 § 7w 08 $0 &b 0 § 7:6 "
4 + mn
4 + < /
-0 7 2 * 44 085 / $ $ 6 0 / $ 77 % 0§ $2 6
50 §2 0% $ 77 /4082 0 8§ 7 6 $2 6 5072
" 0% $&2 &2 &07 / $5 / &% 5 % §2 0 05 & 7§
6 0 6 0 $2 $ 82 7 /8§ &2 & 6 &i$2 8 1
OF § 06 &i$2%2 -7 0 440 § o667 Mo % 7T WM &
k 08 0 2 6 $$2 8§ 0% $ 7440
-6 0 77§ 06 &0

A2 &

1§52




2 582 2 69 L
4 - "
i 70 6 / 8 0§56 g 7 0/ O 50 65 $2
$2509% $ $10 74 6 $2 0% $2 §2 0% $& 0% 7 ¥ $
7 8% 825§ 72 024 / 700 ! / % 0% $ /0§ 6
7 =7 6 7 ¥ 6 & $ % 6 $2 C 5
0§ $ $w/s 7/ b §2 BH0s& - 6! 5D2 2 7 7 %0
/ $ 5 6 oo/ 8 0§ $2 , $) 47 0 66t7
¥6%2 08 $20 7 % 770 5 6 7 b 4 & $2 700 5
7 5 &Y /7% 0§ $2 6 T v 6 0 77 % 0§ $2 W T "h -6
5% 57 % b0 U &Y b 0 074 4
"5 6 &b 7% 7:6108$ 57 ¥7 $2%$&0 0 § : /5 $
&2 A 50 6 §2 b 3% $2 6 b4 40 7 ¥7 /5 $ 7 %
R 2 6 & 7% 716068 $2 7 7 00 6$2 $ 6
/5 §
4 oo
¥ 72 7:4%0 $ 5 6 hoe6ey $6 O 77 $70 5 §2
0 R $ 72 7:6 & 00 00 § $2 0% flo 77§ 210 O
6 610%2 / W 6/ 5t 572 7:6 56$ /5 $0
+ +
& /5 $/ 0 44
# "o+ +
) $2 M4 H0os* 4 085 6 O 64 / 7 § W07 $%/ 5 $40 57 02
72 7: $2 /7 §$ W07 $%/5 $ 40 57 17 )$ $072 Ok
$ /5%82 5 b 4 7 05/ 59$2 6 $ 814 582 / 5" 0%
" /4% 0 0§ 6072 02/0 $0 < 08 $ 0
7 b $2 $  &2K72%2 407  §$%0 & "& :02 $6 7208 $
oty $2 / /5 $ w07 § 08 7 /% 52 , $) 47 0 667
2 / /5 $ 107 §$10 5 4% $ 0% $0 § % 2 0/
0 08
+ +
h$ 086 2575 $/7 %0 4% 6 $2 7 7 5

$2 282 , $) 47 0 667



e )

+
+
2 024 10 6657 2 0>)" B 0% =%74 " % ,/ 00 i$ (46
7 & 00/ 0 8.7 06 H /5 $0 08 $ 77 §$8 "
/ / " 2 " J$5210 0 447 5 $ 4 6
7 :
D2 0% 7 87 $ /5 77 0§ %2 6 & 46 $ 08
0 /7% . 67 87 b 0§ .7 2 10 S .7 87 §
VAR $S5 .0% $10 = § . $8 72 7 9
520 b 00 6%2 7 7
"5 6 &Y 7 1 7: 65 0% $ 57 $7 /5 082 §& &1$24
A 50 6 $2 6 2 A 54 1 % 0 $§ //5&2 /5 $0 5
7 %7 7 R 3132070082 4 &% & $2 % 072 5
" +
5 $$2 2 W77 W7 % 0 5 240 $ 40
$2 282 §) 47 0 667 " O & 8% 8 0356 $ $7
7 ©7 7% 0 03 & $2 $$ 7% $2 $ 72 $2 $2
7% 02 $2 $ 3 78 72 $2 $2 b
00 62 7 W7 & 8
+ "ot
5 $0 $ 0$ o0 77 §$ 5/ 0 72 7: 02 24 $2 0% $10
>4 085/ 0 b Si6H7 $ (= . & 188 $2 72 7: ¥3%2 3=

0 §&1$8 $2 72 7: &2 H$0 7 5) §2 i &b & 15
$2 72 7: 5 ) $2 "4 Hos*4 05 /5 6 /0% / /00

; + L1
)58 $0 &t 02 & §25<0 08 72 0 7180 &b o8
0% $0 6 $2 2 0 00 56 72 2 2 $25/7 5 §10
2 "2 § 72 $23 0 70082 05§ $ 5% : $ $ 6
e 8 72%2 / $ 6 7 0/ O 302 0/ O 45 62 08 $3$
7 7§ §2 $25 $$2 / S0<8 7 0/ 0O H 820700
6 s % 6 &0 0§ $2 0§ $ 77 % 7 05 /%6
0 $65 , $) 47 046 ¥2 ~/  $%0 hhH 6§ W 00%0$ 7 6
/5 3 W§ &2 §2 / 5 10 7% h 0816 % 0 $2
&% */ 7 b $210% 6 ) 2 & w82/ %0 /5 6
$2 /17 /48 § 550 O%f $2 0/ O hig5 682 / $0 $ 0 $28%2

$ 4% 0008 7 W0/ % 5824 /5 % 0§ § 7H0 & $ 28 0
$4% 7 $ W 0008 7 $82 $08 $%0 vh% 6 $ i 00108 7 82 &
$ 0$ Kk 0% 0 $65%82 , $) 47 0 6617 6$210%0%2 7 0



" 46 *
* /40 0 682 6 / 0) $2 ™4 $08 >4 085140 $
&%22 § 07TW0% 05  $2 0 VAT 7708 56 0
28 /0 b6 s
78 7 WS 07WS& W0 6 7 §5 05  $&2 §2
06 %0 77 $07 $,7/% 0 5 7 O &2 2 77 807 $
7/ 82/ % 0 0 $6 1 0% S
D2 /5 §10 5/ 0 727:$2 % 07W/$& 2 6§ & b 50
$  &S$2 T27:% 7 AL, 4+, -,9,"), 1 +), = *B, )+,
) *=, )+ *9=), =B ,; -=,- "H,-D 4+, H - "5 5 -3 -
=, 3 "-= >,— 4, MM, L,
n + n + n
&0$ S0 08/ 582 &R b i $= /08 5¢C
20 &0$2 § 08 % 6 $26 0 05 05 $ C B& 0
& 00 $$ 100 6 $2 O 7 2 (B //W
-0 7 + ) 01 08 0% $2 O 7 2 2 R
i $=/088& 0 4 0824+ O =
$2 6 0 08 008 $0 050 =14 ) §§ <
BOSO 05 $) $2 S0 /080 § 6 "0+ O =/ 0§
s 7 0 6 6 6 0 05 $) $2 w2 o0 7 2
0 6% 0 $06 7 57 i
—06 7 + )$ $0)5  $082$ $Y 82 O 7 2 6
) 9SS < 26 0 05 & 24 2% R s $=/08
7 % $& $2%16 0 0§ $is
20 0% $o( oy 7 2 oF 7 2 .$%29% § ) HE S § $
0856 $26 0 05 & 0 $2 4R s 5=/ 08
"C 5085 $& 0 $$ 05 $0& 24 08 6 7 000 5C5
W 6 0 O 7 2 $ 6 5 107 072 08&
$2 C5)8 § 2 6086 /5 $06 $26 0 05 & 5" 08 -
$& 7 7S 2 82 058 b0/ 8% §
&2$2 088 S /Wb $2882 44 0 /% 5" 08 "2 §2
05  $I07 00 0 & // 5) /8 62 05 56 L 6 .
) %0 2%/ $0& 24 $/% 582 w6 05& 24 §
0 s /2 1 $ %2 06 8/ 0§ §H 2 i &2 2%
7 00 0 & // 5) /5 62 05 5 6%2 L 6 /& .%
$2 /5 $10 § %$2 /5 $10 § 520 5) /8 5
/ $2 7000 /7 B o2 0/ 7 $2 08 S0 77§
7 62 05 8107 000 /1l 2<02 7 524 §2 508 &2
/5 ¢ $$28% // 4  582% )  sn 7 0 ( s
w0 $ . 6 20 5)/8 A 62 < / 3.
% 08 $7 8 7 T 2% 77 § 5) /5 A2 2 <02 & 0: §

4 $6%2 o 7 2 4 015 08 $2 O 5526 & B 5



e )

Y $0& 08 6 $247 000 $& " 0% & §
$& :02 $ $ 05 % $2 $ /5Y8 0% $§ / 005
05 "2 2 / 4740 405 4 & //5%$20/5 $%0 § 5§2 e
20 & & $$ 08 6 7 000 $& " 08 05 08 & $
/5Y 682% 0% $ / 00 24 $ 8 S // 4 582
» s 7 0 (2% 7™ "/ 0 % . 6 $25 &
§ W05 20 & & $$ W08 4 ) /8 & $ /5X 682% 0%
/ 00 6 $25 & $ 08 24 $ 8 $ // 4
5§24 )8 s 7 0 (2% T "/ 0 i
, 72058 $20 7 008 § § &2A721082 "R 6$2 6 & $2 %
/5 $10 $ 582 "2 §$2 8/ $i7 82 V7T % (
F.100 $8 282 08§ /7 80.% /747 2 % & 0:§2$
/5 ¢ § i$ 5 8% $7 $26 0 05106 0
2 % & 0 O/ TH5$2$ 5/% $6 /78 6 $2
% $0& : 40 & 0 $$ 2%/ 0 D77 $ & 085S
08 LS 2% = 77§ LS $2 05  8I0 4
2 2 §$2 26 & /5 $ 07 % ( £.100 $$ $2
0% S /  $0.% /7% $65 $2  $2$%%2 48 $/5 si0 $
582 6 $2 $262882 05 $& b kv 0§ 7T & b o2
6 & 0 05 $1$2524 0667t $/5 %08 7§
L0856 ¢ 4 05 08 W08 6 $2 Db 0 05 & 0
$2 0% $24 /% $24 ) /3% 03§ $ $ 5 7% "
20 $2$24 408 6 $2 Dt 0 0§ W24 /46 824 4
s $ $ 5=7 . $2 47 00 0& // c 5
G2 05 5% 7 L 6 6 $2 Dt 0o 0§ .
JHhH856 8 k05 08 108 6 5) 7 00 0 & 0
2 24 /%8 $ 582 § 2 08088  $$2$8252 4
7882 % 682 08 & 6 $2 7 00( 0.
¥ 05 $20 5 s 6 70006 / &% 0 05  $$2 0 0%
20 $5% $2 05 $20 7 F8 § 6 $2524 W08 6
700062 05 $& 0 § BT $28W$2% 77 $10 § 257 $ 5
$2 05 5 6%2 L 6 /% $%7 000& // ( $258& 5
& $ 24 $2%7000 $05$ %$25/5%2 6 0% $ / 006 $2
0 05 582 < /8 24 $ 8 $ /1 4 5824
) osn 7 0 52 1 Th /7 0 8%
8 "
¥ 07 /& $ b S $2% 08 t0&S2$2 ¥4 085 84 § /5
$2 4 7h6 /%S &
D2 05 $& &0 6 526 0 08 0 $ 6 $2 & $
0 0§ 20 65 &2 /Y TT $ 828 7T $& o s
7805 $ 77 $ 0 6C 5
D2 05 § 40 $%2 652 &S 0 05 &2 0§ $ 6 %2
0 0 0§ 0 S/ 08 6 $2 6 0 05 $2 77 $&
oS 7805 $ 77 $ 0 6C
D2 05 $ 40 $$2 6$2 &S 0 05 &2 /Yy 118/

$ § 826 & 5 $2 08 $& 24  ®C - $ /582 7171 §



46 24 § 3 0&%2824 )8 s1 7 0 3
7082 77 882 282 0
05§40 bos2 0 0o 0 0§ § 6 826
0 05 2% 77T S& 0 7 806)/
"$2 % 5 77 s O 78 1T 8% 12 6 /7 8/
28 //5
% 787 $2 0 & 5 56 5 0 6 ) R (&
b0 $2 &0. /8 AL 682 5& & /% § 2% T8
7 $88282 Bh o6 0M S8R 7 87T $2
D2 05 §$ 77 § 0 & 20 72 67 88 T 8
77% % &4 485 0 8 H/5 $56 0 § 7 8 &
0 $8 6582 05 $82882 77 $& 0 §$ , )1 4h 0 47 828
/5 $8 ,)1& 084 4046 &% &/ § $ 827 %
0" 68 2575 %0 W7 7 T8 & 0 47 5
> )3
+ - " 9 46 g
* *)y =/8$ $ 6, 7§ § 0 ) 2 M4 oS08 *u 085 &
&$22 § 07TW/%0% 05 $20 /% /05 71§ 56 0
2% /08 b6 8
B0 2 /75 682 *u 0% S &822 0§ 07TV Y 0 7 $67 S0 6
7 /% $2 7 0% 0 $20 /% /0 7% 82
* o085 (6 6 & .20 $7 /8  ,83% 4 &
T WS 07480 6 08 50 & 100 5 6 05 S0l
U A RN &2 2 Y8 THOY 82 /5 $605
0 T/% 08&
D2 /5 $10 5/ 0 727:82 8 07W8& 2 6§ & b 50
$ &% T27:8 7 H=, 4,59, 1 +), = *B, )+,
)*=, )+ *9=), ="B ,; -=,- D) + H - " ;-3 -
=0 "e= >, 4, 9T L, x
"S5 6 827 400§ 7877 $%/5 $v6  O0H06TS 5
0882, )20 § $2 77 $& 0 W 0§ 7 7
B% 5
%$2 w4 085 0% 700 58 /5 7 T8 75 § 587 78

6 7 % 72 06 $20 0 470%7 % 7 $7 081447 &
$ §2 /% 778

; "

-7 2882 w2 6§82 2z A5/ 7 5 0/ 20

7 6 6 008 $5/ 0% $2 7 7% 682 $2 405 /
$67 $ 582 7 $ 60 726% & 7 /5882820  / 20 b $2

0 4708 2 /56 & 70/ 0 4 &572 082

5 6 7 o 682 0§ $§$ /520 2 08 $ 77 %



9 n
: 9 7 0080 6§ 0% % 5 67 0 & : 5 §2
7210 B57 0 & 67 7 § & 5 84 $2 00
- 7 008 66 5 067 0 & 828/ 70 05 80
{6 605 54 $2 7 § § 6 4 0 78 7 &
605 0 % 0 8% g % 7/  $0 8%
s woo 7 0080 66 5 0 67 0 & :§28/ 7082
0 §0 Kk 6 60§ 5% %27 $ $6 ¢ O 7TH 2 /%0
$ 7 7 $ & h$26 605 5 b 6 4 05 510 8¢
77600/ 7% 6 7 8% KO
s : 0/ 600 7 008 6
6 5 / &2 7 7 $ 8% 0 4% 5 4% 08 0 6 O 00
-84 06 $210 8 v 2 )2 6 000 B $
0 7%
s } 7 0080 66 5 0 67 0 & : & §2
0% $$2 6708 4 / 56& :h & /1§ i 8%
s " 0/ 600 7 008 66 5 0 67 0
& : 0§ $ $2 0 605 $0&02¢ $ 7 $ 72 7  $ 0
-84 06 $2i0 §8 4182 )72 6B 00 T$
"< 0/ 600 7 00% 6 6 5
/ 67 00 O § $52 0 605 $0&02 $ K$$2 0T
& 1/ 6000 - 8% 06 $210 S8 4 $2 )2 6)T D
0 7%
" 00 $& 5 / o s $ $2 0 6
05 $0&2 &02% / 0 02 § 0% 50/
. " 0 &5 7/ o s § 52 06
05 $0&2 &02% / 0 02 § 77/ % / /6000 7
. " 0 &5 7 o s $52 0
605  $0&2 &02§ / 0O IS/
0 # “ 40 4% 6 05 S04 $2 “§ BT2 W0 724m
/ -84 06 9207 $67 S ¢ 42 T2 5=/% §
0 78
+ " / 0 o s / / 08 0§ 3
/6006 072 030 700/ 7/ 6008 7 W & $ 00 74 §
44 - 14
9 D
" 9 5
P+ $2 B 7 9 $ 5T 7
"y $2 = § 451
$2 § i =h § $70

$2 7/ % 2 /5

+
+
+
+ §2 25087 2 /5

N/ A\



"oy

2

0%

+

00

108 5

/%

$2

Bl)
B)"

o\ N\
N H

o/ S

"N+ 2 ) 129
2 5M" % 5

/ 689 021/
+ s21
B SO 2 7 /0
B :% B $

= = JB) MB "(4}

BT ) 470

"R08 §
2 72"
0% I

9 02w
s, T
!

b H0S  $

(& )
/8 36 &% D508 0
N7 B $
"7
o7

B $
02t/
B $
+ -0 7B $
38 $ 0t 00
B : %
or 00"
Of 00" hHU0$ S < o W7- B
Of 00" his 8 <§ ) 47
9 b 08 S
/ B $
7% 0
39 i <
/ 689
7T &
0 00"

b 408 8

$5- $ 0
021/

§ 40§ S
P2 1085

2 1085

2 {085 §72 1085

36 & D508 0

, )505 0

PO 2 7 /70

mw +

0 00"
.8 7/

TS

2 1085

/%

-0

§ 408 8
B §

B §



/% )

, 1§ B)
0572 5

B).,

, 102

)5 %o

+i0$ 5

3§ oMy 5 <

C i0 "
f7 8t "

o\

/8 D508 0" %08 &
b B §$ + 82 04

)72 0t

3704, T (25 ).

308 T 9 02w

9% 75, 7%
$ L, T8 (25 %.

& 1 )

0572 5

0572 5 147 708 &

0572 53 0% < K&

0572 5 0572 % 5 7 § §

PO S0, 7% (H o <HT)=".

% "S0, T8 (97 0
s, 75) 470

$ 9 o

" $

B} 108 5
7§ 0<" 4 $io

) %o
) %o

+0$ 5

., /)8 40
P+i0s 59 + $ 72
§+i0§ 5< 4 $

9%7 0

3§ Wom/hy 5

705C 10
7% )8 40
18 7
C %0
B 00 7 8
"4 S0n
B i 78
&B
29 /25
DI <, &
f7- % 0
7- S O0< OF 00"
B & 12 5

b H0s  $

, T8

3084 < 057
$ 9 02w

- 16B W

0572 5

0572 59 % §
728 %7 0

0572 5A
, %02
+0$ 5
A 5
7 Y7
D 0% I$ 78
94
"4 $i0h
7 08C 0
318 7§
C (&, % .
B T8
2% /25
7- 8% 0



9 D
B $2  #70
B
9

B 017

Ok

250470
, b b

-y

B)

o\ o\

5
PB $2  $70
B $2  #70
pr 72

T T TR
, /2000 1 72
¥4 )/ w02

P)/ 102

B 07

B 07 2 5M9 §
B 0i7 6 7
PB 07, 7%

0
7§ 0 78K
"0 TH
Voi5 0 T8

0, 7%

= = JB) B (4%
77§ - $ B)
T8 = =
$ 8

04
O

P+ 2 , -7 &
/ $< 5D  00B
+ 2)% 7
) $0) 40
§ 7
10

oW+

)
057 5

7 - 8
-7 &

0<" 4 $iok

P 25070
250470
§ /250470
8 )% o0

-y
T 2
- 4% 0)$ KO

7 )8 b0

B $2 $70
72
B

Y 02

B 017

+ $2MD 00
$ 25007, 7 &

250470



9 D
" 9 5
- b B B B¢ #0$ 5
2 729 02/ B $
2 72B4 10$5 + & $70
,4 0 D BH00k
& ! )
" " 72 5 " 72 5
007 )$ 40 %7 9 0
, 0% )$ ko0 2408 ) 47
" 47 )8 %0 Bi00t 0
" Bi00f 0 2 5
" 0% Y
" P- %% 0, 7 & ;o $2Bh 0§ 5
" - % 0)$ 40
" 2 5
o - b
b 308 7%
9 5 .4 0%
$ Yy D :
Y7 D : B)D )7 D :
24 I 45" 4775 $ $
1$ 8§ )T D :
B 2 /5 ) il
g, W72 $
, -0/ 0
& ! )
) T 45)5 40 2 4 w7
YD )7 D : 1 §5)$ 40
Y% s
72 5 )< Of 00" 440§ & <" § ) 47 s ) M7
" T2t 78 = 68 12 5
") a7
05 7% B $
$ S ) 47 T2 M
>0 " " "$ "$
= 0% " “"$2 /5 s, TH
[ P"$, 7% H "$+0$ 5
R /2= 0
) T
2 7 "h
,66 750" 4§
) 20 "y §
) I 78
) /257 = 04
") /27 = O}
&

>7



=, -, = *--3%9
+ n
) 2 "4 H0$* 4 085 6 0/ / 6 OOk / $72% / 0h &
4 %% 66 028 5/ / 05 306 oy § / 6 OO 072 0 §
$ $724 7 0 26 & / /7 6008 7 W 66 $
) 82 "4 $0S* W4 0i5
" 082 O 05 / $27B I
= $085 2 75
9 & b $§7B T
B 7 250579 *'0010$  $
/8 $5 >$ 4 5B %
=4 8 i $0 6 / 7/ § 00 7 W $4 5
/8 $ h§2 078 ? / 6 00 000 3 .
"00 7§ 0% ™% + §2 4% $ 05 $0&2 6 6 / / 6 OO
8 I 06 / 0 O $ F $2 "4& + §2 0 7H 70 /
/ 6 00 $ 72 W7 4004 84 $0 54 56 / 6 004
072§ $2 0% $0 02 7 78 b &i$2 82 k00% 8 i $0
§$2 H 72 0 072
+ ?
9 D
+ 25 " "
e boos >0 "$ = O
"7 0 00 B $
'9+ "o+ $2 oo+ $2
- )$ b TS §+0$ 5 S0 "S§ =0
-, s, 7§ S0 "Ss =0
-1 1 78 >0 "$ = O
- /% /2470 S0 "S§ =0
-+ "§H0$ 5 >0 "§ =0
"- 3 38 T B S0 "Ss =0
"9 ") 9 B 9 0
39 i5 i5
BH B : & 0t 00 B $
-= 7 08 c 0 M §7 3
R 0F 00" b0 & 0t 00 B $
+,B 2 1085 2 1085
BB 57 $ ¢ 0 M W7 8
/ %4, T8 /8§ 00
+, & . )508 0 /8
2 36 % )508 0 /%
, /8 72 5 7§
- /8 DN 7 / §
, 7 170 0t 00 B $
=, $ , T8 , T8 0572 5
,=* , 71§ , T8 0572 5
va) , 1029 ):h 0 , 102
, 9 9% $ , 102



3 "9
¢ *-
% -

B" +

B* +

+ i 0
+ $2 25047 ,

$ 9 021/
., T8H4185

25087, 7 &

2% /25
250470
g7 T 7
7- $ 0
0572 5
-7 &

F 478 50

T 0
6 00k by

- bk 2

b %08 8k

00 0

2

5

9 D"
, 102
250470
250470
0 00 B $
B 9 0
+i0§ 5
B 9 0
+0$ 5
25067 , 7% + $2 M
D 00
25067 , 7% + $2 M
D 00
+0$ 5
25067 , 7%+ $2 M
D 00
B 9 0
C 0 M K7 S
Ok 5
Ot 00 B $
B $2 $70
B 9 0
0t 00 B $
B 07
B 0i7
B 047
B 0i7
B 047
/ $ 3
O
(o]}
, 718 0572 5
25007, 7% + $2 M
D 00
25007, 7% + $2 M
D 00
C 0 M K7 S
250470
+0$ 5
C 00 M 7 S
, 1% 0572 5
25067 , 7% + $2 M
00
- by
'y
b

- 4

- by



+ :

=)
3

) D

25"
- 00%

) T

) T

)
72

5
D
102



"'903,=+,"9 +

--*91* -1
H®$2) 5
C57 9™E4 9" 108 -7: 0:49 ) 7 4y

5o H $25

-2 B 7% Hi0O5 ™ $ BB H - 472
)2 &

1
2 "+ 82 6 00f O /i 5 &k 0 60/ 7% §E $ &Iig2% $2 2 $2
7 ¥ 0$5 C / 4 0 /S /507 0 7 7/ $ $2
/ 600 0% 2 $27 2 /§ $60 ) ‘B 7 9 §5
w7 ") 0t 6%+ $26/ 0

2 "y o+ 82 72 682 % 5"y + 2=/ 8 § 4008 7 s $2

410t 60% $0&2 8% / 81408 7 006 $§ 748 4 485 67HE
/ 0% $2 b7 $ 2 $2/7 6000 0 0& 0% 7/ $ 820
/ 600t 0O b6 7 /% 0/ 4% /7§ W06 2088 0 447

2 / 04 $20 / $ $4 5 §$ 045 / 4 2 /%1 2
7 2 8% 0 6%2 0/ THIT 072 0 &2472 % $2 THNT 7 0
) $2 U4 $0S*M 057 $ 5 1§ 0%2 84 0 6%20 7447
/ 0 w080/ / 6008 7 W7 S $$2 72 0&2 $25

§ 00 00 $%0 0 $ 5 582 40 04 $2 / § §&2
0 $2% 6784 00 524077004 05 75 & 7/ 08 §h W
% $ 0 § § 8% $0 682 / 6008 072 &2 §2 05  $&
$ 06 2 $ 7 § 605 $0%$ / 600t / 00 0 0 § 0000
8 7567 00 6 & 0 7/ 84 50

s R "o-2 R

"0

2 72 DY &is2 - i $ 507 7 (W

§72 5.7 0080 6$2 5 0 6/ 07hH 0§ 5 §) $2 "4 $0§* ¥4 085
$ 20 % 5 % 20/ 0 7§72 5/

77 0% 582 185 "o+ 82, T "TTOOW S (U, 682

"W B W OCOOTES 2 2008 7 B S &S2) $2 " 4§08

x4 08550 &0 * W 085 3% 02/% S22 w77 W/ 0 840

/% W 085 // 4

2 B W 9 $5) 7 8 W0 /0 §§: 6§

7 965 bo$% 047 b $20 6 582 6- 1085 6%2 " W7

YTHEE s 82 5(7) . 2 % "TT W " 756 4w

9  $5)% 7O("™ 9). % $ 5/ 6000 0& :h 20/ 074170



"'993,=+,"9 +

/25067% Ol 6657 0 / 472 $2 7%0/4$ $ 4072 7 87 6 O
0 724088 & O
2 7 W / 074 5) §$2 " 4§08 * ¥4 05 40 O $ $ §2
814 $0 682 * 44 015 6 "™ 9) + 0/18 0&IS27h 47 / 0 5214
6 8 4 $0 )$ $0 02 7 0 §$%2 72 0 40 0 6$2 0/ 767

2 0/ 06 $20 8% $0

77 0 5/ $ 0§ S0 / i7 08 $0 % 0 b 0% % 5
72 %085 5&102% 7 7 %6t B 7 9 )7 $i0S0 2100 / 00h 6 $2
0% $/ 07 00§$ 6 6 $2 84 0 6%2 * 4 015 $2 2 0/%

=4 26 0 05 68 $ 5 05 0 08 //5% 00 $
/4 TR MTT/S T 682 3 M 08§82 0 % 5
/ 0§ % 582 Lo S 6 ¢ §2 74N/ R
00 05§ 087 /$ 62 *14 0857 0 8%  S0/% $
Yy o2 THW 5 2 4 /48 4 0 T/ 8 82
* 14 05 6 $§ BOSTHIT / 0§ 77 /808  $0&S$2 008%2
7 %4 4 0505 "$2 2784 77 /8 70 $
Yo%2 0 4 5 25 7 W /% 080678 57 / &% 652 088
00F T 4
Di$ 46 & $82 s Thw / 00 4% 2 2
*U4 085 Th + 82 40 CTT/S T TS W/ T4W 7 0 8% %0
/% /T 08 6 20 % 5 / 6 %0 5458 72
/4 Tvs o/
0 6 % ¢4 g 8t 482 |
7 %0

& $52 06 // W0 7 %47 4 $& & (D.7 00 84
.7 0 05 4% 7 § ] 7%

5 !;7 7 " _ 2 " " & >1 v
46 1 ) * o
"9+ 31§ 0§ W 9 Y7 BB 38§ W)/
9
+

b5 , / 0%
38 8§ & 7 -072(D. B" 77 0" P

) §2 %0
B7 & 5 16 006 9%

3 5 "o /8 0
*= 4% 5, 784 PP Y- - b

46 1 O [/ =0 - 4
2 2 1085 . . +0 5
5 72 w0ss . "= b9 <gsI 50
s o ! " 241 <+$2)T
B" + )5 $0870 . _2h% 52
, 754 OPPP A

PD ¥4 % 8 % § 2& 08 : & 202072 &2 6

PP 5, 784 J-7 39

PPP, 78 0 A
-7 % 047
+,B iB § +3)
"9 -,B,=3"99" -" -;) 3, -, + *2) A



"993,=+,"9 + "A

b $ %2 77 5 A $S 2 0 0 7 /$

+)3"9 9390, 3 -.;,"- >
3 b /7 4 20/ / 002 7 08 6 $2%0/ 777 00
7 %0 "// b $56 $H7 82 0 iM% 82 $& 4§ 616 $2 7h 47
/ 0 008 28% // 4 / 0% 7

38 % $ B W9 $ 5)7 7 *4% 5000 + $§ 5+ 0% 010

3 513 2 $ 5 f% BW % 5 %% B57 5 hi7

o 5 %4 h72 40853 0% $% -0 72
n n n 1

2 "007h§ 6T 7 "% o+ $2 6008 0O/ / 0%2 0% $ 6

oot § / 6 OO / 0 $9 9  * 4 085 " &0 * 4 015 $2

Wo0h 0 " j00t $ 5/ 6 00 072 0 7/ $ $ 82 "

/ 810 84 $0 6%2 44 072 )$ $0 02 7 0§82 $ 6
$2 072 662 h 7247 § 07 $% $2 § 7 81 $0

¥ o0& / $ $ 6 ) $2 4§08 <M 085 &S2 00 TH$
= Bty o+ 820 08§82 ™) , T8 8% $0 6
) 2 0& 082 $ 7 8% 0 682 7HiT 7 § &2i72$2 5 &
/75
"/ % 06§ 06 $$2 K 4 5 67 06 & "y o+ $2/ 0 08
$ 6050 05 6S2 6 5 §) $2 "4 HOS* M 085 2 & 08
77 /8 6 7 00$ $ 06 0t /48 4 b
0 8% 6 $2 "00THS 6)7 7 $) 2 "4 $0s* 4 085§
/484 0 $& 7 0 BE o6 s 7882
CF 5§ 087V tE o+ $2/ 0) 7 0 8% $2 "4
+ $2 600 0" 1005 O O$("+ "
- $ =
2 L "V 2 $2 0% &A72 $& 5 "0 TH$ = 5 $
) $2 "4 S0s* M 085
/ = § 454
/s =4 § $i70
/1178 2 /5
/ 2500 2 /5
/ )/ 129 $2 5M" 4 5
2 /$ $0 60 5 7 i $ $ 8% 06§ 7 4§ 82
Bo& "t o+ 2 / 0 $9 9%  *u 0 05 $2
W4 015/ 0

77 /1§ 2 /5700108 $(UO0 Th§ ¥ )TH 7 =
25077 2 /5700108 $(M00 74§ 4 YT 7 = .
- k% 72 5(°00 7S 72 )T 7= 0.



A "9%3,=+,"9 +

! $ 40 $2 0 2 7/ 0 §$tHs 2 6 ) $2 " 4§08
* 44 057 7 6 $ 7T hs 82 &S
"o+ 82 0" 4i0

) $2 "4 S0s* b4 0185

5 17 1 + 9 1 % 1 '
" 40
= § 25 050/ &4 [/ 4 $d $ 7 7 / % 0% 4 /
254 0:%0 3 0§ 7 5 §7h W7 0/ Ohhir 0072 0
7 ¥ 07 % § $2 2514 40%0 7% /% 0% &50% 4 / h$h
2 $2 "$2 2  0$525%h Y0S0 & - &i$2 4 b /% %00 4 /
/ $ 7 185 $ 2 $2/7 03 s 7 /7 5 W 0 &I
$§ 667 0 $ 254 4% //5%2 % 0:% 0 D& b2 7 784448k O
b7 6647 $ 0% 00 h 405 $ 254 7 8
0 72 W 6 $ $ 8 i/ $ $ 40
2/ & $0 400k 8t 06 9 9% * 4 0% 0& 0
) $2 "4 $0$* 4 050 8 $0 6 ") 210 / 7
o $ $ §2 8t 0 6 $2 072 0 ! 7 /% 07 W/% 6
) 2 10 , 1% 814 0 6 $/ 0
46 1 . * o 1
"9+ 38§+ $2 6000 0 BB 3S s W)/
39 " § 5M 250i 5 . 9 7 Ot
+,B ) 4562 M9 = ) 82 % 0
39 07TBY ¢ 5 s 006 9
+9,= + $26 9 PP ); 0572 5
B + ) 45 6B $23 e .
- . Y
B" + 77 o " +0§ 5
) 4 3§ §)T 5 "= 19 <<l " SOP
y 3 $ M2 /005 " , TS5
) 4 BS7S - %0
PBOSE7 $& 6 § O
PPB5 0 08§ 5 -
, 708 §S 6 2 0
082 & 05 77 /5
-7 39 18 $ = 0S5
5 17 1 + 8 9 " (%% 1 '
" 40
= §% 0 §4h 080 0 2% : & 62 /47 0 6 S § 2 /

/ 7/ 4 /2 $25 &% 2 10 =h &% O 5 b4 4 % 08 /
0/ 400 6 0 447 0505 06 % O%$ & 0072 020/ 0 /%0 0 072 08

/ $ 0 % 2 150 $2 2 78 0 72 %47 L9 O
/4 $ 16 0 4706 /% $0% 20/8 0 Oh 2 0 7%470 75 Ol
6647 0 5 H 8% 07 0 b M0 /0 $ 18k / %7 0

0 $ /7 4 8§ 10 0 / $ 2 2 B $ &% O



"'903,=+,"9 +

o/ 0 6 07 / b / / % % 072/ 70 020/% 0
o 2 07 / 5768 %0 072 0
) $2 "4 $0§ <4 085 6 O 00 7§ / 0 &2472 / 4  $2
/ 8K 7 006 $ 7 F§ $2 6 $& 5 0 692 72 0
/ 06 $2" &0 * 14 015 9 9% * 085 20 / 07
o $ $ 814 0 6 $2 072 0 0&
/ "% 1 '
2/ & $0 $2 4004 8 1 06 " & * ¥4 0%5 0& 0
) 2 "4 $05 * ¥4 0510 8% $0 6 ") ! 7 /8
07 /% 6) $2 10 , 1% 814 0 6 $/ 0
4 6 1 * 1
"9+ 3% § + §2 6000 O BB 3§ § 7))/ b
39 " § 5M 2508 5 " , 9 / O
39 o7Bi7 % 5 +)) D MYE St 03M
+,B ) 456 2 0$5M9 " +B "SOM3 0
B" + 77 0" P = ) $2 %0
- $ 48 1% 006 96
): 0572 5 ,
) 3 38 $ )T 5 - - b
, "'T84185
& @ 5
Y-+ “$t/OTH B
, 9 “// 720% 9% §
+B 38 § 20 07/25
B*+9 90§ ¥ $§ B 07
+ 3§ § 2% /25
# 1M
, T84 0% §8 6 2 0
_ _ " & ( 1 L]
2/ & $0 400k 8t 06 9 9% * 4 0% 0& 0
$2 "4 %05 * ¥4 0510 8% $0 6 ") ! 7 /9
07 W/% 6) $2 10 , 1% 8 4 0 6 §$/ O
4 6 1 x n 1
"9+ 3§ § + $2 6008 O BB 3§ § LI VAR
39 " § 5M 2508 5 " 9 / O
39 o7BY7 % 5 = ) $2 %0
+,B 2 10§ 5PP " 156 006 96
- $ 1% ,
); 0572 5 - - b
) 3 3§ § )M 5 +0$ 5(2 0 6
) k); <9 , T84 .
= b 9 <oty "™$0
(G 166 $ 0.
, "'T84185
, 1% 0( B $2.P
# M
2 111711B
. CB
"7 5



S 1T 1 + O™
" 40

7/ % 2 /10$& :0&27 / &2 0 ¥ 024

"'993,=+,"9 +

exr

0 /8 5 /25037

Yk 5 & 00 4 / $ 7/ 0 $2 Y/ 700 0 7% /0572 7
i66:7 St O 77 /7 % $2  /40$0 0 0 75 7 % 4 7 %
2 b B4 THA 0 2 /% Wb 0 72 %2 2% 2 086 7% 4 0/ 004
7 06 4% § ¥ 7 WO0$H 6& 0
2/ & $0 00k 8 i $0 6 h * 44 085 0& 0
) §$2 "4 $0$ < b4 0510 8k $0 6 210 / 7
ik $ $ $2 8t 0 6 $2 072 7 /8 07 &/%k 6
)y 2 10 , 7% 8% 0 6§/
(] 6 2 0& : /% 7T (4 $ / 5 .k 77 /7 %
$2 /5 [/ $%0 8 %
46 1 , 1
"9+ 1§ § 4+ $2 6008 0 BB IS8 W)/
39 "§ 5M 2500 5 - 9 7 0ist
+,B< +;) ) 786 2 < 250< = ) $2 0
25007 Y 7 " s 006 9
+9,= + $26 96 PP ,
); 0572 5 " B2, 75 P
oo =4 / $ 0572 5 - B
Y 3 18 5) T 5 " +H0§ 5(2 0 6
= 1y 9 <ot 50
6 )
, "TSUSS
, 7840
# M
"+ /D"
. cB
# BO 5 .4 (
5 1T 1 + + " &C '
" N0

25007 §2 /10%0& :$§ b / 4 $2 f585  %4 82 /%
/ $ 10 45 6/ % $00 66 § 6 bk %0
TS ATH 0 2 W// % Wy 0&820727
# 0 & T7:/% $2 110 2 §1% 0 )
$2 00/ 7h E % 0 72

/$
& 4 4% 6/ 0
0/ $0 /2507 $2 /5 2 & :h 4%

/ $§ b 1§82

4
0 0 2%/ % %047

% 0 0 4 FK %O

/2507 $2 /40808 §
0 0/ #8470 $2 /7 1470
$ 6725007 $2 /10804 % 06

0/ 7t 5 814/ 67 0% 20/ 0 74408 072 0 /%4 § 667 O /48

2 0

/ "OMHL
2/ & 0" &0 * 4 085
) $2 "4 $0$*< M 08510 8% $0 6
o §$2 8% $0 6 $2 072 0
= ./ $" &0 02 5 0(h 0
07W$  6) $2 10 , 7% 81

8 b 0 0& 0
210 / 7
$§ 6 2807 2 /5
$2 1 7 /3
$ /7 0



"993,=+,"9 + A
46 1 * 1
"9+ 3§ §$+ §2 6000 0 BB I 7Y/ b
39 " 0§ 5M 2505 5P - 9 /0
+,B 2 1085 . = ) 2 0
+9,= + 26 96 PP " 1§ 006 96
B" + )$ $i08i70 ,
- - - 4
- "/ )8 $08706 +$2 6 *=- i
, + 2500 56, 70 (D. +0§ 5
*3) T,/ 4% 250(703M B 7 <,7 508 OPPPP
): 0576 0 M) 7" = 9§
): 0572 5 = B O7TM"$"// Th &
): =4 / s 0572 5 ) "T5AI5
, T$4 OPPP
*=, 784 0 A
B 7 & SPPPPP
B b 5( 8 66 $) 2 J) " o+ 2 40 .
PB5 0 0% 539 b5
PPB5 0 08§$ 5 - $ 1%
PPP 6 6 §2 $$ A O 05 7 %0 81 7814 002 720 6 047 8 7 00
0i 007 $ WM 0857 00 SO 2 0 /25007 TSSO S 05 /7 W0
780 47 006 $2 788 0 b
PPPPB5 0 O0$6$ 6 7 0407 5
PPPPP § $) $2 5 §: b6t &
, T84 08 e 8S 6A 2 0 6&2472 08 // M0
/ 9 46
" & * 4 0%5 84 0 by 7 $id "6 b o7 7 / 81080
7% / 810 7 00 %2 &0 77 /% 6 07 7
7 $ 7 00"0 8% 10 by 6 2 06 0 4% & :
/%7 $2 0/ 40k 6 7 0 /25067 $2 /W08 % § 0$$&  HOSh 7$5
6 $/ % $7 O 0 & $H2 0 bt 03 0/ §t4 LIV I
0 3
_ _ " &@ @ 1 ]
2 / & $0 9 O * 14 015 400k 814 0 0& O
) §2 ™4 $O0$* 4 08510 84 $0 6 ") 2i0 / 7
foh $ $82 814 0 6 82 072 0 2 / $9 % 0 <
5 0% $2 1 T/ %8 07w 6) 82 10 , 1 8 $0
6§77 0
46 1 * 1
"9+ 3§ $+ §2 6000 0 BB 188 7Y/ b
39 "§ 5M 2505 5P . 9 / 0
+,B 2 1085 . = ) 82 0
+9,= + $26 96 PP 1 006 9%
B" + )$ $i08i70 " ,
+ 2508 56, 70 (D. - - 4
_ *=_ h}
3 9*= 2 0 *= & 5 +0§ 5(2 0 6
+3) T,/ % 2501703M B (+D)
): 0572 5 = b9 <okl g0
), =4 / § 0572 5 @ wwo$ o
DI I , T84 = *=9  <OiIy "0
" , R4S
) k); *=, 754
*=, 7%4 OPPP
, T840 A
PB5 0 0888 539 b5
PPB5 0 0888 5 - § 18
PPPB 5 & 10 $%6/ 4§ //58 " &O* W 05 0& $20 $ /7 W0
, T84 08 B §8S 6A 2 0 6&2A72 05 // WO



A "9%3,=+,"9 +

9 9% * 14 0%5 " 400 = - 8% 50 1 oor ¥ § $2
25047 2 /5 9 9% *H 085 8% 0 "hoom 7
/ 81080 $$ 7 0 0% &0 77 /% 6 5% 06
7 0 "0 8% 0 b4 6" 2 0& : /% 7 (4 $ /5
o /25087 $2 /5 7§ $ 6&2472 05 4 h/ % $0 %
5 V17 1 + "o- + %@
%? 1 '
" 40
)Y 72 / $2 40%0 % %65 00 00 $ $/7 0 0 &2 0/ 72
10 0 &24 b {0$0 00 00 $ §2 % % /% oo 0
70 2 77/ % 0 77 &2 7 W7 % 4 b4k 07 /7§ §h
05 6 h% &i§2%2 $2 2 %0 60/ 72 / $2  %0%0
b 0% 4 5 B0 2&4 [/ 4 78 7HE7 0 47 08 b b 0 &i52
7 W7 % 50 0 3 0o/ 72 2 4 74 %70 $2 5 5
b/ $5 4/ W/ $ 8 8 $/ I /48 7 7 § 0
$2 6 7hisk 0 $2 5 / §$ 6 3 2% 4 /0 730 § § $
/ 3 072 0825 52 / his § 0 4 /% i / / 0
7 0 / 0 / 4 % 62 b 0] 0 00f0$ / 6 00 0 &2 7 00
7548 0
2 / & $0 400k 84 06 " &0 * 14 045 9
9% * 085 0 & 0) $2 "4 $0§ * 44 0510 8 % $0 6 ")
2%0 / 7 o $ $$2 8% 0 6 $2 072 0!
7 /% 07 4/% 6) $2 10 , 1% 8 4 0 6 $ /7 0
46 1 , * o 1
"o+ 3§ $ + $2 6008 O BB 38§ 7)/
"o+ 18§ )/729 $2 9 / 08
39 " 0§ 5M 2508 5 = ) $2 7% 0
+,B<B" +< ) 756 +,B B" + 1§ 006 9%
3 9< +; 39 +))P oo ,
+9,= + §26 9% PP R -
+3) L,/ b 2504703 B " +H0$ 5(2 0 6 +3)
); 0572 5 ( .
) =4 / § 0572 5 " , TS5
) K )5 < ) 786 ) 3 ) , T 0( B" +.
9) , T84 , 7840
= U o§ 9 <ol "0
® 6§ 0.
PB" + 6 "< Q9% 77 /50 W b 5< 250170<B $2< 2 408 5
PPB5 0 0§ 5 - $ 58

, T84 08 8§88 6 2 0



19 A

: 0-0,#

H®$2) 5

C57 9"E 4 9" 10§ -47: 0: 49 )Y 7 44 [}
5oL - +

2 06 56 % 57 0%$0 6$2 08 7 b/ § $6t 0 607h S$i6i7
b4 08 % 07 W/ 40 % 05 & 6 040 $2 b §28 0
0,4 8270 04 6% 5& /7 00 28 8: 7 0

5 W K% 6/ 0 6 6 $6 2 5072 0% &S$728 02

7% & 6 & /2§ /25

2 % 5=/§% § 400 0 48 /7§ 6) $2 "4 §05* 4 015 &2 150
oot § / 4 8 #5)4 $2 5™ 4 $05 2 K08 $ 78
/2 OfE:  $2 7 4 / § 6%2 0/hiS hs 78 /25047 07
b Ok 0 6 & Di$2i $2 6 & 6 240% 05 % 682
b4 & 4 0 6% % 050 0 §$2 / §$ $0 08 / & /7 5 0
6 10 7 7 77 i 09 08 $2 4 / 700 s 0
6 07h $6i7 8 %5 0 & 0§ 4 / & 00 05 % 6 $2
o7& 0/ 0f hi$58 48 3807 W7 O $ /7 4 0% $0
&$22428 5/ / % 6 7 0% $2 % W7 b 7/ 6008 O

N
(S

£ % & 510 7 $05 & /h§6 07 0 &2i72 $2
& b 72 b D2 b 5 5/ 0 $ 0§ 5
b8 0 T2% $2 o707 70( § 5 /2506 5 7 5 W % 5
7% 5 §7.8 72 $82 7 $ 4 /5 $h & 085
4 $" % 5 0 0 $2 67247 % / / & 6 242072
§ 72 b7k #0$5 /8 8§57 O% & % 6 085 E $
2 $2 7% / %2 $2 %0$ HOKTO /4 4 5 4 $ 2 2%

2 % 5=/7% § 0 4% 6 /% 7
$ 7 W $ 72 180 08 son 7 7/ 02 /%

&2472 4 7 B / VW 7T0% 3 Oh ) 5B §40 $2
6 $ Di % -6 2 00 "8 & 5 28

/ 4 0 6 b 0 70 2 / § $i0 0 6hS &i§2D D

* §4 01510 - 0 b 72°h W7 W )§% 0 /

.8 7 W /7§ 0 b7 02/ % $2 $ $ $ $
o2 O7¢$% 5 5 7 0140 $ 2108 5 0 728 /470(0

/ . 0& 0 / f7 / 7 /8 021/ / o 7/

0 27 W
$ 6 07 00



A 19
3 $ 2/ 4 § §2 / $ $I0§ 724 66 784 00 2 7 Y7
724 4 $0 6 190 $0 0 %0 8 $ §: 82 ,)YBK I
724 4 § 0%% 4 5 2 0 %0 6320 0 0 5$2 / 3 $ 0% 66

§ 4 $ 7 006 % 0 0& 0/ 8 $0
9 ;
; ¢B1 ' "39 3 1$ $B Y 4 5
46 1 39 A
89 v 39 W o,7 5
i i 8w 072 (D 3o - 1 &) o 10
M 70 : 39 A ) BB i1
39 7 5 &
39 B 7 s 39 0% 5(D.
39 300 0% $ )7- (D. 319 Bi7 4 5
- . 39 3 5
; E -
" E 39 >$ 0§ §  +HOp 5
19 =4 / § 4 5 39 2 5
19 " § 2 & 39 .8 5
39 + g5 39 B 5
39 "F o H0$ 5
19 ot " 2508 5
5 Y5773 %7 1 ' 4"
46 ; 1 46 1
io5 00 +,B 2 1085 -
i 5, T84 0P A +,B 72 1085 -
B + 77 o PP
1 av
B" + 77 0% $ 5PP
+3) 250i70 M 9 .
7
PPD 4 16 814 § $2& 05 : t 212072 &2 4 §
5 ;17 0@ 1 '
46 ; 1 46 1
ios 00 +,B 2 1085 -
i 5, T84 0P +,B o2 1085 -
1 a4 B" + 77 0 PP
‘ B" + 77 0% $ 5PP
19 -0 e v 5 B + 3§ $0870
B" + * 703
+3) 250i70 M 9 .
7
- 5 5



19 A

5 Y3173 §3 "ox 400 1 '
46 1 46 1
b5 00 +,B 2 w085
b5, T84 0P +.B 72 1085
+.B 17210853
& 40 L 4(©) B+ 77 0v  pp
& & B + 77 0% § 5PP
5 B + ) 0870
- 5 B+ * 70
5 . ) 25070 M 9
1 4
. S
39 -0 728 & 53
B $T/ 0 6B s
5 17173 § " " §>  wB1 '
)7 57 §6h7 & % & 5 8% 0 77 $ 7 0% 6 7 10
60/ 746 h 57 00 b 72 4085 0/ THEh 7 $0 7 /% b
/ 6 00 7% 7 00(/ "6 i 0
2 0% $ 08 //56 3%t "t 00f § $2 2 , 7% (0 55
$2 682 072 5 .6 7 /& 814 0 0 §h
"IBD)Y - L= -t 2 )2 6, T 0572 507% 682
3 % 00k 0 8% b $2 09 $7 W /7 #4404
7% 7 00
2 0% $ 08 07 /3§ /747 8 $2 8 $06 ' 40Ok
$ )8 $ 724 b § $2 / 600 0 05 $2 08 $ 08$: / 00
2 -"#) B 0 J 8282 /7 /%$ 0 7% 62 §7/ 0 69 b
724 2/ %7 0/ 7 $3050.6 2 7 0 .
46 1 1
b5 00 +.B 2 w085
5 9 B7 i+ 5 +.B 72 085
59 et M0 +.B 17210853
19 A ) 5B N
39 "y 200 5 5. 3 L
+) L/ b 2500703
!; § H1 '
46 1
19 b5
b5, T84 0P
# 4
4 ; n ; n .
2 -0 % 2B F )$H 0 0§ 72 0 726 7%%5 / § 5D
D * b4 ON85 b o6th $ &2 ) $2 "4 H0$ * b4 OK5 $2 " 4 $i0$
7 097§ 04 i 00 $2 6™ 7 $0 D02 § $2 0% % 7 /540
706 72 $ 3 W $ 0 6$2 % 57 008§ & $210

7008% 2566 64 8 $§ 7 W02 2 DD* 81 §
0 s 2 ot 7 $7 00 66 % 00 28/<< 0 % & &




A )+ 91 3 )" =B"" B,

100-0. ; 8* 89 8 ,* *8

778 $2 282 3§ $ 00 56 b $ or 00, 7% (3 ,.

9 = >
Bi72 66 -5 -472 , 17:0 + - $ 90 ) 05C &% +5
H¥ 5 Bt - $B § 2 08 6 0 > 5 )$ = 40
)$ 9 D :0C D $%& $2
ot oo 9& 7 2%)7S8, 0= ! + 5+i7:0C Y B7
+ 5B B :D / - $;
*om b+ b
. LR+

: : 0 C0/2=704 - 00 I§ 2 0B &
c5B7, 5 ¥ B7% 10 2%B7H = BEB7 ¥ 0> : )72 4§

T # - 8 %, 0C ,& 0 BiT2

¥4 0C Y B7 = 4 - B :D / - $;

. 5"% 5 b 2 -5 24 0! |

1 &= 51 B BTH =9( §.C20 = )2/

2 W00f 682 )72 6 O 00 B $ 40 &2 $2 00 6
) §$2 "4 $H0$* 44 015 2 400% 652 )72 6 0% 00 B $40
$ 4 / 24087 § 05 00 0&2 5§ $ 1 & VAT
&i§2 24 2 4 0
(0)24

2 7 00 / 0 66 582 )72 6 0% 00 B $

(0}} $ 7/ / 0% $0 6 0F 00 $ 7 0% $2 6 7/ 6% $6
/ 60785 0 < 6 6 $2 $ 7 8
2 K 7%4 0 682 072
4 $2 0% $ 7: 6: & 62 6 $ /10
050§  &Us2% 6 & : 6 $247 boh 0
000$ $2 08 $ 4 4 /Y 0 240% /2% 0 /25 % &
7 $ 7 Y7 4% $ $2 4 72 ¥ Of 00 & 6 $2
63
/ 4 $2 0% $&182 8 85 7 7/ &i$2 087 Of 000:%0
8t 6 hE K /7 $
7 )4 $2 5" 4 $0$ 0% 0% 0 4 0& - 0 b
/0t 0 6 0h 00 024/ &i$2 EE$ 0 0/ O 5 $240
P& &2 // 5 W0 4 4
6 05 &HI$24 0$ 0 7 i $$ 7 7 7 7/% 60 47

h 82 & /7 $ 7 i85



)+ 91 %3 )" =B"" B, AA
/ & $2 70 5 7 o7 6 $ 7 4§ $
/ 0% O 00
4 6 " ; |
20 / 0% / t 82 )72 § 0y 00 B $ 08
7 /7% )8 $)8$ $ 638 5 / $6246 02 < 06 5
206 W0 4% § 5 M0 1 00k $2 6 & 08 /0 0%
7 /%
37 4 6 02 72 6 K O $ 06 05  $0&S2 00§2
0 0 2 0% Ot 00 087 / §$ 0§ /0 0% &
) 0% 06 ¢ &2 $2 0 05 2 0% O 00&2 24
7 /% 0570 05 //5%6 00r kS$ $2 ) Bt §$ 5
/ 7 /% 6A0 05 2 06 O 007 00% O 7 $
) $2 2 0 05 O 002 § 0 & 14
7 % 7 $7 00
20% 7 00 0 7 /% &$2 i §
*r= Of 00) 65&
, 9 / Ot
B" + 77 0" 2 2
0t 007 K7 00
" 56 620 04 7 00 0 7 /% &2 6 7 0 6
by 6 4 0k 007 00
F7WO0 6M77 & 3
§ W0 6M7T7T & B
3% §s 77T S 3
BH b7 0 6B 1 %
*r= 0f 00)/ 02 %0
, F7W 0 6B 7 7 §70
B K7 0 6B $
74T 0ot §$$2 )72 6 Of 00 B $
74T B 4004 08 § 7 /% 0 0%
2 06 O 007 0005 SO 05 //56 00r $ 2 ) B 6
7 /% 05/0 0k 007 00$: 4% 70 6 0 0
2 0 6 77/ 7% %82 )B 5 $7 §$$& 0f 00
% 81 50
7478 ) 4y $$2 667 652 )72 6 Of 00 B $
) $2 M4 H0$*< 4 08520 7WM O/ THE 77 %S 6 %0 Of 00
ot 00 § 7/ 02 23%2 3% % "00 56 5§ 0h 00
, T8 (" .. $2 H 00 26 & / 0 77 0% 582



9

) +

9 1 *3 )" =B""

72 6 0 00" 440§
72 6T 7 0% Or 00" %U0$ S / S
D 00B $9 bH0$ $t / 6B
)/ $0)$ 40

BOS 6 0y 00" 410§ %

B0 614 7% B $

BOS 6)7 7 & " 1108 &

; + 2

¥ 05 %07 " $2 K 0 & $2 08
/7 )72 § O 00 B $/ $2 7
05 47%  $ § 6 7 %2 0/ 0 0§
05 S & b /% t7 % 82 085 7 0
7 %4 ) K%/ 40% )8 0 08
7 7 7) ks by § &84 $& 0 0%
0 %0 6 $2 /

4 6
"oy 7 S 6 §$2

00 &2 0 & $2 20( .4 $2 )

0§ /

2 6 & 7 00B* , "H, & O 7 $) §2
* 44 0854 4 4 0)72 6 Of 00 B $ KO

10
0

"4

185

$10$



)+ 91 % »"=B"",B,
;71;71 D377 ( ) 1 ;1;1 105717 g 1
= $2)7M9 , 46 0(D. ‘ ‘
=TT “) f o0 00" “‘( 1’3$ ! Kl (&‘76$ $$%/ 024/
v, 0 0on 7 B ) "o 0B s
B 0t 00)$ § & 0(D. - 2 w20 0v7 7 s W _
A
LI 72 F 810826 & ‘
7008 Sz % oo 7 R T IO R
5 B / 08 M 650
Vo2 oor ¢ A 2 2 0% 8% /0572 57 0 z
" 5
788 3% 0 00 7 $ %
v, D3 /§ B $ B 18 % oM ,7
»oo® 2 047 7§ 8& _ B - B§$ B $
A 2 2 047 7 88 _
A
77§ 788
" VIR B A 5
»oo® 2 0v7 7§ 8& _ BH - ) 0B $
A BH B :8% )5
2 2 0%v7 7 88 _
N7 7§ % A
r -, D :% /8 B $ 8 5
»oowo 2 0T 7 8 M = - 38 s 2/ 68) TS
A B ¥ s wBS /6 (D
5 2 B 2 07 7 $ & _
B $ 7 %% A
B 9 v €8 0 _ 5
Yo% 2 0v7 7§ 8% x g - PR—
9 "9 1 TSR
9 B $9 1 7HS
9 + -0B &B:$ 9 17
9 " A 9 38 02w -
2 /%2 $ 0% 0h 00" HH$ % $ 4 $ 24 7 Y7/ 00
§ 2 )72 Y4 $ 0§ 72 66 7814 00 0% $0 &2 [ 0% 00
$ 6 0& 84 $
$/ § & $2 4 05 & $ 0% 7/ ] 7 8
7 $08% O 00/ / 582 , 7 0% ) 47 (,).
boo$2 050 0% 682 % 7 W7/ 210 $ 0% 5 b $ $
h$ // W0y 7 0 57 0358 /7 $ 632 6 $2%7 0
/ $8 72 4 % 06 7 009 : 720 0$
/ § %2 ) & ,8) 4548 4 &&M252 = VAR $i
+
2 )72 6 0%2 6 & 0
72 6 O 00 ™ k40§ S ( ", &l$2 oW M 7%
B $ /% 36 % )58 0B R =



1.1 1
46

SRR
W T

o= -

>

) + 91 * »"=B"",B,
Dig2t $& 6$2 0 K 0 %2 0% $§ 572 0 7 7 § &
L1 " B $
"7 $
1 7
B $ |
, $ 7/ 021/
B $
+ -0 7B $
33 S 0y 00
72 6T 7 (). &i$2 £ 0% O 00"™ ¥ 40§ S 9
" hH0s S / B $
"00 Tv§ 6)7TH 7 b7 $
"00 Tv§ 6)7TH 7 b 05 00" % k0§ S
" B "7 7 § % 6 §$2 72 6 0h 00 ™ % %0$ 8%
2 B 0% 6 0f 00 ™ b KO$ S $2 B 0% 6 ¥ T
B $ b 64 5 /
; 9
@ 1 '
1 46 1
b0 677 8 3PP = 0f 00) 6& PP
P00 677 &R T 0 7 PP
0y 00)/ 02 $0 >z 0t 00)$ $108i70
B $36 )508 O -
P70 6B 8 B" + )$ $i08i70
0 7 8% 0(D. = /% $ B $$2 1 OP
0i 009 & "t 77 0" ( 4 PP
,$2) 7TM9 , 4 0(D. ); ) "5 2 7 00PP
TTO) § %0 00 b
b6B7 7 §70PP + .3
bo6Bi7 7 §70 # 1
0 ooM 7
b0 6B $
0t 00)$ § %0(D.
e {BB 1 '
1 46 1
" 1 $D =4 [/ §
(7B $M 787 -
) 8& L4 & C *- 18 $ D =0
D ¥
/% 286 )T
! 6 §
38 § )& o, b %
! 6) 68& = O
=$§ 0 B $)508 0



)+ 9t n )" =B"" B,

LI = A " ¢B% BB 1
. B% 1 '
46 1
38 K5 UTTOB 3
" 38 K8 UTTOS B
v, D /8§ B §
*= | T84 0% "TIRY 7
“7T% K0 0 0 2 0
6 OS5 $2 " b 00
05 52 K 10 W7 0
" BB1 )
46 1 46
38 K5 T8 3
38 K5 TS B "
" 47t "
', D :t /% B § T,
*="77 0§, T840
5 ¥I57 7 B BO 1 '
" " 1
B@ 1 ' "
46 1 46
" B T s );
B + -0 70B § )
B . B S B $ );
B b6, 8 / 02v/ B
B ) 0B $ B
B E 8 2 4 B
B 9 02/t ES 0 B
*= 0 00, 754 B
tB@ 1 ' B 1
46 1 46
" B b7 S "
B + -0 70B § BH
B - / % 0B $ B
d B
B . B S B $ B
B 18§ oM ,7 B
B ) 0 0B $
B IE 8 2 4 46
B 9 02/ ES 0 BB
*=B §, 754 ,
-9
) 3
+))
);

o
o w
N3
~
*2

(B@ 1 '

Y7 0572 5

3 084 < 057

0572 7 084

+ -0 7B

B # $§ B $
E $ 2 &4

9 02174 E®H 0
/ 0% M 6150

§onTT
$ 0® B &
7B §
oM,7
# 8 B $
E S 0
, 154

D MEIE § 0
B §i7 § - % 0
D Bi00: 0



BH
BH
BH
BH
BH
BH
BH

*r

*rr

W= -

5

Xt A
B

*

wmmw@@@@@-—- M

+
A 9

B0 6777 & PP

B0 67T % B

B C T s

P70 6B : §

0 00)/ 02 %0

0 7 % 0(D.

B $36)508 0
A 0 009 &
. M2)7M9 L, 46 0(D.
e 3000

P00t g
i 6B 7 7 I0PP
bo6BI7 7 470
o ool 7
V0 6B $
0 00)$ § & O(D.
*=, 784 & Ob 00

1;77-
1
VOO0 6777 S 3PP
VOO0 677 S B
B EMTT S
P70 6B : §
0 00)/ 02 %0
g 0" 1108 S
0 7% 0(D.
0 009 &
S2)7TM9 46
v 6B 7 7 \70PP
bo6BW 7 0
0 oon 7
"% 69 1 THsS
"% 69 1 THSH
B §69 17485
-0B$MB: 9 17
"3
P70 6B $
0 7B §
2 4
(.

.
.
N

. >

+ -
IE 8
0 00)5 $ 40

0(D.

4@B 1

)+ 91 . )" =B"" .8,

46 1
BH B :% 72 5
46 1
wr 0t 00) 6& PP
T 0 Iy 7PP

w1 0t 00)$ $i0870
B" + )$ $08i70

*= /% $ B §$82 1 OP
B" + 77 0" ( 4 PP
.

# 1
B BB1 '
46 1
wr= 0F 00 )$ $i08i70
B" + )$ $0870
B" + 77 0" ( 4 PP
): A "y ) 74 $5(D.
4

3 " § 5 2504  5PP
*r= 0t 00) 6& PP
= 0 It 7PP

*r= /% $ B §82 1 OP
-,9 2108 ,$2570PP
) 3 A = 2 =5

+

# 1



)+ 9t n )" =B"" B,

)$ 00 7% $2 9 " K 8 i $ $ $2 (o &i§2 by "
, 102 07 6 A DS $0 7:% $210 8% $ 5 ¢§: 2 " , 402
/ % 682 } $ §52 44 8 $
)$ $0&2 24 / 4 05 72 10 6 777008 7
4 085 &2 24 7 [/ § 7 0 & : 84 $$ $2 ) 0% 00
"ohkog S 5 7% 72 6)7h 7 &i§2 £ 4 $ 7
/ 2 7 [/ & 6 2 067 00%7 % 9 ™ AS
B 29 " 7 00 / 8106 9 "™ A
200 7 /% (6 2 0.% %2 2 o 7 8 | $ //40 5% %20
&2 24 7 [/ § $2 £ 7 0 8 4 06 $2 $ 7 $
$2 & O%i$ St 24 744 72 10 - 00y § 2 9
/ 00 K 7% 7 4/% 6 57y § 074802 & 7 / % 6 $2 72 10
6 77 1 b O$K§ S
;1718 4B@ 1 '
46 8 01 1 46 1
" V0 67T 3PP *ri 0f 00) 6& PP
' VTO0 677 8 % xuz 0 I 7PP
BH V0 6Bz 8 xriz 0t 00)$ $108i70
*rio 18 $ 82/ 68) TS -
*ri 0i 00 (D. B" + )$ $08i70
*= A 0 009 & *ia /'y $B $$2 1 0P
AezomRo ey 4k 0 00" B" + 77 0" ( 4 PP
, 5 6B 7 7 YIOPP
B V7Y 0 6B $ + .
B + -0 7B § # !
B 9 02/ EH 0
B s wBS /6§ (D
-9 - VT OM 2 5
-9 - 1o=4 /7
BOL 8 - " 18O 1
46 1 46 1
/ 8B $ / 6B
" B P8
& 5 1 (/B) 5 *eiz 06 00)/ 02 %0
BB 38/ 0 7§ xriz 0t 00)$ $108i70
BB A 78 -0 72 v, D /8B §
BB 00 M 7 (D. B ¢ 6,8 / 021/
¢ *- Di§t 6 $2 B 4
C* - 7§ oM 72 & ©) 5 A
B A B $3% 02/ BH ) 47 B :§
-9 ! $0 6" 4 S0 x= v $2)7M9 4 0(D.
-9 - 2 - /% B . /8 0B $
-9 - V- % 0 7288 0 B ) 0 00B $
B i€ 8 2 4
D 4 B A B $38 02
B '
/ 6B $
& 5 1 (/B) 5
BB 38 7§ D
, D /25
B R om,7
B . B S $ B $
B A B $38 02/
-9 " D -t 0(D.
) 3 B § - § 0
318 I T T



) + 91 % »y"=B"",8B,

2 5 ;17 + 2 "4 &H?
1 .
: @ 1 '
45 1 46 1
0 0 00) & PP

" b7/ 0 6777 & 3PP
" b7/ 0 6777 & 0%
" B L]

%

- 0 % 7 PP
0t 00)$ $108i70
/ % $ B $82 1 0P

%t

* 0 00)/ 02 $0
* 0h 00 7§ (D

wr= B $36)508 0 +
= A 0 009 & # !
IR LD T T T R

BH 70 6B - &
, i 6B 7 7 §70PP
, V6B 7 W70
! 0 001 7
B i 6B $
B 0 00)8 § 40(D
+2"4 @21
46 1

BB 3% 3 W7 8

BB A VS -0 72

BB 00 M 7/ (.
C o*- D 6 $2 B §
Co*- &0-/ %
C*- - W7 8 oM 72
C *- 3$ $ D =0
Co*- oS, W
Co*- =" B 00 M) 7 $5(D.

+ 38§ 28 /25

-,9 - Y M2 5

-,9 ! $0 6" 4 $i0h

-9 - V- %0 /%

-9 V- %0 728 0
& (@) 5

wsn $2)7M9 L, 46 0(D.
Co*- BOOB | 9 &M,$270

5 5



o
L]
w1
—
—
[
—
—

"odH% 1 '
; §@% 1 ' " 1 '
46 1

IS
o
=

' FTO0 6MTT 3 , + 5"7 % D b
' ET/00 677§ B L+ "TD b
" B Pt S , o+ "§ o, 8% )508 0
= 0h 00)/ 02 $0 , o+ YO/ 0 DF b My
w 0t 00 7% (D. L+ B =¥ EM" o0
w B $36 & )50 .+ A TS 0
== A 0 009 & L+ < ,ob - b MB 728
= 42)7M9 , 456 0D L+ % M K
IR LD T T T R L+ " $7 0 Y008
BH F 7% 0 6B : § , + TS -/
, i 6B 7 7 %0 L+ o8 § M"™S 0 7
, V6B 7 0 L+ < ,oh § 7 M /50
1, o ool 7 L+ , UM, 400 $
B /0 6B $ .+ A %7
B 0 00)8 § 40(D , + AA "4, b 6 7
46 46
w 0 00) 65& PP B V6,8 / 024/
w= 0 It 7PP B ) 0 00B
w= 0y 00)$ $108i70
p *r= /% $B $$2 1 0
+ 3
# 1
5y v % 1 ' 5 00 77;
46 1 W 1 '
" Y700 6777 $ PP
B0 6T % B 46 1
35 PR R " V70 6777 % 3PP
15 K 77§ B " PO 6M7TT 8B
08T 8 " B E3n77T 0§
YT ) 8& 0 BH Y 7%/ 0 6B 1§
*— 0 00)/ 02 $0 >z 0% 00)/ 02 %0
o= . S$2)7M9  , 4 0. = 0 7% 0(D.
L 6B 7 7 w0 , v 6B 7 7 i7OPP
0f 00, 7%4 . Y 6BY7 7 70
B i 6B $
46 0i 00, 784
w= 0 00) 6& PP
wnz 0 n 7PP 46
= 0 00) 8%& PP
“ | x=w 0 I 7PP

-7 % BH ") 0

H*



!
t H1
4 6
B

!*
46
oo
P,
B
B
$

11
46

+ -0 7B §
*=, 784 0% 0 00

§ H1 )

7T
) 45 6,7 ¥70
yo6,9% / 02/
) 0t 00B
, 7% 0% B $&B:$

o

1
0 7% 0(D.
$2)7TM9 L, 4 0(D.
Yy 7%/ 0 6B $
+ -0B $
iE 8t 2 4%
) 7% 0572 5
3084 < 057
0572 7 08k

*

0572 5

) +

$*

IN
o
L]

m W

BH
BH

BH

4"

vt 3 ,)"=B"" B,

§ H1 '

1
Y70 6M77 B
¥ 7%/ 0 6B $
+ -0 7B §
Y 6,8% /7 024/

) 0 00B $
*=, 7% 0 0 00

§ H1 '

CTO0 6MTT B
§TY 0 6B : 8
0 2 4
) 0B $
B 1% ) S 5
=, 7540t B : &

Y 7% 0 6BY7 7 70



+,B}) -; A

1* 44
-2 )7 $
9 2 0% $+ 05 B#72B E 7 )72
K & 72 10857 / / 5 6 & b 72 b7 LI
0072 072 W7 b b 4k $ 72 10§58 5 00 7 0b7
/7y T2 W7 0 72 § 72 $82 242072 /007 5 4 "
K % 72 40$51% 0 7 $7 /7 &% 6 7 bk 7 0 72
07t $0$ 5 /2 7 5/7% 8§ & b 7 O7% 7 3 78 &7
/ 02 % $2 3 * & 7h F 78 0088 $25 &
/6 528 b b 0 &2 )b 72 w085 2 ) h 2 108510
7 (VAR AR B $ 08 5 b$ 0 72 % § 7 0%
72 085 / 6 00 /7% % 0 672 085 /080 7 5 7 8% 2 )
h 2 %085 72 085 /20040 7 6 08 07/ /7 % 6
7 0h it $#0$5 0 & 0 $ 08 5 0 72 $ 728
h 72 0% 5 7 b5 h§ 72 5 2 " 0s$2 / 6
6 282072 $ 720 /7 / b7 6 0 0 0h 00 //%7 & O
Di$2} 2 10% 4% $ 6 b2 2 Ws5=7 § $0 0% /7 4
$ 09 $0 &2 $2 - & 0:#0 700 56 0% 102
/ 6 00k /6 7 % 72 %085 $2 6 0823$ 8 0% 7: b
72 0% 5

82 72 wss5 /8 % 4 % 0§ T2 66 784 00 8 5

08 $080/7 / 5% " 7 2 7 )N h 408 $$2
6 727 0 6 &2472 // /%S $08H0 4% )$ $0 L% %
72 40$5 /75§ 7244 bk 07 6 2/ 7 & $2 0 0
724 4 6 4 % $2 472 W57 00
5 ;77 % '
46 1 46 1
+,B 2 4085 B" + 7 03
+,B 7 2 1085 B" + 7 03
+,B O %4 " 5010 _
+,B 2 10$5) % B" + )$ $08i70
+,B 25087 2 40853 (D. +3;) 250470
+,B A 3$ § -0 72(D. +3;) 250470 9

2 085, 784 0



G B @ 1 '
46 1
+,B 21085 .
+.B W2 W85 .
+.B 0§84 " 500
+.B 308 § " 500
+.B §72 10853
+B " 2 085) 4
+.B 25007 2 10853 (D.
+.B 2507 2 0859
+.B 3 72 085
+.B A 18 $ -0 T72(D.
7 &
5 1377 §; v *
46 1
39 $i70
+.B 21085 .
+.B 72 W85 .
+.B 0 $8 %4 " 500
+.B b 72 10853 %
+.B 572 10859
+.B " 2 085) 4
+.B 2507 2 10853 (D.
+.B A 38 § -0 72(D.
2 1085, 7840
-7 # &
# & # &
!
G - $ " )
46 1
+,B 21085 .
+.B 72 W85 .
+.B 0§84 " 500
+.B 57210853
+.B §72 0859  $ 5
+B " 2 085) 4
+.B 25007 2 10853 (D.
+.B A 38 § -0 72(D.
B005 5 7 2805  $0&
0 5072 0 $2 $70 $2 07
0572 56  O$k 6/ 6 00k 8 4
7% 8% $0 ( 2
2 0% $ 0% //56 34k " 40Ok
$2 6$2 0 /2 5 . 6 7
"=B3))} - ,=*=) % $2 )72
7% 3 48 00F %0 8% 6
7% 7 00

+,B) -;

46 1
B + - 7 03
B + - 7 0%
B" + =6 % ,8 $ 0
+3) 250170 9
+3) * 44 085 250i70 -
!
@ 1 '
46 1
39 ¢ 5
B + - 7 03
B + - 7 0%
B" + )$ $10870
+3) 250170
+3) 250170 9
& 1) 5
19 3 5
39 B 7 & 5
19 - "y 2506 5
)
#216/ &
' % 1 '
46 1
19 i 5
) , SO T
+3) = 07 WS4 "8 5
$ 0 5
B + - 703
B + - 7 0%
B" + 3% $O870
+3) 250170
+) 250170 9
-9 00 0% 250)7iM -
5 & 07 Si6h7 &% 07 6
7 Yy 2 )12 6, 18
O( 2 0 0% / .
0.
$ 2 2 9, 1% (0 55
/ % 8 0 0§t
6, 7% 0572 50 7% 6 $2
$2 0% $7 Y1/ $4%0k



+,BY) -;

2 0% $ 08 07 /5§ VAT $2 8 1 $06 ' 0O%
§ ) $ 724 h § $2 / 6 00 0 0§ $2 0% $ 08§ : / 00
2 -"#)RW 0 J $2%2 // /4§ 0 TH 6 $2 7/ 0 69 b
724 $2 /1 &7 0/ 7 %5 $0%0. 6 $2 ¥ 0 .
* " " % '
0 $$ § 7272 1085 0 WS 6k 5 $ 4 57 [/ &
£ % $2 o (/7 6 5 $2 $70 $2 07 7 &¥2 07 5
7 %67 H .7 /% ¥ b 72 Y0$5%2 §4 7 0%$2 7 0 0 40$ &
$ b / 00 $2 -"#DHRH O 0 8% 6 7 H6t7 S 4 72 H0§5
4 6 1
+,B 2 4085
+,B 72 1085 -
*// =Mi0h P _
5
5 5 +#1& 4
5 2 @1D 9 # 2 @1
A
1 ¢ H1 '
4 6 1
+,B 2 10$5

P2 1085, 784 0



)+ 91 B>*3

100-0. O + 8,

9 —i7:+ $

. IR 0 €2 7: % Bi72 = §$ 50 + b $25=H 0
Db B

2 100k 6) $2 " 4§08 * ¥4 0510 )72 6 /% W08 /7 &
/ 5 210% b 4 $ 82§ 0 08 %0 $ 7 2 108k
7 /% / 6008 0 &2 % i § % 7 /6§ $% $2% 720 / 600
IE $2 % 0/ O0f 1158 72 726 4 /5 7 0 07 $

5

2 /A5 / % & 67 /% T $ 0% 4 47 O
68724 5 78 / / 2 8/ 67 [/ 7% 07 & 03
0265  /§ $08205 &  $:i K 0$2%& $ 4 4% &2
25 § 7 6 5 0 ) $2 "4 $0$* M 085 6 004 7 /$
7 W oS $$2 0605 S0 Oi% $ § $27 /% 6 $
7% 0§82 < 085882 & 6% 080 bt 0

2 ) § oy o " §50 0F $
/7 6 & 67 /% / 600t 0 ) 6& 0 0 8&

4 /0 0508 0 5080 / < 5080  $& : i0 s 0

5108 $ 0 $ 0/ 7% 1080 $2 /6006 02 57 /3§

07 $050 2 ) ) moormgx D " $10

O $ / 7/ 05 06 & % $2 T® 6 6 0508 0
, 0508 0/ 6008 O 5/ 67 /1§ Po&2 0&182%2 0
67 /' 0&272 io$2 0508 00720 $§ %0 0 ="0
§7 /$ O 7 /6006 04 §2 0 0% 02 582 282 4 6

m

$2 $i7 / $0 b 4% $25 //58 1 /  / 0 § 82

/76T % 6 &$ T2 h0

2 " b o &0 0% 08 7 b 7 /%

&i§2 b Kooh $2 7 7 66 b "6 hO0s 7 o, 102

2108 5 Of7 2107 % &% % 06 % 77/ % 0072 0% 72¢ 242072

2 "oh 7 b 07 000% 7 /8

0508 O $ &2 7 000 7% 7 470 O 00
h$ ¢ D2 6&5 0 / % 7 $ 0&K 8 W/ § $

/ 7 00 /8§ 2 0/1% 0 00 i 085 2 72 b
/% 36 $ D508 0 66 b7k T8 &2 82 )72 6 0b 00

B $ %0 77 B 58 1% $ 00 5 6 h$ Ot 00

, 1%

2 ) 0 O $ /7 / $0&2 &b
hs 2 7 / 7 /§ 0508 O & 0 &7 i$2 Ok 00

& ¥ 840 hh 6/ b $2 $70 Oh 007 00 &2

77 8% $2 § 7247 40 O $ b 408 077 % $&

7 /% 0508 0 0 65&



)+ 91 B*3

) 2 "4 $0s* 44 08520 7 M 0/ ThIE 7 ®% 6 §2 6 &

2 ) /8 YT/ G7 % 282 /8 N7
, Y508 07 7 § % 0% 77 % 582 / 8

778§ 00F 6, B :$ 7 )% 8

B= 3 /2

2 "y /$ 36 $ 505 0/ 0077 % 2 292

38 % "00 56 5§ 0 00, TH @G .. 82 H)

, 4 6

000§ §2 )72 6 /% 0 8% $ $ &2 k6 5$2
2 6 /% =7 & 0 (0 $$2 8M S 6 77/ T $ 2
2 6 /% Bht 8 $0 6 00F $ $2 )72 6 /%

"TT /87§ ) 82 M4 HOS* w4 085

/S T o, 9
/ % 6 2 067 /% 7 00 8% & §2 K &i$2 b
20 8
. 4 "6 $
, )72 b /% "6 $
)8 07 0% K66 5§2 )72 6 / % 02 /756 4004
$$2 682 6 02 5 06 0% $0 &b 7 0 b f00h 6%
7/ 8 2 06 kK 7 00% OF 7
L] + 2
% 08 o "6 0 & ioo2 $2 Kk 4 $2 08 $ &t /7
)72 b /8% /7 % 36982 " 0 $% /7 4% 5$2 b

0 0% /% %2 0% $ 05 / $7 004 6 $$ 47 0 §2
2 67 % 6%2 )72 b /S 085 /7 4 2/ % 08 o7 0
6 $2 08 $ 5 10s

3 2 080 08 6%2 0 b 5 7 /% 08 $0 &) 8hH § §:
&1 $& 2 2 0 $0 68210 0 582 )72 100§ 668 4 §
7006 % 00& 0/ 84 $0
+
2 )72 b /% 7 % $§80 h§ 020/ 7/ 28 7 0 /750
$§ SHiE $2 0:40 6 0% 0% 7ish / %4 & 50 &0 0% $0$
$ : 4 3 662 /7 § 180820 /507 & $59$2 7 6 $240
66 $%0 § 494 / 7 B §$2 1 0 &272%7 0K 6% 4 %0
/' $B §$82 1% 0 7 09%28/7 /7 005 $06 6 % K O B 0§ 682
h§ 02170 /4% 0 §§ 020/0 6 &2472 §2 0% $ 5 0 0§ §

77 f77 1§



8 / +
) S0 087 /588282 ) $2 "4
7 /5 682 / W5%0 4% 6 $2 /0
+
G - "o (1
46 1
+, =t 9 W = 04
z /S8 2t: 6 )T
! 6 ]
- ! 6) 86& = O
- - =$) 7" MH &)50
- A =§ 0B $)508 0
- / $ D508 0
iE 6 9
- " ) ¥ ) & (D
G - " {@BEH1
4 6 1
+, =i 9 W = 0%
+, " 72M"00 59
- /8% 206 )T
- ! 6 ]
- ! 6) 65& = 04
+ @16
wooon " 1@B
1 '
46 1
A
A 3 $ )&, b 4
A =§ 0B $)508 0
iE 6 9
/8, T84 0( < -
(20 05 *=§ 20 5
6 +,.
4 6
B" + * 7 03
B" + * 7 03
B" + , $ 500 "
B" + )$ $10870
B" + " =07 § BS2)§ 7% 0
& 5 (1/) 5
57 5
39 5 // W0 39 7/%
39 5§ +,B 5 //
4404 +,B7 05 +;)
5 // 0K +;)7 0
7$ 64 $2 (.2 06 $2 4
0s B" + T 5 // W0t B"+7 0

)+ 91 B*3
$O$ > 44 015 $& : *0 k75 "
= 0:
46 1
B" + * 703
B" + )$ $i0$i70
B” + -~ =07 § B§R) 75 0
46 " 1
- =$ ) 7" MH &)50P
- / % D508 0
- ) &)+ (D
- " ) ¢ K78
* 2 " {@H
1 .
46 1
A
+, 3§ 0§ 7 00
+, §7 8" 5010
+, " B7 7 § =0
+, /$ 38 6T
- YO0 6 $& ik
46
B" + 703
B" + 7 0%
B + , $ 509
B" + )$ 8108170
B" + -~ =07 § B§2)S 78 0
B" + =i % ,8 & 0
+3) 250470 9
+3) * 14 085 250470 -
& 5
39 5
+,B 2 1085



46
)
b))

91 B*3
L
1
36 2+ & M) 6&
)& 4 &
D §
. 7 4 & *0
* )50 0 b K0§ %
TS ) & ) /Y
$& ' 408 S
/8% 2616 )T
1 6 §
A =§$ 0 BS$)50§ 0
. Y7 0 6 $& <
$& 1) 7 %5
D ) 470
. ) V) v (D
. ) (7%
/s, T84
=
1 @ 1 '

1
b7 0 6777 & 3
b7 0 6777 & 0B
b7/ 0 6B : 8

$

0 00)/ 02 %0

0 7% 0(D.

B $36 )508 0
A 0 009 &
. $2)7M9 4 0(D.
Trett oy 00 or 00y

b 6B 7 7 W0
V6B 7 W70
0 ool 7
V70 6B $
0 00)$ § & 0(D.

L78B $M 787
)88 L4 8
/8% 2:6 )N
6 [

1 1

A 1§ S )®& o, b b
D )
'o6)B& =0

A =$ 0B $)508 0

§ H1 '

1
/8% 2: 6 )N
6 §

, T840

83%)

§@> 1

)8 $08i70

"5 2 0572

0

L)

0t 00) 65&

57

0t 00)$ $0%70

)$ $i08i70
/¢
77

"5 2

3

$ B §§2
0"

7

00

(

1§

0

0
4



)+ 9 1,=x " m= )49

100-0. *9 08 89+ # 10-0,#

9 c2DO05 5 >

- H50$ 02/ 2 0= :0 B5 - $ 0 25D 05
=0C Hhi0 "6 ' §$0 3 ! $ E Bi72 +i0 !'¥29 2}
B $ Bi Bi$72 $25 0 $ )& 6 4074 7 - 82
Dit 0B 10
+ 025 "
2 )72 6, 7% 0572 50 07% 0% $2 /2% 0 /2582 §2 b0
& 7 % % 824 b $ 0 0% 6&6 10 b7 0F 20
$2 4 4 $h $0 MYy b 00 210/2% 0 /25 7 HE 092 §%2 k78
6 78 0 0 $2 K78 6 /% 38 08 v/ /1 82 % 692 4
B bo$2 7:$ %2 / 6 7% % &2472$25& 7§ 2082 & -6

/% W0 082 & 6 TH HW4 4 2 4 / $6$2 &2 /0 J
/25047 $ 0/h18 07

2§ 712 7 8 $ 02/ /0572 5/ 0 6 /
$2 07 00 /% $2 %82 0 5 6717 : & / %7 6 §2
/ 6006 O 6% 724 $ 02/ /0572 5

2 4004 632 )72 6, 7% 0572 5§$) $2 "4 $I05* 44 0540
$ // 08 SO0 § $2 $ $ 40&2 7 6 T

6 74 5% 7§ 5/ o$h7 0 74 $5 &2 7§ § 00W08 ¥ 44 0
b 72 82 % ¥ /% % 40 47§ 2 185
+ n
)$ 0 8t $ /6 Bk /T8 /v 70& T77/8/7 0

0/ 0% 4456 $2 4 b / 6 009 2.4, 7208 $7 $ 790§ b

5/ %40 6$2 )72 6, 7% 0572 5
)$ 50 &b /7§ /4 2% & § 0/ §H 6 b i bl
/ %7 / % 70
, 178 08 $0 &t 84 § /7 & 4 7 624 /00 ] VAR

00 634 08 & 7: 72 7: /% § $ 4 7 00 0

)$ $0 0§ )$ $ 724 7 $ 7 6 4 &®27/7 ¥ 0

$h % 82 S $ T+ :

2 )72 6, 7% 0572 5 0 40%2 42%$ 440 &2 &
VARTLNY < 7 000 700 5% 0 8 W5/

, 9

2 )2 6, T8 0572 5 66 08& B 05 6)7 7 0

BOS 6) 74, 7% /2 00.

37 04 , TH (25 %.
30§ 78 9 02t/






)+ 9 1,=x " m= )49

7 00 % b 7404 o2 b6 7 b/ $ 7 6 4 $
7 % %056 b 0T 7 7 hh 0 78
47 % $ 92 / 6 2%08% 0 47
"0 b6 / 00% § $2 /0572 5/ / 6 00 & 4 7
D& 0:% 0 0/ 0%t 0 5
0 & & 00 6 $ 4 4 $0 /0572 W7
0 470 / 0
05 % 05 b 67 § 7 7/%0% $2 f 0O 6 O 6
/0572 5
05 % 05 b 62 &4 My 0 4 /&2 7 00$2
% 0/
05 % 08 % 6$2 6 $% 0 6/0572 /%2 5 $
2 %2 &2 00
oh  §72 5 // /4§ 5% 2 7 7 §7 b 4%

i
!

"0 O7h $ii7 $2» - $2 /0572 5/ / 6 00 & 4 7 I &
0:%0 0/ 0F 0 5

05 & %8 7§ 7 %05 77§28 b 05 § 4  T7i0h
h
oh $2 5 0 o7 $giv 0 728 2 7 / 77
o $2 O7h $i6H7 $2 § /0 0& & /0572 W7
8 0% O
7 4 h 6 77 7 0 607% S6i7 0 72

"o 7 $ 7/ / 6004 $2 /0572 5/ / 6 0O & 4 7
D& 0:% 0 0/ 0%t 0 5

7 % &2/ 0 7 0 % &$267 8 $2 7/ 6008 O
0 & 0§ % 692 $247 0/ O higk 0% $2 6
6/0572 5
/ S/ % % /78 WO0S T4 7 7 /0572 {7
2 [ O
7 M $2 4 62 $2 7 B 88 6 O0B 6& 00
o8 % // /4§ 7 7 % 0:%0
00k - 8% $0 3 $ 8 $ /

h /0572 5 0§ $ 09 $82 6 &b 8 b $0
- "oofook 0§ ) $2 M4 $os* 4 o5 2 0% $ 08
9§ $2 * W4 05 - AV
/AT )8 $ $ 638 ¢ 2 08 $ 07 /5§
VAR N B A )§$ $ 638 §$ 005 / hh &252 <02
720 /0572 5 0 K 0 4 0 060000 §62&$2
0% $6 02 <02 082 7 K 784 0 /77 /[ & T O



)+ 9 1,= "y m= )40 g A

6$2 7/ 07 7/ b & - 7% /0 h 6
00§ 07h  §i6h7 $24 : 7 % / / 600
b T2 08 $ 0% $ 82 / 0/ 767
b $ 06 &0
! fooy § $2 '/ $2 " 8% 40
3 $ 7 0 6 $210 /7 0% $0 05 24
7 /% 0572  58&1$2 b $
! ooy § 82 )b 3 08% < iE $ 0572 5 §2

b "8 0 3 $ 7 0 6 $2i0
/ 0% 0 0247 /3§ 0572 5 &i§2

6 $
! ook $ $2 )b 0572 % 582 Hh "8
0 A 3 $ 7 O 6 $2i10 / 0% 0 0§
24 7 /% 0572 5 &i2 b $
h 53 $ - § 5M 2500 53 3

! ooy § $2 ) b 0572 5§47 7 88 $2

b 8% 0 3 $ 7 0O 6 $2i0
/ 0% 0 0247 /3§ 0572 5 &i§2

6 $

5004 b6 " 100} $ $2 0572 5 / 0%

7 /%02 /% §$ 8§ ch /7 W0h ( 4 .7 00

=% 2% 0§ 7 75 % $2 $ 7/ 0$ $0 84 §
&1 Kk /0% 7/ $: 82 0572 5B W 0%
2 /08 /7 %O 060000 $ 62&$2 08 $20 $82 7
784 0 /78 7/ 67 Th0 6%2 / 10 VA &
7% /0 h 6 / 00f § 07h  Sioh7 §24 :
7 9 / / 600 207/ 07 § 6%2 7 /08 7 0 +0$ 5
)50 0 6 0572 5 &b 5% 05$& 67 % 0
2 Bf N 0$ (B! .h /0572 510 b %08 0/ § 682 814
/ % 70 6%2 7 /0% 7 0 +i0§ 5 )50 0 6 0572 5 2
0 $06 $2 O 0 0000 % $2 B M 0% &b $ 4E 0
72 0% $2 0572 5" $ 03 /7 4 $

;" 9 + "

2 " h /0572 540 7 6 08 $0 &2 &i02 § 7
/0572 }0$0 /b8 f00h % $ $ / 03 i $2i0
07 6 08 $0 &2 oh § 7 % /0572 5 &i§2 $2
7 b7 %074/



5o 1+ " %@ 1
B |
$0
B} -
78
"9
46 1
); 0572 5
) =4 / $ 05712 5
) 94 0572 5
); A -0 72=0i M)$ $03
); 0572 5
) 18§ 0 ¥52 40
) 0572 ¥ OSH
): +0$ 5M)50$ 0 6 057 (D.
); A 0572 5) &
; " " " 9
P " "
210 ) o 7
VARG 0 $2  /40%0 &2
7 0% 74 %7 /0572 5 2
g 05 ¥ / 0% $2 B)
(U
5 ! ;7 7+ " $ "
0572 5
$0
78
"9
46 1
); 0572 5
) =4 / $ 0572 5
) 4 0572 5
) B & $§ - & 0
); A -0 72=0i M)$ 503
) 0572 5
) 18§ 0 ¥52 40
) 0572 %7 08t
); ! $ 06 04
) +0$ 5M)508 0 6 057 (D.
) / 7000
); 057 6- 44
); A 145 (]
); A 0572 5) &
); A 0572 5 %7 P
); A" -072= 0t M)$ 0% (D.
& @ 5
); A = §2 =5
); A "y ) TH$B
& 4(C) 5
): )7 0572 5
); 0 0% 07 7
) 0572 5 6; )

6 0§

&102 §

/
hoooh

P)S 4 $2 &

0 h$

I

400k

B §

§?2? 1

0%

0 0/ TibE7 5

+

1,=* 3 = ); +9
$" 1
0572 5 77 P
-072=0f M)$ S0B(D.
0572 5, 784 0
300 0% )7 7 M) 7(D.
2408 ,$2i70
27 0
B"+ " 22 .
7 7 0 &2
5
b 7T oh TH AT
h$ $ / 0%
Of 6 0% $0
2 0 )72
1
300 0% )7 7 M) 7(D.
2408 ,$2i70
27 0
B"+ " 22 .
7 7 0 &$2



DO A .o "
210 ) o7 6 08 07/ & § fooh % $ $
/ 0% % 08k fE 8 /0572 5 2 / 10
28 & § 71504 2 0 6/0572 5 $%2 s 4
$ 7 O 4 hs 82 //% 0/ 780 6/0572 5072 02 (I
$ O 000 S 6 0 )2 0 66 i0

8h 6 §2 ) b3 08k < iE 8 0572 5 )/ 102140 7
3 08 < iE $h 0572 5 0% $0 02 4%8$2 040 6 40 $ 4
$2 /0572 5 0oy 00

5 ;71 1+ 0 $ DO A " ?>1 '
0572 5
05 00 -
$0 " A
, T8 " A
"9
46 1
.o 0 . 46 1
) 0572 5 ; & H
); )W 0572 5 BH 0 2 4 PP
); %4 0572 5 =" ,$2)7TM9 , 46 0(D.
); BS& $§ - $ 0 , ) 456,7 ( 814
) 3084 < £ $ 057 B Y7/ 0 6B $
); A -072= 0t M)S$ $:08703 B + -0 7B §
); " 0572 5 B E$ 2 4
)Y 1§ 8 0 ¥52 40 46
); 0572 i7 0% 39 00 0% )7EM) 74 $5 (D.
); +0$M )50 0 6 057 (D. —9 208 §2470
); / 7000 B + 27 0
); A 0572  5) 4 B+ " 22 .
); A 0572 5 787 P Yo7 0 &i829
); A" -072=0t M)$ $0%(D. 1 4 9
0/ 10210 7
5 5 ( =7
2+ ) A
' e/, " " J e/C
_ 5
+ " 2 "
210 ) 0 7 6 08 $0 / ho$ ¥ oot h'$ $
/ 0% 0O/ Twh7 0 6/0572 5072 0 ory 7 b $ / 6000 O
072 0 24 K74 2 4 7 5 %77 0% 2 $2/0572 5
74 %7 /0572 5 240 50 04 6 $2 0 0% S0/ b6
77 0 0572 % 509% $0 02 44%2 040 6 40 $4 $2

/0572 5 h 5



N/ o/ o/ N/ N NN NN

LI B B $+ "2 " 8 B 1 '3
0572 5 .
b5
$0
, 1%
1 46 1
1%H ' ) v o
0572 5 g L .k
4 0572 5 i #70
A -0 T72=0i M)$$03
2500 7 0572 5 N 5
. L/ % 8 0572 5 " ‘
. / % o s 319 S osM 200 5
A + 82 052 5 . " "
+O0SM)508 0 6 057 (D. §9 + §o5MN 20
A 0572 5) ¢
A" ~072= 0 M)S$ $0% (D. & @ , 5
0572 5, 7§40 gg 3—4 5$ k8
@ 5 59 " B 7 b
. =4 /7 § o2 s 39 boH0S 5
A "y ) 7 %5 (D. 46
00 0% Y 07 7 +,B 21085 .
+B 1S TH S 20 /25
@ 5 B" + B"+7 0 (B" +
YT 0572 5 22 .
" 0572 5 -9 00 0% ) 7 M) 7(D.
185 0 @5 2 40
002 4552 0406 40 §
$2/0572 5 4 5
1 DO A I+ " ¢ H1 '
" & 1 ' 46 1
1 ); 0572 5
¥y ot =4 / 5 0572 5
SR et )y A S072= 0 M)S$ $i08703
- H—
iE % 2 44 ), , 1% 0( 20 0$ = A
YT 0572 5 o o _
705t < 057 L 4
A —072=0i  M)S$ $0K703 " - + "
0572 & o8 C 3¢ 1 .
*
T P b )8 6 0 /74 ) 0
LEE ) A . 02 1756 ooy $ 72 L, 7%
! $: /600 7% 7000
05725 84 6 07 57 $7& (0 / .
4 BOS 7 } &82 208 5 |
46 1
) 456,7 170 y: 0572 5
( 8u s 3. =4 /7 § 0572 5PP
): W4 0572 5
) B&S§ - $ 0
): " 0572 5
3 +0$ 5M)50§ 0 6 057
& (@) 5
,=* , 7-0 72M)$ $i0870 (D.
) A 20 72200 M)S $0870

PP § 6/ 6 00 TH 7 0&






)+ 9 1,=x " m= )49

"0 h 6 7404 82 $ 02i/ &b 05 §
& 0:% 0 0/ 0% 082 2
B 0§ 4 $22 o6@% $724 $ .03 0
§os2 2 osk 08 7 /T 6 7%
1os % / 7/ 006 /25047 0 685 $ 07 %56 /
bbb 0

o THOM T8 h 7H00 K6 $2 0§ b O & Oh / MOk &2

"0 7 18$ / 6 00% $2 $ 024/ [ &t 0$ $
& 0:4 0 0/ Ot 0 5
,06 7314 57 W78 2 % 6 $ 024/
AT S [T 4% $ 05 & 024/
= 05 $ / 6 004 $& b 7 § 6k / b7
$ VAR bo$2 2%2 66 7% 0 6% 72 5
B i 6 794 021/ %2 $6 744 $ 0 &$2$2 272
- 81 0 2 O $ 9 024/ £ 0 § § 7 5
i$$2 0% $4 S $ 9 02y / " 0% $ 08 //56
5004 77/ v$ %2 $ 9 02/ / b $
4 7 5 0 0 2 06 *9 ,= ,7 ¥(0 5 58
6$2 $24 0 0 . 26 & T4 4 84 6 72 /7% §
86 $ ) $2 "4 $0S* W4 05 - 7T /87
b Ok 7 §) $2 "4 $0$* ¥4 05
00 00 4 /48 4 6 4
+4 7 [/ (] 6 2 06 § 9 02t/ 7 16
) §$2 "4 $0$ * ¥4 0185 &i$2 bk 6 "k %20
7 000
) 1$ $ 9 02t//7 % % v7 % $26 & % 0
"$& / 0o/ 7 00 5 $82 b 6§ 5
/ $ 7 Y7 % 4% 70 6 /25047 §  0/ns
07 $ 6 006 $2 /
"7 /% 02t/% 4 $ 57 4 582 )72 6, 78
0572 5
& 7 o7 % 0 6 &2472 0% 6 $2
$ 9 021/ 40 6 $ 9 024/
h 0§ 78
"7 $ 6 ) $) 470
047 14 0$™ < —7 S$i6h7 $H 2h 2
s 021/ ) %0 8h § 77 $
7 $h $2 IR} 6 $ 02/ $4%/0 /7% §
foor 4§ $2 $ 9 02t/ /
06 0000 $ 0 $2 / 67 TH O $h boo$2

7/ 1 & 1 682 $ 9 024/ /



9 1,=*"3 "= );+09
4% 4 7 6 7 7: 72 726 $2 00 6
3408 % (%

7 "I/ %0 $ 2 4 7% % 7 Of b 400k 5
$2 $ 9 02/ %2 0% $ &b h 6 b & % 0% §2

05 $0 652 //%7 % 6 ook 6 & $2 TH 692 T4

+

VAR $ 9 02/7 % $0 /77§ h$h 7 00§ §
/ 0 / 0 §§ 6$2 08 0 K784 0 6) $2 "4 808

* 14 05 $2 $ 9 02/ /

-5 % -$ % v 2 s 9 v/ 07 % 5 8
077006 7 /& 67 00 2 78 //%7 06 %508 0
VS 7 6% 7 4708 0 84 6 & 005§ 2
/
-8t 50 3 $ 6§ 9 02/3% 02/ 82 05§
08 W $ 7 4 75 2 6 & T4 84y 6 72
V74T
/s /17 % 6 0ok $ 7 % 75
00 00 4 /48 4 6 4
00 00 /48 4 6 4 8824 82 |
$ 4 4 0000 $ 7 8 0 $2
/OBTC TR0 L $B h §2 7/ v & : 6%
9 02w/
) 8 $ 09 02//7 % hT % 26 & ¥ 0
2 4 3 021/
72 4 700 8% 6 7 00$:
06000 § O $2 / 67 Th0  $t b $2
7/ 1 & : 62 § 9 024/ /
"7 /8 ) 45
4 & 7 6 02/% / 6 00 iE $
08 7 /§ 38 02/<m /% 7/ // 4 582
$ 9 02/ 40
7 “//NO$08 7T v 75 S 82 4 T 7 0O 6
00 582 8 9 02w o205 $& 46 }
& 08 82 0580 682 //%7 % 6 00t 6 & $2  TH  6%2
7
-8t 0 3 s s * 14 05 $ 8 $0
7 % $0 086 6 $2 6 & / 8 4 50 ¢ § 8

/ 7 /%



)+ 9 1,=x"3 = ); +9
00 00 4 /h$ 4 6 4
00 00 /hs 4 b 4 &i%2n $2 K $
0 0&$2 0 & $2 20( .t 82 K 0% /3
) 77006 7 / % 6$2 3§ o2w<ny L,/ % 7
) 19 $ 9 02i//7 % % v7 % $26 & ¥ 0
=7 $% 638 02/ / % 70
"0 $i06 7§ 5 00 00 $7 / § 582 3% 02/0 /7 40
" 060000 § 0 $2 /7 67 7O § i$2
7/ ) & 682 § 9 02i/ /
"7 /8, 6 ) 45
7 i $0&2 $ 82 4 TH 4 7 0O by 6
$ 5¢$2 9 021/ T4
1;770 * " B> 2 )
9 02/ 00
"y .
$0
78 _
- 46 1 118 46 1
§  BHISHO -) ! $ 03
) 456 8 4§ 0 -) ! $ 08
. 1608 9 o0 -) §+ 923
2 0! THE S -) B § + §2
: Di 00105~ 0/ ) A 0 %7
- -) 2 4 145
DI 00,B -) §+ 823
$ 9 own /7 -) 2+ $2
$ 9 o) (D -) /500 O
45 9 02/ -) §+ 823
, T84 06 )zi0< DA o)
$i67 $ 00
( 20 05 *= 46 -
BB 38§ W)/
s /3 7 /%0
" § 5M 2500 5 . 38§ ) 02 %
07TBI7 & 5 9 / 0
) 456 2 108533 = 52 0
$ 6 S 006 9
BI00} 0 B2  S70(6
. =4 / § 0572 5 - - by A
2108 ,$270 +0$ 5
A "5 M) 7485 (D. = +HOR 8<,7 <9 <ot



5 ;7170 -
B |
78 8% < , T840 -
-84 $0
, 1%
"9
46 1
.=, $ BHW0SYO
=, " , W $ , TS
= A 21M9 208 , 7(D.
*9 ) 46§ "4 8 0
*9 - 1 § 8 9 02/
*9<); 2 0! 7% $
*9 A $ , 1% ) (D
*9 4§ 9 02/
*9 A $ , T8 3%
*9 , T840
& (@) 5
*9 - D} 001508 - 0/
*9 D} 00,B
K
" 1
); 0572 5
); - =4 / § 0572 5
); ! 6 04 (D.
); 00 0% " 07 7
); / 7000
)i A 15 (]
; " 1
) 78 5)72 6 0 00 -
B $ %
" 1
" 549) , 7 00
*= +3) , 7 00
8 1
39 5
& @
"5,7 5 0
& 4(C)
"5 $ 5,7 5 Z 514 00
0 " 1
-,9 38 $ 5 $2BH 085
-,9 2108 DY 00
"5-,9 -,9 -,9
*=-,9 -,9 -,9
" " 1
) & 4 (.2 0 & M0
72 57 00 0
) 0 (.2 0 // WO

72 57 000

B% B( 1

46 1
) 0572 5P
); - =4 / § 0572 5P
+;)<-,9 300 0% 25087 )7THM -
3 9<-,9 00 0% Y 7 M) 7(D.
. , T84
() 7
P $27 000 8% 6 "4 § 2 /5
78 %
167/B
+2ma D "
1
BB 38§ 47 8
C *- Dih 6 $2 B ¢
C *- &0 -/ $
C *~ = §7 8 oM 72
-,9 §7 - ¥ M2 5
-,9 ! $ 0 6" 4 SO
& 4(C) 5
C *- B 00OB & 9 &M,$2i70
C > =" B 00 M) 7% $5(D.
38 § 2% /25
-9 "4 Si0h /58 it
BB oo M / (D.
-,9 " 7- &% 0 7218 0 W
4" 1
" "7 %
+9 St 6 O
- - " 703 08 7§ §
-, - 96 §
- - D$§ ) 69308 78
- - " o6i7s $f )/ S0 500
-, - 0 §
-, - A -7 & 87
& 4(C) 5
*9 - 07+ 0 02/
*9 9 4 &
15 14024
¥
D2 D § - 68 §
)7 =hay
Of7H 5 b
7/ 7%
B §h i






)+ 91, m= )+ 9

"0 h 6 6 7HiS $ b b $2 7 % §<072 / 6 00

05§ : & 0:h 0 0/ 0%f 0 5
/ 4t § 4 44 00 47 0 / 0
05 & 05 % 67 $§ 7 7/%0
0§ % (I 62 &4 Wk 0o 4 7/
$ 82 06 4 0 0% $7 /7 %
or § 72 5§ 2 177 W7 8 0$ $ 4

"0 6 78 740h > $2 7 % $<072 / 600 &b
& 0:% 0 0/ Oy 082 2

05 & %8 78 7 %05 77 $2% b 0s § 47

h

0h $2 5 0 07y $67 0 72 § 2 17/
/ 6 00k /187

0%

7404

O 6 b6 00 00 SO § Db / 6 00

70k 0
6 78 / 6 00 / %7

= "0 7 s/ 6 004 $2 7 b $ <072 / 6 00% &4
D& 0:% 0 0/ 0%t 0 5
7 % &2/ 0 7 0 % &2/ 6000 O
0$ $& / 6 00 $247 0/ O bk O
/ % % % /7 % WhO0$ 7204 / 6 00% 7 7
7 WY $2 4 62 $2 7 i $$ 6 05 6&
0% § V/AVARNNI b7 $  0:%0
) 2 "4 HO$S* W4 08520 // 4 0§ T2 7 ST S/ 0 $6
H" )=", $ 5, 78
b9 "0, 7% 9 % $ 9% 0 (H
H )7 5, i
y

Ro=3
=

2

b 5, 78

2 1085, 78

, 102, 7%

+i0$ 5, 78 < 4 $
h B $2 %70, 78

= ==

= == =
-1
=

~ ==

N

Y O
M

-~

“
p==1

A Bf¢ & 0572 509 % § 728 %7 0 A b7 b
2108 5 K .P &

0%

00

&

$

40



)+ 9 1,=x " m= )49

* " * - "

) 0" 7 4 $0 84h § b6 / F 7T0% 4 1§ 6
072 0% 0 =)7 80 $ /7 7 % $0% OS8% 082847
0$ jo&$2 7 /8% W0 b M0 $2W< T b lOR7
on 7 7 /0" 7 % $0 087 / § $2 14 056 6
72 6 /v 7
)72 0 "7H4IS 0 b0 =) /% 70 $ 04 4§ MH&

0000 $$ 7 7850 /%08 T 7§ 72 / ST/ 8
$2 0/ T 7S4S O

Y2 - 5 TS 0 F S0y =) /870§ / ST/ b

072 $ T 0 072 07 5 4 S0 6 §54% T8 0

072 $ 0/% $ 05  $$ T2

+ 48 "/ 41 {806 57 0 %7 /7 % &
/% 70 $/ {7072 0804 + 43 $ 08 7 /%

+=,)  SW o,/ 0T/ 4 S $ 04 /ST S

b o$2 /4y 7

) 6 ) I 327" 7 4 80/ ST S % 6
/% 7 $2% 84 04S 7% &2 08 %0 $ 7 /$ 3
7: 727 O 6 B ¢ $2$ 08 $ 47 0/ %

7 005 4

0/ $% $ =) )80 o/ $% 67
/470 8% 7 4 $0$8 / STWS T2 $

O/ THTOS 0  $ 0%/ 4 582 )72 6, 78 0572

6 6 7 0044 4 =) 7% 7010 0000 $ 74 $20
$ 0/ $& 7080
O 7 =N L,/ 70 S0 $ T /8 8
I 7MW /% 701 6 727 0 84t 6
f 7

£ $§0 % =) o
0 6 7840 $
5 -

/%7 0 8% 7 0/ ¢ 040§ 78
L A $ ) 45 )72 0% 0/ 40 0 6 =)
/470 $ 7 /% 2 W,/ 47 $§ ) 45
b $0& 0 $$2000 45 &8282 * W07 7/% 6 & :$
$2 072 0% 0/ 40 )72 08 0/ 40 0& $ $2 7 /§ 6
§$92 7 4§ & & 0 KBS 7 067 8
Lo
008§ ) $2 M4 Si0S* 4 085 0§ S 87 5 452 08 §% S
§ 72 7% 2 $2 05 0$2$05 S0 05 $2 28 077 006 5
7 /% 82 72 , 1% /% $ 0% $$ T2
. wox N
L7208 0§ 77T /8 $) $2 M4 S0S* WM 085 &2 b 7S $288 72 10
2i0<2 /6 00 (7% %0 00 T8/ #0 582 -7 0
M0 0§ 67 2 40 O OOWOSE / v 08 %0 7 47/
725 P24 40 082 282 08 0 682 72 , T
" 40 0 40 002 & :7 056 &$2 /6000 08 7 67 00
) 0 00 0/ O 45 6 3 7005 //%7 8% 0 $ 82

8 b $0 $2 4 3 h 0



¢ * + $
2 6 / 6 "
19 ‘'S 2 2
8 9 D 9 * 1
8 / / J J 5 J K& 7
2 1 $
>? 5
>? " 1
2 0% $ 0§ //756 3% " oo § $2 72 , 7% (0 55
$2 652 $2¢ 0 05 .6 7 [/ & 8t 0 0§ & 3 %
00F %0 8 ¢ 6 $2 0% $7 § 0s // hA44O¥ 7 %
7 00 26 & 74 4% 8t 6 72 //%7
% (0}} 7 $$2 * 4 085
)2 & 4 7 6/ 6 004 0/ Ok 0 § 4 /i 4 2k 2
00 00 4 /4% 4 6 4
) 77006 57 /§ ,=* A3S$ 1% $ ! § 06, $ 5
A ,=* "3 0§ 1 % 0 6)7 5, 7%
, 9 &2 6 ( .28 2
00 00 2 7 " Q" T /08 4 07 6 - 24
/ 00 $2 07% 0 682 -"#)3( 6 00% )40 05 &2472 %0 $2
$ 77 [/§ 75805 8% 552 )$$ 6 00 2" 7 /0%
4 07 6 4 & ,#,B $2 )
) 6 VZA TR % 72 %/ 00 5 §82 b 6
$ 72 $2 [//%1 $§/ 05 7 Y7 0% 06 0% $0 7 00
0 $8 / 0 0
/§ 060000 $4% 05 $ sto7 § 06 $2
7 0 $6)S  $) 470 $2 05 80 7 740
- 0 § U ooy /6 004 / %% Bhk 07 0?2 4 /v @
2 2
A / $ 077006 5 iy kS 4 &&E2 72 , 7% 17 %
4% 4% 7 6 2 4% / 00 B VAR 00 6
34 08 $ 7: 72 7:
/ $ 0 66 7 %
4% 4% 7 6 02y/% / 6 00k YE S
W7ATE: I % 52 4 T 4 // 4 5$2 72 , 1% Th
/ 7 S 6 $2 72 , 1% 40 5 2 7 s &b
b6 b & 8 0$ $2 05 $0 6$2 //%W7 &% 6 ooy 6 & $2 TS 6
$2 72, 1% T4
)$ 08 06 & 6 $2  h O%$ S Ok & h$ 00k
$ %2 05/ 4 $& 7 % 06 / 600 O $32 % O%$ &
6 &2472$2 5 $ 06 b
06 0% $0 057 0 § 6 004 =4 / $ $6 4 $2%

2 0§ §2 ho% 0 06 0% $0 $ $ 82 %



)+ 9 1,=x " m= )49

00F T G 6 / % YO0 5 77 /8 § 82 , "0 5004
8 $05 08 4 /%2 / %4 $18 8, 81 50
24 B0 08 0§ b $2 / $% b 0§ 3 " 00
8 0 2/ %% 0 0 ¥ $s$27 0o 4 7
7% s
2 6$2 40  $/ 70008 b $$2 $ 72 7 4 $ &8282 §§
§ 72 78 7 &2« /200 %082 7 / %0 5
78 /600 76 (08 40 200 77 /102 582
7 W 40 02<02 4§ T80&$220<2 40 O & 40  $000f 0
Y7 5 (024 B0 Y24 K 56 $2 $2 5 /78 §0 :
b 4 8§ 5 5 82 72, 1% 6 82 )7 5
b < 2 6T S 67 h$2 )72 6, 78 0572 5
Lo
i 0$ 06 00t $ 8 T2 T /i$ 8 &6 07
2 7 % /%0 00 5 / $ $ 0 " 7 480 56 &2
V4 7 7 06 "7 W W0t $2 ) $2 M4 $08* M 085
i $00 00F § $2 2,78 &2 24
6Y 0§ SH OS0675 5T 07 O(Yy 7 /08 4 6. &2
24 6% $& (. 8 /0% /0052 03( ) .$00 50 % // $ 2
2% 682 72, T ) ok 6 /7 0 $ $
00F $ 2, "//% S0 0 s 7 % $$ s 72 02 &
4 7 608 2% 2 00t 7% % "0/ $ 682 // 0/ 700
/747 %0 08
4 & T 6 SE $2 0 470/ 4 59 4 ) 7T700) 470
( 81 § )54 9 4 $ .6 03308/ /&
) B % 67 B 88§ 72
) K¥%& % 06 7 $§ 6 / 4 0 7 $/ 6000
) 8 $ 6 7 $ 6 H 7/ %
§ 72 < 4108 S /6000 & 20 0 4 §§ 7% 0 &2
724 5 $2
-7 /00t 07 $2 I/ 0B7 0§ 8
3§ 4 &0 77 006 56 8 1004

$ 6 0/ 0 &t /4§ 72 /7% S0 % §2 TR 682 72
, 1% 7h

%82 b " § S /7 02 $ 0 9 4 $2107 0

37 " 4 " *om

"6 2 //% $20 s § 82 2, 1% 210<2

/ 00 5 4 & 582 2, 1% o2 72 7 % 0§ &
b4 /7§ 58 1§ 75 &2 $2 b 75 96 2§ b

$ 072 =% 2 ¥$ &2 7 % §7 08 2 20<2 7 B 89

§ 72 / 002i0<2 7 7 O 8 0% 0 $$2 § 724 / 6 00K



)+ 91, m= )+ 9

S T ) 2, 1% 0 I
7% 8 077006 7 / & 6 7 00 |
$ /8 ST 682 1 & 0:4 0 £ \
0/ 0% 0 8% 6 4 000§ 82 / N J
72 7 % $0 /788 h$h 7 008§ .
/0 /0 $% 682 08 0 (784 0
6 ) $2 T4 $08 * 4 085 2 72
, 18 3
7 " S
28 72 7 +$ 086 6 /757§ &2 }
$2 67 % 682 )72 6, 78 0572 56
00t S 08 8 T2 “//WT S 6 0 5
o6 2 )12 6, 7% 0572 5
67 4 ) + S /T 5 58 05 $$ T2 /4 7
)$ $$ 728 W0 082 7 & $ /8T 692 2, 1%
80 * + §
+4 L " S ¥ " + -
" " " L " L *
9 4 2 2
" 7
" 6
: 2 M 1
/ " 6 + 2
8 2 7
26 & 7% % 8% 6 72 //% $
/% 6 / 600 7% 7 00
$4 by " b
B ) 40 44 " b
600, TS b "
,=* 70 08&K82 0 & $2 28( . 0 /
004 82 K &2 0& 2 22 0 / $
A7 677 /% /6000 0/ 0% O
T2 7§ 08 0 (7840 6) $2 "4 $05* 14 085 2
2, 18
A ) 100 626 & 7 0 0 0 06 v 4 7
/15T $
-7 $§ 6 0( 40 78 7% /600
) 60000 $% 0% $
/8 /000 6 /I SR %0
/% 6 077006 05 §S T2 4% 4 &
0 §% 67 /$ 6006 =4 / § %% BOS §82

77 /% 4 2h 2



)+ 9 1,=x " m= )49

A 7 624 /00 (] VAR 00 634 0% S
7: 72 7:
A7 6 - S S 7 $$2 2%2 08 §$ 724 0 0%
A7 61 0%k $igt7 7 $$2 2%2 0% $§$ 72 0 03
WA 32 4 T4 % // 4 5$2 72 , 1% Th
/ 7 % 6 $2 72 , 7% " 40 5 2 7 F § &t
b6 b & 8 0$ $2 05 $0 6%2 //%7 &% 6 ook 6 &t $2 TS 6
$2 72 , 1% 74
h $0&2 $ § %2 7% % 8% § )$ $ 724 5 //
§ §2 72 , 1% 74
3 2 4 $$2 8§82 72 , 1% ™7 0 7 s 7 /5 7
0$ $$ 72 0 & $heh 62 7 W (0. )$ $$ 72 0 771/8
7 Ik 5 &} 744 i 7T 72% 6 2 0/ 40 Vi $ $ $2
7 W 0 &t 0% § & % 6 $2 0% $$ 128 /7 § 2 72
, T8 &b $2 $ b hhohus56 7 % & 0% §$ 724
" *- "

» s T2+ : sS0 0 8§ )8 8 T
B4 0§ 7 6 Wy &2/ YO St % 82 )8 0§ 72

+ .

) 00 787 f§0 7 $ v7 / 0 00
/T8 b b 00 ,4t 7 10§ h 7 b $2
)8 $§ T2 $% & &$2%2 s TH7T 7T &% 082 $2& - 6%2
0% $8 72 /b7 $ /% § 72 0& h 6 6 $2

% 6 72/ 7 $
7 SOLCO7 & DH="08 $8 720 /7 0 08 7 /5§

&Ks24 §2 ) $2 * 6 7 § 7 072 /7 $0 0$
7 /9 &1§24% Y0 6 b0 682 ) $2 " 4§05 * ¥4 015
7 /0,7/% 08820/ 75 05 /% 6 /4 5%

7 SO =t4 085 " 7 b $0& 7 / § $2 44 0156 6 72
/78
)72 )$ $$ 72 0& 6 &$2 072 6%2 072 &2 0$ $
$ 72% 10 25 $ 4 $ 82 072 P $0/7% § $2

L4 6072 Y 6 4 $0 6 072
"0 7 ) $8 720 5 70 $7 /§ 82 § -7
R $2 $h / 6 00% */$ $& 50 &4 70 6
Y00 24 $2 6 K5 £ %% 46 &0 " 5 g 0 70 0%

/ 8 $2 072 0 §$ 72§ 2 05 §$ 72 10

0/ O 6 $i65h 2 ) %2 "4 H0$ * ¥4 015 0 / 410 $2

7 /7 % § 72 $2 of $ 072 / 0 62 <02 H hoo$

0§ 2 0§ $8 72 0 O/ O 6 WM $2 7 / % § 72
// /4§ / 06 $2 50. 0 $KO0$ 0O § 72 & / /7 7/ 06
0O Om$s$s $ 72 "7/5 6$2 / 0 08 %7 h 2 / % 4
0 70 08 7 $ 0h  $2 )$ $ 72 "0 71
0% $$ 72 &2 6 0 O 0 7 02 7/ § $2 608/ S 682



) +

9 1,=*"3 "= );+9
)$ $ 72 "0 71! Mows 2 7 /7 % § 72
07 40 &2 & /7 4 0 /7 4

728 -0/ Ohhi%h 0 = % 72/ 787 /% 7 08 $8 72 0

&h 5 00 $2 6 & 0/ Oihiio 62 7 / & § 72 ™
)72 678418t 0%0 /7 46 b §2 )$ $ T2 o+ B
6 §2 $ 64 & 0 66 & § 72 0 8% b 2/ T8 S
2&4 §2 08 $8 72 10 $2 % 780 /7 40h 682 7 / &

$ 72 b 5240 %

3 /78 )$ $9 4 1 2 /7 7 $ 0% $$ 72 0 0$
7 $$2 4 /78 08 $ hoh 2 / %% 210& $B/47 5 77

$2 2 5040 6 78k / /05 0000 $0

00 =4 7277 $0 $$ 720 0%
/0§ / 0 $$2 0/ 40 // 40%2 &S 6
7 0 I8 s/ % /&4 6 T2
408 6 $2  6§%20 00 0 $2 P36 8
-7 & 4 $2 0875 6 7 72 00 ) $
§ 72 002 00 2882 & /8 b6 & 048 0
&2 77 / 5 6 7: ®1082  2$20/ 70082 §4 05 7% B8 0

Vs 4
LS T W TSRS 0 ) §S T2 0 /788 V44

§$ 7 W $48 0 (7 0 $2 87 4 %0 O / 0
7 W 4 %0 $$2 072 & 05 $§ T2 W0

S$7TW S v § T W7 TS 002 7 0/  &$282 0% 06
) 82 "4 §05* 4 085 62 ) 4 $2 5" 4 §0§ 2 72

o/ $% 6) 0 S & 02 % $$ 72 $ 0/ §

§$5 < 07 508 $0% 210<2 4 247
) b )8 88 720 8h § 8 M4 5/ STV § L, =*
7200) 4 "$2 28200 %+ 0 2 & 072 2 0

5 %7 /0 8 7 00% 8¢

0o, $ 70 6% 7 % SO 4 $2 05 $$ 72

/%7 M0 /7 28 57 4§ $ % 08§ 72 & §

bW 7 000882 § // 4 682 T2, T 7
, /5 $) $8 720 b o$ &z 080 B /%% 6
/4 582 12, T8 7H®/ 006 20 $ $
$2 08§ T8/ THT 5 8§ t$ % /5 $i$ 6 08&S82
$2 66 7% / 6 7 82 08 $$ 72 & 84§ 7 & :
2 0§ %% /5 $3 70 508 $§ 72 0& : 52

2 0/ & -

- $§ ) $$ 720 5 § TW 58/ 6 $ 6

05 $§ 72 0/ Oh 40
) 0$8S T2 0382 4 $6827 7/ $ $ 7210 0 7 K08

208072 10 0/ Of 458 6 0 0%6S § 72 &2 & §
&5282 7 0082 2 §$%2 072 5

Bl -% 0 $) $$ 72077 52 b 06

) 2 & P06 /% 6824V s4 /700

b 0 $0 &) 6 0% $§ 72 0 $2 ) 2  * i



)+ 9 1,=x " m= )49

¥ 7 b §$ 6 O 700 58 &2 &6 0% $8 726 §2 08 $
05 #5682 7 / % § 72 072 f408 § 0 $2 0/ 404
67 %
*x 5
14 00 00 $ 60 4 78 Kos$:0/7 hoo82h
" T¥ 44407 & 0 i 6 $2 08 $lo 7 00
/ 6 7 0 $2 4 &5 6 7: ) & 00 00 $7 01050 6%&
/200
+ 0 §. * 1 *0f 78 7 098 7 /7 &% § 72

7 7504 6 7 6 70 0& 0 & :56 7 6 7 ) $2 "4 §0$
* 44 050/ 40 0 0 7 0 4% 0 7 %76 70 b 20
3 % $& 6 7 72 0000 O 7 7% 5827 /7 % § 72
52 0/ 40 /% $ 20 & 2 *4 050/ 40 82 7 / B
7

§ 72 2 05 $8 72 $$7 /5826 s 4 & S
/%S 6 72/ 7 $
+ /S * T2 7 /7 % $§ 72 $2 > 4 045
0/ 40 7 $ §$ 7 /% $2 ) $ 2% ) 4 L4 $
6 7 00 00 0 0 $2 S $ 728 ) 4,4 b $2
=0/ Oi%t 3 08 $ $2 )$ $ 2% $% % 2 0% $$ 72 10 0

4§ 5 210<2 0% $0&2 $257 /7§ 82 /h L4 B 682 )$ $
72 "064 & W7 /S 5%2 0§ $$2 2 & §$/ 6o "

5050 6%2 0 00 00 $0 02 b7 b $2 -6 784 ) 6 00 00 $
2 67 % 6% )72 6, 78 0572 5 &} i 7 4§10
7 7 / 00 %0/ O 0 0 74 / 6 00% 0:% 0 b §2 0% $
§$ 20 /7 0 % 08 $§$$ 72 6140$ 0s § 7 i$ $8 §2

4 / $6: & 0:% 0 0/ 0 06 § 728 2 <02 5 0: §
&12 & 6 08 §§ 724 2 72 , T T &Y 0% / 6

h$h &2472 05 O %06 7$ ¥57 / § b $ h 0§ $

2 6 $ 6 $2 0% $$ 72 10/ 6 7 10 $ 4 5 §2
0/ M0y 67 %% 6 8§27 7 0 I $ 7 /§ 08 §§ 72 &2
0 $106 78 5 6 4 0 %% 0% 0 b 004 6 i
/7 $

72 78 67 $H& 7 7% 7 /0% g 4 & &I52 08 $§ 72
7 % %0

$ 6 & /107 % $ $2 2 §2 06 784 00 00 00 $

7 /% 5$2 6055 $ 72 01! 7:6 $2 2 , 1% 50
0 71$ 6 h4s § 0 6 072 0508 0 0% $2 ,06 7844 00
"'00 00 $
+ + 4
27 /%0 682 72 , 1% $) $2 24 7244 L
/00 §$ % 82 0B 0 0
97 0 7 ST S 05 5 0$ 06 $2 / 700 6 $

$2 S $§$ 724 82 / W /WS $ 5 7 5072 0 6 0%5$

0
6$2 )4 $2 5" 4 $H0§ 2 72 0 % 7/ $ b 8 o7 &% O



)+ 91, m= )+ 9

$iei7 % 20 05 402 $ W / 600 0$$0$ 8 W $§ 72 0 $
00 072 0 / 02§82 § 72 W& [/ /

< " 2 " v N
4

457 4 $ & 077006 57 / $0 §2 8} 06 $§ 728 b $2
$5 07 5 072 $06 ) $2 M4 $0$* b4 015 &b
7HM 7 $ 6 7 Si6i7 % 0 / $26 & 7% 4
) 77006 7 / % 6 0$ §$ 724 00k $0
) %06 78 57 /7 % 6 7 $ 8 $0
o0k 07 0 $2 6 &b -"#) 8, % 0
h 7%/ 0 69 b 724
"/ /4§ 0/ Th 85 (0.
-" " 2 "
" "
£
"o " / " o "
36 $ b7 Si667 S 10 4 b 6 2 ) %2 "4 $0$ * 44 015
7 $i6H7 S 867 7§ T2 7 ST B % 0 &50% $2 / 700 6
72 % § 72 7% 7 % $0 $ D82h /% 8% 06
7 %657 % 00 0/ 00}
< " " 5 2 N
3 657§ ( 00
"7 0 %0%0 $2 010 6 by 6 72 0= &2 K
b § 0§ 0 K788 720 6 2 7 [/ % 6 // 4§ 72
T8 / 00f 07 0 $2 6 & -"#)B, & & 0 (.
b7 0 69 b 724 (. 2/ 74§ 0o/ Th $5 (0. 0
$
o7 $iG7 § O=" oS .
- 8% 52 =/7§ $ 6, 7% 6 $2 $2 " N7 =HANOK 6
)4 2 5" 4 H00 209%2 5 b 7 %657 § 0 400
$2 o0 67 /% $2 6 & 7 004 s $2 4
8 i $0
, = &2; 0
- 2 0
); =4 / § 0572 5
+9,= + $26 9 2 0
-,9 47 D)§ %0 2 0
-,9%// 0 by 7814 2 0
-,9 2 10%k i 60 2 0
-,9 "4 S0s+ 1S 2 0
46 "
h $06 05$ 7 Sie7 & 087 /$ $2 /7 /%S $ 72 / 1/ %
7 W 2107 04030 6$2 7 $0 7% / 6 00% 7 %

/
K 08 %0 00/ 76t % $2 ) $2 "™ 4 $0OS* 14 05



)+ 9 1,=x " m= )49

, 18
207 / $ /7 0 0828/ & 662 §§ § 72 T8/

O $ 605 $2 4 / §$ 68207 /% T™mO0s2$ 047 $
610 0/ Of high O / & %S T8 b $ b o$2 % $0
)8 07 04 $ 72 T8 7 W7 08& -7 0 5&I15282 %

40 06 b7 % 82 0 T8 b 7% 7 00$25%
VZAVAR IR IR 7R BN 0- 4 %7 00 10§ % $2i0

$2 04 b 0 682 , 1% 84 07 0

2 $ 57/ &1§2 §2 814 $0 10 10$

2 6 &b 7 00 b 6 07 5§ 72

. 8
7 967 St )$ 0 0847 $ § 7 00 $2  ®70
7 0% 2% 7/ 72 §$§2 4 4 2 $2  $70
8 4 $ 5 & 5 08 $0 &i$2 o007 b $2 6
4 3 $ hy 6 7 $iBi7 8 7 % $0 052 4 hh
/4h$ 4 b b $2 K/ 6 00 7% 7 $i4
0
,=* 3% S ! % 0 6) 7 5, 7% 2 0
,=* &2; 0
- 2 0

); =4 / § 0572 5

,=* A T2 5¢ , 7 8 2 0
,=* "1 % 0637 04 , 7TH (/ &4 05,=* 2 0
,=* B§$ OM™0 0 §$(/ 4 05,=* . 2 0
,=* 7 $ $B$2 0 (/ & 05,=* .2 0
,=* 9 % 2 4OM 00 B §(/ 4 05 ,=* 2 0
,=* A 24 0 /25M9 02% 2% , (D.(/ 4 05,=* 2 0
=" - b Dt 4 §2 § §" 0 5 0
,=* 726) b 2 0
»=F , 2 7 )8 $ 72

_ 2 0
,=F , 2 7 )8 $ 728 H

O -10 4 nmmmmmmmmmm . %>

=%

P"s 0w /25047 78 K0 0% b,
$ s o /25047 78 £ 002 7 0§82

07% 07 0/ & $$2% « & / 600 78 8% $0
B ) 40

Bt 05 40 8% O/ &% 6 0§ T2 4 §2 $ 5072
8Y 0 L9 SO, 7 i 8 %7 0 HT)="(H

%0 81§

2 6 & / $ <072 0 6 L 08287 7% &

/ 6 00 7% 7 00 O & % %7 0O §$ 72



) +

9 1,=x"3

=) +9 ; A

" B 9 o 72 )/ w2
b5 B 07
2 1085 25007, 7§
.02 250470
+0$ 5< 4 $ -y
B2 $70
¥ 0§ 7 /%82 8¢ $0 00/ T 5$2%4 720
{0/ 0$2 / 6 00 78 7 00 0108 4
s  , 0 %0
17 67 & (0 § &5 8% 6 I8 0 s
i 5  77/8 %0 o750 0 07 6 0 s
b $002 7 $78 82 $67 &% 667 & $2 )72 6
, T8 0572 56 46 0/ THi7 8¢ 04 $2 (0.
6 0  $0 28
%, 0 %0
3 M 0 & 8 06 07 547 0 <7 $67 % &2 &02
$ 70 6 $5 3 Mt 0 % $2 8t $0 6
$5 T8 7 0 <7 $67 S & &028 W 0 < 0 4

b b

07 5 0 0% $ 8182 §2 T 67 $ & : §
fE 7 0 605 5828 $0)8§$ 6 00 < )4 82

5" 4 $0$ % % 06 § 728 47 0 <7 S$i6h7 S
, 1020 )7 9 ( 7 0 P
B 5 //%7 024 7 [/ § 620 7 00 ( 04
7 8% 0/ § 6 $ 7 W 2 2 4 $ 6
$ 0741/%0 ¥ 7 $ § 6 57 4% 07 0& 5 /7%
$ & $2 8 4 06 $2 ,)9 0 $ " 7 0 0 4%
$7 H $0&2 24 5 7% $ 724 %7 0 % $2

46 1

,=* D900 OM 0

, = ,9)8 $ to0MB $2 0

& (@)

, 9 Mo, 720

9 B M 9%

& 5

=* H - ¢« B2 0

,=* - MD$§ ¥ $ §" 0

,=* 00 0OM - - =H67 Sk 0

& (@)

BB 3§ 78 78 0

) 3 $40 )8 0(D.

)y ¥) D s 827 5

0 -10 4 B >



)+ 9 1,=x"3 =) +9 ;
Bi07 036 % - %4 S 72 (]
ook 6?20 ( .0 8% b 728 72 7 %
7 $
7 0 6% 7 i $0 b $2 08 $§8 724 /b7 1810
/7% $2% 57 h $ $ 4% 0% $$ 728 & $
§ 4 7 000&182 § // 4 682 Y75 8%
0/ 77 & 777 /5§ $2 $ $ 6%& o4 / 7 §
6$2 7 i 8% 6 $2 7 %607 S / 4% $2 § 2 6
0 05 2 O 7 8 /7% $2 / 6 0O% 7 8
84 $3%/7 0 ™7 05 70 7 0/ 77 0
/ SIS 0§ 6 &K§2%2 )72 6, 7% 0572 5 1$0
// 4 $ 4 6 s v 6 $2 7 0 2 7 0 0$
7 [/ 9 $2 B % %2 -7 0 " 40 § 6647 6
0% $$ 724 40
" g
"$$2 S 6 by 103 ' o8 § $2 72, T% $2
7 $ 0 08 §$7% 0 &4 $ b %2 8t 06 7 [/ % 6 $2
/ $ $ 7/ $ "
6 2 8 98 *$ 9
* AL $ " w 2 ” * ”
" " /7 " " 1 b $0
02 0$ 54 7 § 75&82%2 )72 6, 7% 0572 5% & 6 5
72 0$2$ 5 66 7532
9 * mn - mn
5 ;1 71-2 * o (00 1 '
- - OH 9 $0B 83
B f
50 .
. T#
5 00t 74
"9
4 6 0@ 1 46 $" 1
19 T 064 5 +0) $0 )8 0(D.
+,B "5 +,B7 0 B" + - ) 45 6B $23
= ) 456 20 109§ B+ A ) 45 6B 2%
,=* D9)8 8 tOMBS2 0 +3)<,-) "5 +;)<,-) 7 0
,=* A 72 5% , 7$ $ ( 46 H .
=* A 2t M9 02/ 2%0% , (D. _ - . )
‘% 9§ , 754 (D. = - M $ .7
o MO 0870 o 5 01 T s
D /25 == , 7%  -072M)$ $(D.
> s vw s + y2 .BS$2 0
+3) "7 +I0SM3 08 & 0
9 o SMYSS 4 PB $OH "0 06 )4 52 5" 4 $05
9 D WESN 03 § 727 $67 8 A 06 )5$
+9) D WMIES 08 b 00§ 7270



)+ 9 1,= Ty m= )49 g

+ * o i@ ' 1 + *on $" 1
= A 3§ <1 , , 1% ,=* A H )7 )$ t0BS$2 0
,=* " H & B$ 0 ,=* , 1% 2 5M™00 00
,=* 6 00% ) b ,=* - 1 0637 04 , 7%
= H 9 "B $2 0 ,=* "00 00M - - =H67 $4 0
= H - & B$ 0 ,=* T280) %
=* H B$f2B§$ 0 ,=* , 2 7 ) $ 72 H
=* H )" 7 M+ §2B $2
46 , *om % %B 1
o 9 § BB s b7 § fos =
-,"--,9 2 05-,9 - §*=-,9 -9 2 0
- 87 § f
=== 1 4% 9 ( 50% 242072 S= 7 § £
=" L7 § 4
- 1 =* §+9,=
- 784 0
g - "
)$ 0 $0 % 0§ 728 W7 0 087 / $ $2 % $0 78 £
7 $ 8 0 0& 0) $2 "4 $0$ * 44 018510
8 506 $2 77 $ 0 0$ 7”7 7 ¥ o@r7
"o 6 0 05 2 0&82 o 8 7 $d VAR
4 6 4
"oohy 6 2 06 // WMoY 7 8§ 47 $ 08 //
MOk 2 0% $2 K 6 "
/ % 682 bo(& K0 T7/5 .6 "
&2 7 $d /4§ 4 6 b §2 K7 /7 % 6 $2
, 1% 8t $0 7%4 0§ O %065 2 $§ 7 W
8 $0 6 i
LRl & 1 '
46 1 46 $" 1
,=* A 3§ § ML, , 7 ,=* A 72 54 , 7§
- ,=* - ! $ 0 637 O , 7
,=* - 3§ $ M1 YT, 7 ,=* B $2 0M™00 00 $
,=* &2; 0 ,=* A 26M9  21%0% , 7(D.
,=* - MDS$ ¢ $ 8" 0

210 % 0 $ $ 182 $5 07 57 $i6i7 S $2 6 &2i72
b 7 $ 7T/ % 6/ 6 00k 7% 7 006
7 0 ) 2 -84 $0 6 $i6t7 S ho% /



» M)+

*8,- 1
¢ o+ o0
St -T2 5 = w0 c2 9 = 10 +
52 C 4-69 1) D AT2H 5 5( sos 45
*

2 , ¥02=/7$ §$66 0$& 7% %0 67 000%2 $4 &2 #5100 726
$ §2 150 087 47 / 00h  §2 2 248 / 0/ 784 9

7 00 % 08 %0 4 4 M 0 7 & 7 7 /7% 7 4% 82 § 6
6 784 7 §7 % 78 k4 1 & §$2 074 7 6 S8
7 00 4 /%2 i8$ 07 // TS 2 05 5& 10
)8 0 K ¥ Fo% %, w2 08 $$2 0/ W7 8 % %0 6 %2
, 02=7% $( & $2 , 1%/ / 0 A
, 02 & s b 6 b 0 81 / O 0
7 $$& , 102 § $ 0% 0 Ky oy oy, 102
0% § 262 / Ot 2 /7 M0y $
7 000 &M (D.7 00 2 7 8% & / 7008 0:40
2 000 6%2 , 2=/ $ $10$ / 4 7% 0% 50 &2 047
7 §7 8 i 5 5060 0:4 04 2108 7 §°$ $ / /7 , 102
Kk 06 $ 072 < $2 4 o s
"0 8 $ 6 B 0/ $ 6 /% § 0000 §$/ 700
0 h , %02 ¥ 0$: ,9 A ) /08 &47247 0/ / % 6 $2
$ -7 , b % & 0 00 00 t$ M4 & B O
7 /% &WS 4 % 6$2 / § S/ My %6 % 0 $ 4%/ 4
/ 0
5 1;7 7% 8%6% 1 '
4 6 1 4 6 $" 1
L9 ) 456" §7 918 & 5 17) 5
,9 456, 40298 ,93 A$2 $ 5" 9i$ (D.
L9 “// 720$ 9% § , N )5 L0k B 44 9(D.
,9 “Th$ 00¥70 (D. L9 )$ Ho0h - 00 7 9% (D.
,N ) ¥ -0 72 K78 L9 AS2 $ 5 1§98 (D.
LB A ) & /08 L% & $$2 $ 5D 0(D.
9 ,/ 0% 5D (D. L% - ) Lo0% BYS (D.
- , 9 D 9% 0§ (D.
9 $4 DI (D. ,9% ) 9 &0 (D.
9 B , 102 M 9 ,9 2 :0 (D
9 /% §$ B §$2 1 0 , N - 05 M "$2 $ 59%(D.
9 ,/ 08 5D (D.
9 $4 DI (D.
9 A , 102 787

9 A , 023§ o02v



» W)+

5 1% 8%% 1 B
, 102 KO0 50 0% & 0 &M 7 00 , 1028 /707 0 6
, 102 7%, 102 Kk 0&2 b % & o/ W %0 Bho6
F$ 020/082  2$2 )72 6¢C i0 57 3
4 6 1 4" " 5 1
+B " 3 0 C *- &0 -/ &
+3) +0$ 5 6, -
3% S %9 C*~ < C 0 D :02/
"0 0§/ b4 0§ $4y 07 5 72 7 $I67 % & $ b7 $2
84 / 600 7% 7 00 I8t , 7§ 8 i $0
b 2% / 0 $% 4§ DH2 6, T 0572 50 7%  69$2i0
"5 $/ /% 6 07 5 72 7 $6i7 H 0 0§ : ,9%
2 06 § 05 //56 3 " KOOk § $2 72, 1% (0 55
$2 6§82 0/2 5 .68 7 /8 8 i 0 0§
"=BJ))3 - L,=F=)) b 82 )72 6, 78 0572 50 7% 692
3 i 00r 0 84 6 $2 05 $7 b/ H40;
7% 7 00
20 § 0 07 /3§ /747 % $2 8} $06 " OOk
$ ) $ 724 h § 08 $¢ 728 $2 0% $ 05§ : / 00 $2
- B0 J $2%2 // /%S 0OTH 652 4T 0 69 4
724 $2 / %7 0/ Tt $5% 0%0.6 $2 47 0 (.
" * & 1 )
)$ 07 e b $2 &2 & $ 0 $6 $ 72 , 102 08
$:$26 & 7000
46 1 46 $" 1
,9 ) 45 6™ %7 98 , 9 , / 01 5D 8
,9 45 6, 10209% -
L9 "/ 7208 9 § , 9 $4 D
L9 9% 5B §6 ; "0 , 9 B . M 9§
.9 " 7§ 00870 ,=* $ $B $2
1> LH1 v
4 6 1
L9 ) 45 6" W7 9%
, 9 ) 45 6, 40298
.9 “// 7208 9% §
9 B , M 9%
9 ,/ 08 5D (D.

9 $#4 D (D.
*// =MI0L , T840



» W+

* " _ + gxE*x -

) $0&20  $i4 i $, 102 &2 0 JO(/ /7 /7 TS 08
07 0 $& A &0 L1938 8 0 05 (¢ .07 0

$& A &0 , 02" 07 10 & " & 8h §$§: O/ TH
, 1027 000 6 52 , 02=/7% $§ 2005 $O % kb 6 0r7
D / Ot $$$2524 7 /§ $20 0/ 7 , 027 000
)$  $0&$2 L1907 0 & ¢ .24 8§ 8 00t 0 8¢ $0
2 7 fo4h $8: 7000082 , W02=/8% §

) 2 4§05 <4 085 6 0 , 02 0 )7 9 / &i$2
3% b$ "4 7  40% %05 $0&0 44 0§, 102
2 ,.)9/7 0 Of $ 27 ,,)908 0% / 4 824 , 102 §
0o/ b & 0:40 $ / / 6 $2% 07700 ¥ 7 ¥7
/ 01t $40 4 & ,,)908 00 §2 ' 400K 00 78 692

7 $% 82 ,,)97 0 0 $2 ,19 07 62 / 08
$20
38 i$ 94
J ¢ .(.)9
J AA (3 (,,)9
4 7 94
J @ .(.)9
J AQ (59
/ 00 6 4§ %2 $05 $0 08 by 6 4 $2
7 0& : 72 4 by ,1907 06 &0
38 1% 94
J (.9
J (.9
"4 7 94
J (.9
¢ A9 :
- 8 1 - 31
,.)9 9 ):403 D ,5)9 9 )03y
,.)9 9 )03 D .29 9 )03
,.)9 9 ):603 )9 9 )HOBDS<-
.9 9 ):4 03 )9 9 )O0B DS <~
.9 9 )03 - <=l07 )9 9 HHo®m 19/ (<
,5)9 9 ):h 03 - <=i07
,5)9 9 ):h 03 9 7/ A #
4 Cc
)3 %0 & §$§: 82 i & 5

,,)97 82 06 7 708 . C &:



1 04#
= 0
940 T =k B : 72
1
+i0$ 5%0%82 05 5 6%2 2 /b7 B¥E408% $0 ook O oms S0

THASE 0 3/ Oh 210 % 4 0%F B 208 57 00 §) $2 " 4§08
k4 05 /2 OE $2 2108 4 & 62 5 2100/ 0/ 744 7 HEO0 $29$2
$ & 2 1B & 6 2 4 $2 5/ %0

/ 2 0 682 / 0% $ 2/ 6 $2 68

+ 1 5

/8 § // 4 W0 700 56 / 0 " 08 $ K% % 2108 5 08
210<2 % 08 57/ &i§2 692 2108 56 7 $ "// 4 4082
Of ooy 00 10 $ $2 6 & 7 i 0

/YT &2 $ 8 00 /4 0& 4 $2
LI $ 62 / 6 0O b b 0 6$2 0% $
, b8 67 b7 7 7 % W5

/ % 60 % 5 00 00 $

~N N %

~N N

"'00 00 $ 60 % 07 000 6$& / $0 MO§hH $ 6 O 0§ 6%2%0 % 5

0% $0& $: $2 ,)yBLKk W "7244 $ O08% 2t08 5 )7 $ $2
b % 6826 0 08 0 % 0& §: /75§ / &% 6 $2i0

& 7 0% $ 2 % 7/ $08 57 0 %4 4 . b 0 7

6 &7 0070 62108 47 % § S . 4% & 02108 57 0 & : Y 04

$2 78 08 0/ 4 5§2 2108 567 8 2 0 8 § bt &b b

$2 6 b 2 h§ M&6$2 7 F $ 582 2108 56 7 $5 2i0 &t 0
$2 4 B $ 40 0 $2 0§ 07 %% 6 kK /70

77 $ b 210<2 210§ 57 & 1 2 ho&% 10

0 .
+ 0 00 Py 00 "6 84 06 82 7/ /7 & 5§82 0% $

2 4§ H& 6 $
*// MOk 208 57 0000 :$ % / 4 050 6 &' o/ 72 " 072
7000 8% 5%7 & i 0/ $6%2 7 0 & " & 5 57 000
h4 4 407 00% 70 7/ % 0/ & 006 $2 08 $0 0%
$ 5+) A -0 72BS$2 0% +i0$ 5 &272 8% 0 $ b

/ 0 $8&% 608 $ 0 72

+i0$ 5 kK 0 0§ 10/ 582 i5$ //57 /§ 0 § $2% W0OME b &
& 50 6108 6 7tW5 &2 & /7 00% § 07 6 74454 77 00h % 6 $
4 $2 3§ §



)

;" 9 1
5 1771 A
46 1 4 6 1
+3) " §7  +40$ 5M3 0$i$ 3§ 94 6! % 9
+) D MEE S0 (M9 0 $ //5.
+H) A +0$ & /25
+) A ) b, /% & (@) 5
+) A -0 72B $2% +0$ 5(D. 9 Y 6B 7 7 ¥70
, D /25
6 $2 K 2 0 *=2 0 8k $& 6 " 7 $& 6
"W 7 00X 2 06/ 7 O 7 5 //5% %2
4 6 1 46 1
& 4(C) 5 & 4(C) 5
1 1 &* 1
+3) L 9w "t v (D +) Bi , 0% 18670 M +40$ (D.
+3) ! 58§ (D. +3) 24108 2 723(D.
+) +0$ 5 6§82 ) $2(D. -
+) $#40 )§ 0 (D. +) 210% 2 72%(D.
+) B " 7 (D. +) +H0$ 5 6, (D.
+H) A 06" W $  (D. +3) "7 O$B % D (D
) "o $ 0 M)SS 4 +) " §$0 /%4 0M) 40(D.
9) ! 5 & (D. e -0 6§52 D 0 (D.
2 B "y (D. > /%82 A2 § 50D
) $ / 5, [/ (D
+) "A +H0$ 5 682 + 7 0$(D.
+3) 00570 6D 05 2 2§3(D.
+3) 00570 6D 05 2 283 (D.
)} B!, 0% 18170 M +10$ (D.
9 $ / 5, [/ (D
9) 00570 6D 05 2 2§3(D.
9) 00570 6D 05 2 283 (D.
* " 89%9% 1
3 B s 7 /% $2 4 07y 7/ 6 $2 2103 5 0§
0 .7 /§ it $2 2 0 6 // W0, / 2108 5 .
7 /% 0 7 $ 8% $ (% , /6 b
¢G7 % 0 0 0§ 5 60§ 5 gy
11 EH1L v
4 6 1
+3) D WKYE S O
+3) D WEYE S O
2 % $& 4 2 0& 720 6 Kb 2108 57 0002 0 6
&X72 08 // WO " bk 62 2 0 05 720 6 72 682
oW / 02 2 0677 O 7 5 $: % & §

2 2 06208 5



-

11 - moe 1 D, >

% 1 '

46 1 46 1
+3) "7 +0S 5M3 085 35 94 61 3 9
+) D WES 0 (M9 0 § //5

) A +H0S 4 /25 , D /25

A y b, /& 9 § §B7 7 470
A 20 72B$2 0} +08(D. 9 " $ M)SS 4

652 B2 08& 6 W ‘ .
$& 6 w0 7 00 2 0 cezm B0t 7 2 0%, 7% 0
02 9) 2 002 5 +3) 6 &0

+ * " 46
& 4(C) 5 ,=* " 1§ S MY YT, 7
(W OS5 g &2; 0
+) P 9% " W (D -
+3) ! 55 & (D. )y - =4 / § 0572 5
+1) +H0$ 5 652 ) $2(D. S A 2 51, 78
+) %40 ) oD R V0617 04, 7
+1) B " w7 (O T B$2 OM"00 00 §
) A 06" ¥ 3 (D = 7§ $B $20<+08
9 ! 55 & (D. = 9% 2 M 00 BS
9 B " i (. = A 2M9 2108 , 7(D.

= - MDS$St  § s 0
& 4(0) 5 =* ) 4
(, 7/ +0s 5. = L2 70y 12
+1) Bi , 08 M +0 (D.
+1) 2108 2 723(D. - " 49 9
+3) 208 2 728(D. - ;
+3) +0§ 5 6, (D. ’ _ &2; 0
+) "7 $B ¥ D (D. .. _
- £ 50 /8%40M) 40(D. +2,’= N 4$2€ g.ﬁ: 05725
- -0 §$2 D 05(D. iy Ly 40
o o S8 Az 8D -9 . T
13 A +t10$$ 5 /s$2 % 7/ cg?(b =2 2is
+) 0070 6D0S 2 283 (D. -9 BRI A
+) 0070 6D0S 2 283 (D.

) Bi , 08 M 108 (D.

9 - $ / 5, / (D
9 0070D0s 2 283(D.

9 0070D0S 2 283 (D.

2 0% $ 05 //56 34k " WOr § $2 72 , 1% (0 55
$2 6%2 0 /2 5 . 68 7 [/ % 8 | 0 0§t
"IB) - ,=*-) 4k 2 )2 6, 1§ 0572 507% 6$2

3 UK f00r %0 84 6 $2 0% $7 Yy /7 44%0¢
7% 7 00

2 08 $ 05 07 [/ $ VAT $2 8t $06 " OOk
$§ )8 $ 724 b § 0% $¢ 728 $2 08 $ 085§ : / 00 $2

-"#) B 470 J $2%2 /7 /%§ 0 7% 6 $2 Y 7%/ 0 69 ¥

724 $2 / $7 0/ Th $5$080.6 $2 7 0 ©.



- -

1+ "o ogn Lt H1 '
b0 t§ w7t 50 7% 67 002 /6 6 &072 / / & !
6 $§2 07 /% 65240 / &/ /7 & 7/ 0o 7/
1+ " " "L H1L '
20 % / &4 0 // $ 856 0% $0 $ W/ THT /b T 4 $
& : 0/ § 6 7 W7/ 3% 021/0 h$ $ M s oM /0
$ 0% b 4 $ $/ W 4775&
46 1
9) " $ M) $ 4
9 Ac<A 87 )T 7 87
& (6) 5 A
9 "59 7 00
(2 0 08 =*=
1< " tH1
46 1 46 §" 1
,9 "7 $ 00:70 (D. & (@) 5
+) 0070 DO$ 2 283 (D. .9 D 9% 0 &
- +3) 0070 6D0$ 2 283 (D.
+3) 0070 DO$ 2 2§B(D. +3) 00§70 6D0$ 2 283 (D.
+) A<A =t 7% )§ 5 +;)<-,9 00 0% 250)7EM- t¢& (D.
+B " %0 30 -,9 210% 28 MD 44 &0 (D.
+B 38 0§ 2% 0/25
+B + 0) &
+B + 0) &
1 " 0% $§ K% % 208 5& / 0% $
/ 6 009 072 % 072 0 h7% & 0§/ 0 § 7/
6 7% 7 000 784 082 $& 0 // §$$2 / 6 004 K 784 0
1 9 2 H0$ 5=/ % $ 50/ 0 005 58 0%
6 4% 7 $+0 2/ /0 6%20 % 0%S$ /7 4 0% $0 $2 /7 %1/ $0
&i$2 2 7 05 % 6 2108 5 7% $2 2 7 b b
§ W 7% b &2 478 0 4% 6 2408 %7 o0 0 "7 7
75448 0 7 7% &$2$2 $ 0 8% 08 08 0/ $ 68 8 §
2% /75 ¢ 7 00 0 88 / §$5 % 0 00# b
b7 ho$2007 /5% 0 7 % 66 +) A<A =78
)$ 5% +i0$ 5 05 6$2 § 047 072 6 7 77 8
1 " I 02 07/2 0% $0 i
78 7 Ih 208 5 567 006 $2 4 C %
0 % 0§ $0 $ , 1% 84 $04% 210§ 502 0 77 00
6 $2 4



3, =) 3 - A

8 *49  +-8 4#

2 08 § O £ %0 »$ oMy 57 4% $ 508 $ &2
&102 08 4 / oMy W/ 60§ 5$2 $20 / 4 5 o8k
f 03%Ki0 72 $/ 605 582 87 000 W7/t 5% 0 6§2 K

o7/ 0 08 720 0$2 /% 5 w0y § / & 72 $67 06 §2
K3/ % §2 %% WY 5 Kk $2 08 $0 750 40 57 16

6 $2 67 8 0 $& 6 $2 /% 5 O/ 7 4 $2
/ § K072 724 . 682 07 5 107/% 0 2 ™00 7h$

>h7 oF § 67 7 Y08 8 0040 § 40 57 %6

" 0% $0hs 08 & 4 N b$ 7wy 5 b /75 § §2 k
0% $ &i$2 §2 00 TH$  >H7 oh § 6 "7 W70 b Yos 8 2
84 $0 h$ $ 0 $29$82 v$ w0O7/% 5 K H0h$ 5 § ¢

$2 0 6 b $0 7% // /88§85 6 7882 W7TWh 014 4
, 727 0 6085 5% // 4 5 70 570 040
3§ o7/% 5 £ %0 /%W $ 582 * 44 085 % 0% %0 &2 Y0/ 5
0 %4 % $ 05 5 $% 7 150 / 0 "$2 2
$2 & b 08 $%0 0/ O 6 $2 0O / b 682 / 2 02
056 6 $2 6 &b 8t $0
/ % 6 A 8t o®7 & $2 %S b $ 4
6 6 & 6 " .
2 40 57 8% 05 7/ 4 $2 foor § $2 K "//%7 &% O
0$ $ 2 6 0 0 6%2 K % 5 " // $02
24 b /48 4 6 S & % 2 /
84 0 /4h$ 4 6 $ 08 720 08
B f 0 &t // 4 5 &2 b4 056 7 $5 7 007 [/ 4
/ 62028 5 &7 00& $ 7 § 6 08 $
2 &4 h 78 08 57 0 5 / 4 30/7 700 /7§ & (A
2 0 6% 06 7 U6 $2 % O%i$ % 5 //5% K/ $i7 5
60/ 7% Y 7 00 §$ 4% $) §2
72 6§ (0 052 4 2 0 6 &2472 bk 6
2 0& // $440% "07 K § 6 ) 2 10
/ 0 0§ 47
72 6)7% 7 £ 0 052 4 2 0 6&272 bk 6 "2 0
& // $A440¥
006 $2 K 02 720 6 $ 0$%& $ 2 6
o7/y 0
$2 ) K 0 0§ &7 $2 (.2 0 72/ k78
(77 /102 h7$ 05 5 D} S0 & /4% 6 0 6
2%/ K78 6 $2 4 40 57 183
"3 $ $ $2 0% $ 052 4 b 6 0 06 2 0

/7 Moy 2 0 $2 &M 7 000



I ,=D) 3 -

"§ 08 662 0 08 2 04 §2 K s $: % O 7 6 $2
0% $I0 /747 $ / /70 6 §2 K 24 // 4 5 §$2 40 5
‘ $ h§ HO7/h 5

7 i b 08 $ 4 b 7 004 $2

K
I $§2 0§ %0 &2 Oh $2 % o824 8§ 07Ws&t ¥4 $2 K
N$ WOy 50&82%2 7 7 $ % 0 // 4 582 " 40 5 188
3% 02 $ 28 508 0 7w >v 7 8 60 0§24 $24%
h$ H7TWh 5 K 7 0 605 50 98 // 4 582 00
+H2 , 7% 400% 082 )88 "//7 & ™ 75 6 7 §E7TH 0§ $2

>




































































































































































































































































































































































































































































































































































































































































































































